Y]

-

(3
=
7
:
=
&

-

eUIYD GZOITT ‘Uelfeq ‘auoz Yydai-IH ‘19a4S epuix /G "ON ‘g IuN ‘TOy Wooy :ppy C
9JIAIBS IsWolsn) J0J 680€ SL6E-TTH-98+ 131 Gp wo2'reisan|gp@ojul :jrew-3 g



Bldestar

Company Profile

BLUESTAR has been always dedicating to the making of industrial
products for our customers. We created BLUESTAR as a brand that
has become synonymous with precision, quality and innovation,
backed by our first-rate service and support.

Today, BLUESTAR offers four product categories: machine tool
accessory, measuring tools, cutting tools and metal working
machinery. All these four categories are based on strict quality
control at every level of designing, producing and packaging.

Our commitment is to supplying products to our customers with
best quality, reliable performance and first-level service. Owing to
our distinguishing characteristics, we ensure that BLUESTAR is your
best choice of industrial supplies.

www.dIbluestar.com

MACHINE TOOL ACCESSORY

CONTENTS

B Tooling System Vice & Workholding
P01 Milling chuck series P95 Vice
P14 Collet series P106 Clamping kit
P16 Boring head series P108 Clamping nut
P19 Drill chuck series
P26 Tapping chuck series
P2 Il ey m Workshop Equipment
P36 Adapter & sleeve
P40 CNC tooling P109 Magnetic tools
P64 Pull stud P110 Air tools
P65 Tool trolley & cart P114 Hydraulic tools
P67 Tool lock device P114 Deburring tools
P67 Edge finder P117 Burrs
P121 Files
P122 Sanding belt
MG P123 Hoses
m Milling, Lathe, o
Grinding Machine Accessory P125 Castor
L P126 Hex key
P67 Dividing head & rotary table
P71 Angle plate & slide table
P73 Magnifying lamp & worklight
P74 Center
P79 Lathe chuck
P82 Tool post
P88 Punch former
P89 Adjustable angle block
P89 Wheel dresser
P90 V-blocks
P91 Permanent chuck
P94 Coolant hose kit



iluestar HOLDING SYSTEM

HOLDING SYSTEM @ Machine tool accessory

B Milling chuck series - SKS high speed collet B Milling chuck series - SKS nut

Specifications
[J Hardness:HRC50+/-2

[ 2 accuracy: 0.005mm, 0.010mm ﬁ:? ?

=
o
%
%
(&)
=
3
o
o
=

D741010 SK6-NUT 20 MI15x1.0P

D741011 SK10-NUT 27 M22x1.0P

D741012 SK16-NUT 40 M32x1.5P

D741013 SK20-NUT 48 M40x1.0P

D741014 SK25-NUT 54 M45x1.5P

U Gk Class AA

accuracy

MILLING, LATHE, GRINDING ACCESSORY

O]
D781010 SK6 20 =
=)
D781011 SK10 27 %
L D781012 SK16 40 =
=)
D781013 SK20 48 =
L2 L1 [~}
Model No. _,7| D781014 SK25 54 E
| - >
od

SKS10 15.6 11.8 10 30 213 5 = g | =
8| 8- g - . z
SKSI6 | 246 | 188 | 16 | 45 32 8 [ | Mlllmg chuck series - ER collets =
SKS25 | 356 | 288 | 254 | 57 | 43 | 85 =]
w
Specifications 5
[J Made of special elastic steel under =
. <
excellent heat treament and precise o
Model No. Size Range(mm) Model No. Size Model No. Size Range(mm) | Model No. Model No. Lo o
grinding process. AA <0.005 =

D621010 | SKS6-2.0 | 2-1.75 D621110 | SKS10-2.0 | 2.0~1.75 | D621210 | SKS16-3.0 | 3.0~2.75 | D621310 | SKS20-3.0 | 3.0~2.75 | D621410 | SKS25-6.0 | 6.0~5.5 [ This collet can clamp for a specific A 001 '

<0. !

G <0.015

D621012 | SKS6-2.5 2.5-2.25 D621112 | SKS10-2.5 | 2.5~2.25 D621212 | SKS16-4.0 | 4.0~3.5 D621312 | SKS20-5.0 | 5.0~4.5 D621412 | SKS25-10.0| 10.0~9.5 [ 3 accuracy: 0.005mm, 0.01lmm, 0.015mm

D621013 | SKS6-2.75 | 2.75-2.5 D621113 | SKS10-2.75| 2.75~2.5 D621213 = SKS16-4.5  4.5~4.0 D621313 | SKS20-6.0 | 6.0~5.5 D621413 | SKS25-12.0| 12.0~11.5

I
ER11 ER16 | ER20 | ER25 | ER32
1 26 | 33

R
D621014 | SKS6-3.0 3-2.75 D621114 | SKS10-3.0 | 3.0~2.75 D621214 | SKS16-5.0 | 5.0~4.5 D621314 | SKS20-8.0 | 8.0~7.5 D621414 | SKS25-14.0| 14.0-13.5 D 845 115 17 | 2

41
g _ % e 3 " L v L - Type A
D621015 | SKS6-3.5 3.5-3.0 D621115 | SKS10-3.5 | 3.5~3.0 D621215 | SKS16-5.5 1 5.5~5.0 D621315 | SKS20-10.0) 10.0~9.5 D621415 | SKS25-16.0 16.0~15.5 135 18 | 27 | 31 | 35 | 40 | 46
D621016 | SKS6-4.0 4-3.5 D621116 | SKS10-4.0 | 4.0~3.5 D621216 | SKS16-6.0 | 6.0~5.5 D621316 | SKS20-12.0 12.0~11.5 | D621416 |SKS25-18.0) 18.0-17.5 17 |21 | 26 | 33 | 41
D621017 | SKS6-4.5 4.5-4.0 D621117 | SKS10-4.5 | 4.5~4.0 D621217 | SKS16-6.5  6.5~6.0 D621317 |SKS20-14.0| 14.0-13.5 | D621417 |SKS25-20.0 20.0~19.5 Type B L 2751315/| 34 | 40 | 46
D621018 | SKS6-5.0 5-45 D621118 | SKS10-5.0 | 5.0~4.5 D621218 | SKS16-7.0 | 7.0~6.5 D621318 | SKS20-16.0| 16.0~15.5 | D621418 |SKS25-22.0) 22.0-21.5 D 17 21 | 26 | 33 | 41
¥ ¥ v » ¥ - N L ¥ N Type C
D621019 | SKS6-5.5 5.5-5.0 D621119 | SKS10-5.5 | 5.5~5.0 D621219 | SKS16-7.5  7.5~7.0 D621319 | SKS20-18.0 18-17.5 D621419 | SKS25-24.0| 24.0-23.5 Type B Type C L 27513151 34 | 40 | 46
D621020 | SKS6-6.0 6-5.5 D621120 | SKS10-6.0 |  6.0~5.5 D621220 | SKS16-8.0 | 8.0~7.5 D621320 | SKS20-20.0| 20.0~19.5 | D621420 |SKS25-25.0| 25.0~24.5 Coolant Collet Coolant Collet

D621121 | SKS10-6.5 |  6.5~6.0 D621221 | SKS16-8.5  8.5~8.0

D621122 | SKS10-7.0 | 7.0~6.5 D621222 | SKS16-9.0 | 9.0~8.5

6 ER-20 ER-25 ER-40
Model No. Model No. Model No. Model No. Model No.

Model No.

ER-25
Size | Range

Lo [ e |
Size | Range
Model No. Model Ni Model No. Model No.

D621123 | SKS10-7.5 | 7.5~7.0 D621223 | SKS16-9.5  9.5~9.0

D621124 | SKS10-8.0 | 8.0~7.5 | D621224 |SKS16-10.0| 10.0~9.5 Imm | 1-0.5 | D631010 D631110 D631210 l4mm | 14-13 | D631423 D631523 D631623
D621125 | SKS10-8.5 | 85~8.0 | D621225 SKS16-10.5 10.5~10.0 2mm | 2-1 D631011 D631111 D631211 D631311 D631411 15mm | 15-14 | D631424 D631524 D631624
D621126 | SKS10-9.0 | 9.0~8.5 | D621226 |SKSI16-11.0| 11.0~10.5 3mm | 3-2 D631012 D631112 D631212 D631312 D631412 D631512 16mm | 16-15 | D631425 D631525 D631625
D621127 | SKS10-9.5 | 9.59.0 | D621227 | SKSI6-11.5 11.5~11.0 4mm | 43 D631013 D631113 D631213 D631313 D631413 D631513 D631613 17mm | 17-16 D631526 D631626
D621128 | SKS10-10.0| 10.0~9.5 | D621228 |SKS16-12.0 12.0~11.5 Smm | 5-4 D631014 D631114 D631214 D631314 D631414 D631514 D631614 18mm | 18-17 D631527 D631627
D621229 | SKS16-12.5 12.5~12.0 6mm | 6-5 D631115 D631215 D631315 D631415 D631515 D631615 19mm | 19-18 D631528 D631628
D621230 | SKS16-13.0| 13.0~12.5 Tmm | 7-6 D631116 D631216 D631316 D631416 D631516 D631616 20mm | 20-19 D631529 D631629
D621231 | SKS16-13.5 13.5~13.0 8mm | 87 D631217 D631317 D631417 D631517 D631617 21mm | 21-20 D631630
D621232 | SKS16-14.0| 14.0~13.5 9mm | 9-8 D631218 D631318 D631418 D631518 D631618 22mm | 22-21 D631631
D621233  SKS16-14.5 14.5~14.0 10mm | 10-9 D631219 D631319 D631419 D631519 D631619 23mm | 23-22 D631632
D621234 | SKS16-15.0| 15.0~14.5 Tlmm | 11-10 D631320 D631420 D631520 D631620 24mm | 24-23 D631633
D621235 | SKS16-15.5 15.5~15.0 12mm | 12-11 D631321 D631421 D631521 D631621 25mm | 25-24 D631634
D621236 | SKS16-16.0| 16.0~15.5 13mm | 13-12 D631322 D631422 D631522 D631622 26mm | 2625 D631635

01 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 02

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
D621011 | SKS6-2.25 | 2.25-2.0 D621111 | SKS10-2.25| 2.25~2.0 D621211 | SKS16-3.5  3.5~3.0 D621311 | SKS20-4.0 | 4.0~3.5 D621411 | SKS25-8.0 | 8.0~7.5 | standard size and its next size.
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
]
|
|
I
|
|



Blﬁémsu Sﬁi’ HOLDING SYSTEM

HOLDING SYSTEM @ Machine tool accessory

B Milling chuck series - ER collets B Milling chuck series - ER nut

=
w
>
&
[}
=
]
o
o
=

Model No. Model No. Model No. Model No. Model No. Model No. Model No.

Model No. Model No. Model No.

>
o
1/32 | .031-.016 D641010 D641110 D641210 17/32  531-.492 D641426 D641526 D641626 . Q
Optional Bearing type %
1/16 | .062-.043 D641011 D641111 D641211 D641311 D641411 9/16 = .562-.523 D641427 D641527 D641627 =]
(&)
3/32  .093-.054 D641012 D641112 D641212 D641312 D641412 ‘ D641512 19/32  .593-.554 D641428 D641528 D641628 ;
1/8 .125-.086 D641013 D641113 D641213 D641313 D641413 D641513 D641613 5/8 .625-.586 D641429 D641529 D641629 %
] =
5/32 | .156-.117 D641014 D641114 D641214 D641314 D641414 ‘ D641514 D641614 21/32  .656-.617 D641530 D641630 r T g
3/16 = .187-.148 D641015 D641115 D641215 D641315 D641415 D641515 D641615 11/16  .687-.648 D641531 D641631 . uIi
— Ty T | I
7/32 | .218-.179 D641116 D641216 D641316 D641416 ‘ D641516 D641616 23/32 .718-.679 D641532 D641632 “E? | ‘-?I [a) ‘?I - o | E
o I = = o
1/4 .250-.211 D641117 D641217 D641317 D641417 D641517 D641617 3/4 .750-.711 D641533 D641633 ; e | %
9/32 | .281-.242 D641118 D641218 D641318 D641418 ‘ D641518 D641618 25/32  .781-.742 D641634 LI L L | Q‘
i I . 2
5/16 | .312-.273 D641219 D641319 D641419 D641519 D641619 13/16  .812-773 D641635 L L ‘ L |

11/32  .343-.304 D641220 D641320 D641420 ‘ D641520 D641620 27/32 .843-.804 D641636 —L- . O]
=
3/8 .375-.336 D641221 D641321 D641421 D641521 D641621 718 .875-.836 D641637 é
ra2 | ane-367 D | Dwlz | Dl | Doz s Soeas peisas -_ -_ =
7116 | .437-.398 D641323 D641423 D641523 D641623 15/16 = .937-.898 D641639 D721010 ER11-A 113 M14x0.75 D721210 ER25-UM M32x1.5 g
=
15/32  .468-.429 D641324 D641424 ‘ D641524 D641624 31/32 .969-.930 D641640 D721011 ER16-A 28 25 175 M22x1.5 D721211 ER32-UM 50 385 225 M40x1.5 o3
12 .500-.461 D641325 D641425 D641525 D641625 1 1.000-.961 D641641 D721012 ER20-A 34 285 19 M25x1.5 D721212 ER40-UM 63 483 255 M50x1.5 E
=

D721110 ER8-M 12 10.8 M10x0.75 D721213 ER50-UM 78 59 355 M64x2
D721111 ER11-M 16 12 M13x0.75 D721310 ER25-K 42 29 225 M32x15 E
ER collet sets D721112 ER16-M 22 18 M19x1 D721311 ER32-K 50 38.5 26 M40x1.5 E
o
D721113 ER20-M 28 19 M24x1 D721312 ER40-K 63 483 29 M50x1.5 8
Optional m
D721114 ER25-M 35 20 M30x1 D721313 ER50-K 78 59 40 M64x2 %
=
w
==
oc
o
=

B Milling chuck series - ER spanner

Collet Packs

o L
Aluminum box Plastic box Plastic box Paper box L %
@
[ woceito | e | 8] Gamping ot
o e OIMAS22535A 44 ot | e | ws | w0 | emam | | oo | sees | x| w | s
1/16-3/16(1/16,3/32,1/8,5/32,3/16) 5PCS
‘ 1-7mm(12:3.45,6.7mm) p— D771012 = S/ER16-M 15 110 ER16-M D771212 = S/ER20A 30 175 ER20-A
D651110 ER1L 1+0.5-7mm(1,1.5,2,2.5,3,35,4,4.5,5,5.5,6,6.5,7mm) 13°Cs . Qaoo0
‘ 1/16-1/4(1/16,3/32,1/8,5/32,3/16,7/32,1/4) 7PCS qé 0Q00
1-10mm(1,2,3,4,5,6,7,8,9,10mm) 10PCS L
D651210 ER16 ‘ 3-10mm(3,4,5,6,7,8,9,10mm) s L
1/32-3/8(1/32,1/16,3/32,1/8,3/16,7/32,1/4,5/16,11/32,3/8) 10PCS
‘ 2-13mm(2,3,4,5,6,7,8,9,10,11,12,13mm) 12PCS m# % ER collet packs
D651310 ER20
1/16-1/2 (1/16,3/32,1/8,3/16,7/32,1/4,5/16,11/32,3/8,13/32,7/16,1/2) 12PCS L
‘ 2-16mm(2,3,4,5,6,7,8,910,11,12,13,14,15,16mm) 15PCS D761010  ER11 13
PeSIA0 ERe 1/16-5/8(1/16,3/32,1/8,3/16,7/32,1/4,5/16,11/32,3/8,13/32,7/16,1/2,17/32,9/16,5/8) 15PCS “- n- D761011 = ER16 10
‘ 3-20mm(3,4,5,6,7,8,9,10,11,12,13,14,15,16,17,18,19,20mm) 18PCS D771110 | S/ER25-UM 210 ER25-UM D771310 = S/ER25-K | 38~42 = 168 ER25-K D761012 = ER20 12
pestsio FR2 1/16-25/32(1/16,3/32,1/8,3/16,7/32,1/4,5/16,11/32,3/8,13/32,7/16,1/2,17/32, 9/16,5/8 ,21/32,11/16,3/4,25/32) 18PCS D771111  S/ER32-UM 45 250 ER32-UM D771311  S/ER32-K  45~52 190 ER32-K D761013  ER25 15
‘ 4-26mm (4,5,6,7,8,9,10,11,12,13,14,15,16,17,18,19,20,21,22,23,24,25,26mm) 23PCS D771112 | S/ER40-UM 58 290 ER40-UM D771312 S/ER40-K = 55~63 210 ER40-K D761014 ER32 18
DesIet0 FRe0 1/16-1(1/16,3/32,1/8,3/16,7/32,1/4,5/16,11/32,3/8,13/32,7/16,1/2,17/32,9/16, 5/8, 21/32,11/16,3/4,25/32,13/16,27/32,7/8,15/16,31/32,1) 23PCS D771113  S/ER50-UM 72 350 ERS50-UM D771313 | S/ER50-K ~ 78~85 240 ERS0-K D761015  ER40 23
03 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 04




Blﬁémsu Sﬁi’ HOLDING SYSTEM

HOLDING SYSTEM @ Machine tool accessory

B Milling chuck series - MT-ER collet chuck B Milling chuck series - Straight shank ER collet chuck

=
w
>
&
[}
=
]
o
o
=

Unit:inch E
o
Cre | e SRS SRR S
&S
D511610 S1/2-ER11-3.50 0.433 0.75 S
D511611 | SL/2-ER1IM-6.65 0433 0.63 o
M6X1.0P =
D511612 | S5/8-ER1LM-6.67 0.433 0.63 =
oc
u 13 D511613 S5/8-ER11-3.50 0.433 0.75 @]
Y w
5 A— D511710 S5/8-ER16-3.65 0.63 1.1 =
— <C
of I1 I || y H <|o D511711  S5/8-ER16M-7.10 0.63 0.87 =
S
D511712 | S5/8-ER16M-1.38 0.63 087 MI10XL.5P =
I 12 =
—_ D511713 | S3/4-ER16M-1.38 0.63 0.87 =
Optional L
D511714 | S3/4-ER16M-7.10 0.63 0.87
) v B Unitmm D511715 S3/4-ER16-2.50 0.63 11 g
Y =
| I o R4 - - =
W @ I e e \ R D511716 S3/4-ER16-4.00 0.63 11 3
L “ D511717 S3/4-ER16-6.00 0.63 11 M10X15P =
ERCollet  ERNut  Spanner S
D511010 ~ C16-ER1L1-50 72 19 16 2 015 D511718 S3/4-ER16-3.65 063 11 =
o3
D511011  CI6-ERIL-100 122 19 16 2 02 D511719 S1-ER16M-7.20 0.63 087 o
(&}
D511012  CI6-ERIL-150 = 172 19 16 2 0.25 D511810 S3/4-ER20-2.50 0.787 134 >
No. __n__
VES (ke) D511110  C16-ER16-100 122 28 22 22 018 D511811 $3/4-ER20-4.00 0.787 134
—
D491010 MT2xER20A-52 M10x1.5P M101.5P-3/8" 045 D511210 ~ C20-ER16-50 82 28 2 32 018 D511812 S3/4-ER20-6.00 0.787 1.34 M12X1.75P &
4 Y =
D491011 MT2xER25-55 119 64 a2 M10x1.5P M10x1.5P-3/8" W16 05 oatott | coomrtetoo | 132 - » » 025 511613 SLER20375 0787 Lo £
D491110 MT3xER25-55 136 81 42 M12x1.75P M12x1.75P-1/2" W12 06 D511212  C20-ER16-150 | 182 28 2 32 035 D511814 S1-ER20M-7.20 0.787 11 ]
" o
(DXL TVEHERER G il o &0 WHR=ELER WMRZA PR Wi s D511213  C20-ER16-200 = 232 28 2 32 0.4 D511910 S1-ER25-6.10 0.984 165 =
- . " w
D491112 MT3<ER40-70 151 81 63 M12x1.75P M12x1.75P-1/2" W12 13 511310 | Co5.ER16400 | 122 8 » ” 035 b511011 SIL4.ER25.6.10 0.984 165 g
- . - o
D491210 - EREDED iz 28 < WA W20 G s D511311  C25-ER16-150 172 28 2 2 04 D511912  SLUA-ER25M-7.25 0.984 1.38 M16x0p =
D4g1211 MT4xER40-70 1725 1025 63 M16x2.0P M16x2.0-5/8" W11 L5 D511312  C25-ER16-200 = 232 28 2 32 045 D511913 S3/4-ER25-2.00 0.984 165
D511411  C20-ER20-120 153 34 28 33 0.28 D511915 S1-ER25-2.01 0.984 165
| MI"Ing chuck series - R8-ER collet chuck D511412  C20-ER20-150 183 34 28 33 035 D512010 S1-ER32-6.20 1.26 197
D511413  C20-ER20-200 = 235 34 28 35 04 D512011  SIU/4-ER32-6.20 1.26 1.97 M16X2P
D511510 ~ C25-ER20-100 133 34 35 33 0.35 D512012 S11/2-ER326.20 1.26 1.97
D511511 = C25-ER20-150 183 34 35 3 04 D512013 S1-ER32-2.03 1.26 1.97
D511512  C25-ER20200 235 34 28 35 0.45 D512110 S1-ERA0-2.56 1574 2.48 M20X2.5P

B Milling chuck series - NT-ER collet chuck

T S 2
. @ t2
- DIN 2080 Order No. Type N.W.(kg)
< I I T
—
_— I~ I - D421013  NT30xER32-60 | 128.4 8 Mi2xi7or M16x2.0P | 0.80
ptiona o D421014 NT30xER40-75 1434 50 75 8 63 YZ"WI2 \iioxisp 090
Optional al ] ©
- D421110 NT40xER16A-45 1384 63 45 10 28 M10x15P = 0.95
e \Ilf
W i®| | ) o D421111 NT40xER20A-45 1384 63 45 10 34 M12x1.75P  1.20
i L| = W @3 | | 11 D421112 NT40xER25-55 1484 63 55 10 42 M16x2.0P M16x2.0P  1.25
‘. or
ER Collet  ERNut  Spanner T D421113 NT4OER32-60 1534 63 60 10 50 5/8"XWIl M16x20P 130
ER Collet  ERNut  Spanner
D421114 NT40xER40-70 1634 63 70 10 63 M16x2.0P = 1.35
D501010 R8XER16A-38 M10x1.5P 0.65 D421010 NT30xER16A-43| 1114 50 43 M12x07 M10x15P | 0.50 D421210 NTS0xER32-75 2018 975 75 | 12 50 M16x2.0P = 3.20
x M24x3.0P
D501011 R8XER32-65 162 60 50 M16x2.0P 7/16"xNF20 0.90 D421011 NT30xER20A-45 1134 50 ‘ 45 ‘ 8 ‘ 34 1/2,3((” " M12><1.75P‘ 0.60 D421211 NT50xER40-80 2068 975 80 12 63 L %24 M16x2.0P  3.40
"X
D501012 R8XER40-70 167 65 63 M16x2.0P 1.15 D421012  NT30xER25-55 1234 50 = 55 8 42 M16x2.0P | 0.65 D421212 NT50xER50-80 | 206.8 975 80 12 78 M24x2.0P = 3.70
05 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
| D511410 C20-ER20-60 93 34 28 33 0.2 D511914 S3/4-ER25-4.00 0.984 1.65
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
!
|
|
I
|
|



HOLDING SYSTEM HOLDING SYSTEM

mluestar @ Machine tool accessory

B Milling chuck series - NMTB-ER collet chuck B Milling chuck series - ER collet chuck set

TOOLING SYSTEM

Optional

fl © |

ER Collet ER Nut Spanner

D991010 = MT2xERI11x7pcs

Draw Bar Thread:

MILLING, LATHE, GRINDING ACCESSORY

\
\
\
\
|
\
\
\
\
\
\
\
\
\
\
|
\
\
\
NMTB30 1/2-13 L \
é NMTB40 5/87-11 L ® | D991011  MT3xER11x7pes 1-7mm Ol B2, B3, D4 D5, D6. D7
: D991012  MT4xER11x7pcs
Balancing in  Balancing in | D991013 = MT2xER11x13pcs
2 planes 1 planes ®l. OL5. 02 02.5. 3+ B3.5. D4
‘ D991014 MT3xER11x13pcs | 140.5-7mm D5 D3 D55 b6 DS DT
D271010 ~ NMTB30-ER16-2.00 = 4.687 200 110 | 0.3 M10x1.5P D271125 = NMTB40-ER25-250 | 6.187 250 | 165 098 M16x2P : D991110 | MT2xER16x10pcs S ; . g
Dl. 2. @3, D4 D5\ D62 DT+ DS
D271011 ~ NMTB30-ER32250  5.187 = 250 197 126 MI16x2P D271126  NMTB40-ER25-2.62 = 6307  2.62 165 098 MI16x2P [ D g 1-10mm ©9. ©10 =
oc
D271012  NMTB30-ER40-3.50  6.187 =~ 350 = 248 1574 | M20x2.5P D271127 = NMTB40-ER25-4.00  7.687 400 & 165 098 M16x2P : D991112 | MT4xER16x10pcs S
D271110 ~ NMTB40-ER11-250  6.187 250 043 075 M6x1.0P D271128 = NMTB40-ER32-1.06 = 4747 106 = 197 126 M16x2P \ D991113 | MT2XER16x8pcs =
- (&}
D271111  NMTB40-ER11-2.75 6437 275 043 075 M6x1.0P D271129 = NMTB40-ER32-169 5377 | 169 197 126 MI6x2P ‘ D991114 | MT3xER16x8pes | 3-10mm | @3. @4s 3> 06: @7, O8: 09> @10 =
\
D271112  NMTB40-ERII-3.00 6687 300 043 075 M6x1.0P D271130  NMTB40-ER32-250  6.187 | 250 197 126 M16x2P | DS | WHPEPABIRI e
i =
D271113  NMTB40-ER11-4.00  7.687 400 = 043 075 M6x1.0P D271131 | NMTB40-ER322.70 6387 = 270 | 197 = 126 M16x2P \ Clamping range D991210  MT2xER20x12pcs =
|
\ ¥ . % D981010 | NT30xER11x7pcs D991211  MT3xER20x12pcs 2-13mm D2, D3+ D4 D5, D6 D7+ D8 DI =
D271114  NMTB40-ER16-225 5937 225  0.63 11 M10x1.5P D271132  NMTB40-ER32-276 6447 276 = 197 126 M16x2P | L Ol B2 B3, Dl BS. D6, D7 RO AN &
D271115 NMTB40-ER16-250 6187 = 250 = 0.63 1.1 M10%1.5P D271133 | NMTB40-ER32-3.00 | 6.687 = 3.00 | 197 126 M16x2P I D981011  NT40<ER11x7pcs D991212  MT4xER20x12pcs =]
\ a
D271116  NMTB40-ER162.62 6307 262  0.63 1.1 M10x1.5P D271134  NMTB40-ER32-3.12 6807  3.02 197 126 M16x2P | D981012 | NT30~ER11x13pcs 055 Dl OL5. D2, B2.5. 3. D35 D991213 | MT2XER20>10pes q 3 B G5 G 2
.5-7Tmm D4, D5, D6~ D7+ D8 ®9. @10
D4y D45, D5\ D550 D6. D65y DT "
D271117  NMTB40-ER16-2.88 6567 2.88 063 1.1 M10%1.5P D271135  NMTB40-ER32-3.13 6817 | 313 197 126 MI6x2P \ D981013  NT40xER11x13pes D991214 | MT3xER20x10pes | -I3mm o11. ©l2. ®13 g
D271118  NMTB40-ER163.12 6807  3.12 063 1.1 M10x1.5P D271136 ~ NMTB40-ER32-4.00  7.687 400 = 197 126 M16x2P : DI8I110  NT30xER16x10pcs o Ol. ©2. O3+ D4 D5. D6s DT D991215  MT4xER20x10pes =
-10mm
8. 9. D10
D271119  NMTB40-ER16-3.50 7187 350 | 0.63 1.1 M10x1.5P D271137 | NMTB40-ER40-2.50 6.187 | 250 @ 248 157 M20x2.5P | D981111  NT40<ER16x10pcs D991310 - MT2xER25x15pes ®2. O3 D4y D5 D6 DT+ DS-
\ 3 4 . | DI981112 | NT30xER16x8pcs D991311 MT3xER25%15pcs 2-16mm D9, D10~ DI+ P12+ D13 P14
D271120  NMTB40-ER16-4.00  7.687 400  0.63 1.1 M10x1.5P D271138  NMTB40-ER40-3.00 6687  3.00 248 157 M20x2.5P ‘ - 03, Bd. B5. D6, BT, DS, B9 D10 s
D271121 = NMTB40-ER20-250  6.187 = 2.50 134 = 0787 = MI2x1.75P D271139 | NMTB40-ER40-3.13 | 6817 = 3.13 | 248 1.57 M20%2.5P | DOY81113  NT40xER16x8pcs D991312 | MT4xER25x15pes
D271122  NMTB40-ER20-2.55 6237 255 | 134 0787  MI2x1.75P D271140 =~ NMTB40-ER40-3.15  6.837 = 3.15 248 157 M20x2.5P ! D981210  NT30xER20x12pcs s ©2. ©3. D4. D5, D6. DT+ DS D991313 | MT2xER25x13pcs ' . . 0. 010
! -iomm ®9. ®10+ dI1 D12, D13 . " @4, 5. 06 @7, 0. 9. @10-
D271123  NMTB40-ER203.12 6807 302 134 0787 | MI2x175P D271141 | NMTB40-ER40-4.00  7.687 = 400 248 157  M20x2.5P | DY8I211 | NT40ER20x12pes D991314 | MT3~ER2513pcs |RESISEEE Ol1. B12. D13, Ol4. IS, D16
D271124 ~ NMTB40-ER20-4.00  7.687 400 134 = 0787  MI2x1.75P D271142  NMTB40-ER40-4.12  7.807 = 412 248 157 M20%2.5P \ D981212 | NT30xER20x10pes s D4 OS5+ 6. DT+ DS\ B9, D10 D991315 | MT4xER25x13pcs
-1mm
‘ D981213  NT40XER20x10pcs @illle @Iy @i D991316 | MT2xER25x5pes
\
\ D981310 | NT30xER25%15pcs D2 B3 Bhv B5. B6. BT. BS. DY D991317 MT3xER25x5pes  6-16mm ®6 DS+ D10+ D122 D16
2-16mm
\ ®10+ 11+ D122 OI3. dl4. 5. D16
illi H D981311 | NT40xER25x15pcs D991318 = MT4xER25%5pcs
B Milling chuck series - ER collet chuck set ‘ :
‘ D981312  NT30xER25x13pes Dd. B5. B6. BTe BS. BIv B0 D991319  MT2xER25%7pcs
4-16
! D981313  NT40xER25x13pes i 211 @12. @13. P14 15. 016 D991320  MT3xER25x7pcs | 4-16mm 4 D6+ DS+ D10+ D12 D16
\
| DI81314  NT30xER25x5pes D991321  MT4xER25x7pes
6-16mm 6. DS+ D10+ DI2. BI6
\ D991410  MT2xER32x18
\ DS | WILPIEIE e BRo2x18pes 3. D4y D5\ D6 DT+ DS\ DO
D981316 NT30xER25x6pes D991411  MT3xER32x18pcs  3-20mm D10« OI1. O12. D13+ Bldw OIS,
‘ A D4y D6. DS+ D10 D12+ D16 ®16+ ®17. DI+ D19+ D20
\ D981317 | NT40XER25x6pcs D991412 | MT4xER32x18pcs
: D981410  NT30xER32x18pcs ©3+ B4 D5, D6+ DT+ DS B9+ D10 D991413  MT2xER32x11pcs
320mm @11 ®12. BI3. D14 BIS. Bl6w D17 4 D5\ D6+ DS+ D10+ D12+ D13
\ D981411  NT40xER32x18pcs 18 D19+ D20 D991414 | MT3xER32x1lpes ~ 4-20mm D15, L6, DI B20
: DI81412 | NT30xER32x11pes D4 O5. 06, DS, DI0. DI2. D13 D991415  MT4xER32x11pcs
4-20mm
| D981413  NT40xER32x11pcs Wi OG> GI> G2 D991416 | MT2xER32x6pcs
‘ D981414  NT30xER32x6pes D991417 = MT3xER32x6pes  6-20mm 6 DS\ D10+ D12, D16+ D20
\ 6-20mm 6+ DS\ D10 D122 BI6v D20
| D981415  NT40xER32x6pcs D991418 | MT4xER32x6pes
‘ D4y D5\ D6. DT+ D8+ DI. D10~ D4 D5\ D6+ DT+ D8 B9+ D10~
\ D1l B12. ®I3. D4 BI5. D16+ D1l B12. OI3. Dld BI5. BI6+
\ D981510 | NT40xER40x23pcs | 4-26mm ®17. D18 BI9. ©20. B21. B2 RIS | ROP-ERD g5 | A2 ®17. BI8 D19 D20+ D21, B2,
\ D23+ B24. D25, D26 ©23. D24, D25 D26
‘ 4. D5\ D6. D8 BI0. DI2. D13+ ®4. 05, 6. DS, BI0. D12, D13
‘ D981511 NT40xER40x15pcs  4-26mm D15+ O16+ I8 B0« B21. D22+ D98ISII  MT4xER40x1Spes  4-26mm 15, O16+ D18 B0+ D21+ D22+
\ 25+ ©26 ®25. 26
: D981512  NT40xER40x7pcs | 6-25mm 6+ DS\ D10+ D12+ D16+ D20+ D25 D991512  MT4xER40x7pes  6-25mm 6 BSs D10v D120 D16y D20+ D25
\
\
\
\
|
07 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com



HOLDING SYSTEM HOLDING SYSTEM

mluestar @ Machine tool accessory

B Milling chuck series - EOC collet / OZ collet B Milling chuck series - EOC(OZ) collet chuck set

TOOLING SYSTEM

1:10 =

°0¢

|
D
@dl
DI

>

o

o

w

w

(NN

(&)

(&}

<C

S

=

1 Inspection of accuracy %

L3 L2 %

L ui

ﬂ =

] S5

I s

=

-

=

- L4 =

Type A Type B 2

Coolant Collet =

-

2

14 7] i~

“ “ Collets size EOC/0Z-25 Collets EOC/O . =

Order No. Pieces N.W.(kg) Order No. Pieces N.W.(kg) o

el e Lo Lo Lo L le Lo | ITTRNE o150 40 =

D1021010 D1021410 7 39 L

D681010  EOC6A(B) 10 11. 1.6~3.0 10 001 0015 18.0~24.0 50 0.015 0.02 NT30 MT4 g

D681011 EOCSA(B)‘ 1265 145 18 26 4 08 | 45 3.0-7.0 16 240-30.0 60 DO Inch 15 52 I Inch 19 o

D681012  EOCI0A(B) | 1515 | 172 1-10 30 45 0.8 45 7.0~10.0 25 30.0~50.0 80 0.02 D1021110 1/8"-1"15PCS 7 4 D1021510 1/8"-1"15PCS 7 4.7 —

LR 1/4"-1"7PCS L 1/4"-1"7PCS Z

D681013 EOClZA(B)‘ 1775 198 | 112 | 34 5 11 45 D2 19 33 DI 19 62 %

D681014 |EOCI6A(B) 22.65 = 255 | 2-16 40 55 12 55 D1021210 NT50 Metric 7 6.5 D1021610 RS Metric 7 37 g

D681015 EOC20AB) 274 = 298 = 220 45 6 135 6 Order N DI S5 13pes I B3 DI Smim2omm [ 3pes 15 52 "

(B) ¢ 8 = : ({ClSFINGY, 6mm-25mm 7pcs 6mm-25mm 7pcs %

D1021310 7 3.7 D1021710 BT40 7 55

D681016  EOC25A(B) | 32.9 3505 | 2-25 52 6 1.4 6 D681016 | EOC2S 3,4,5,6,7,8,9,10,11,12,  1/8",3/16",1/4",5/16",3/8",7/16",1/2",9/16" MT3 é

13,14,15,16,18,20,25 5/8" 11/16",3/4",13/16",7/8",15/16",1" DI1021311 15 52 D1021711 BT50 15 6.5 =

D681017 EOC32A(B)‘ 413 | 437 | 432 60 6 145 7.00 S
D681018  EOC40A(B) 497 = 522 640 68 6 145 | 8.00 /4" 5/16"3/8".7/16".1/2"-9/16" 5/8"
D68I017 | EOC32 | 4,6,8,10,12,16202532 10V ,’5/16’,3/8’,7”6’1,/2’,9“6’,5/8’,
D681019 EOCSOA(B)‘ 611 638 850 80 7 155 9.00 11/16"3/4",13/16",7/8",15/16",1",11/8",11/4"

B Milling chuck series - C straight collet

Specifications
[J Run out accuracy: 0.015mm

B Milling chuck series - EOC nut & spanner

Ll
a_|_|_||*: EOC nut D691110  Cl6 | 16 4,5,6,8,10 25
= D691210 €20 ‘ 20 6,8,10,12,16 52.5
Al = Order No. “--- a - D691310 | C25 25 4,5,6,8,10,12,16 55
_:[ D751010 | EOCI6 202 M33x1.5 D691410 €32 ‘ 32 6,8,10,12,16,20,25 65
D751011 | EOC20 50 28 ‘ M42x2.0 A, D691411 | €32 32 3,4,5,14,18,24,1/8",1/4",5/16",3/8",1/2",5/8",3/4", 1" 65
D751012 | EOC25 60 297 30 10.5 M48x2 L D691510  C42 ‘ 42 6,8,10,12,16,20,25,32 80
'_FE_‘ D751013  EOC32 72 385 335 10.5 ‘ M60x2.5 D69ISIT | C42 42 1/4",5/16" 3/8",1/2",5/8" 3/4" 1" 80
EOC Spanner Straight collet spanner
D751014 S/EOC16-K 28~32 140 EOC16 D751014 S/EOCI16-K 28~32 Clé
% D751015 S/EOC20-K 34~36 154 EOC20 D751015 S/EOC20-K 34~36 154 20
D751016 S/EOC25-K 38~42 168 EOC25 % D751016 S/EOC25-K 38~42 168 25
E D751017 S/EOC32-K 45~52 190 EOC32 L D751017 S/EOC32-K 45~52 190 32
D751018 S/EOC40-K 55~63 210 EOC40 D751018 S/EOC40-K 55~63 210 c42
ﬂ www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 10




INDUSTRIAL SUPPLY

uestar

HOLDING SYSTEM

HOLDING SYSTEM

@ Machine tool accessory

\
\
| =
w
‘ &
B Milling chuck series - NT needle roller milling chuck | B Milling chuck series - TG collets &
| o
\ =S
o
\ S
‘ [=
Type L u | 2| o d1 d2 T ‘
D481010 | NT30xMLC20-75 1434 75 | =
70 50 20 55 MI2X17 | . [
D481011 = NT30xMLC20-90 1584 90 ‘ — 1 2
(NN
D481110 | NT40xMLC20-80 1734 80 ‘ Type L — S
D481111  NT40xMLC20-100 1934 100 70 20 | 55 ‘ “ = = ° -
\ - - =
D481112 | NT40xMLC20-135 2284 135 o M16x20 | 1675 7 46.9 120 1/16~25/32 =]
! ~ N s | ) ) =
D481113 | NT40xMLC32-90 1834 90 \ LSS e Gl LR LA~ | . | =
Heavy cutting, | ~ ~1- -
Large clamping force D481114  NT40xMLC32-105 | 1984 105 75 273 | TG150 50.8 762 2~40 3/32~1-9/16 l¢ ui
=
r D481115 = NT40xMLC32-135 2284 135 \ <
| .
( DABII0 | NTSDXMLC20-105 | 2318 | 103 | z
2 ; =
D481212 | NTSOMLC32-110 | 2368 | 110 : 1/16 D661010 13/64 D661019 11/32 D661028 31/64 D661037 5/8 D661046
DIN 2080 Das1213 | NTsoxMLc32-135 | 2618 | 135 | 75 | 5/64" D661011 732" D661020 23/64" D661029 12" ‘ D661038 41/64" D661047 -
. T ’ 2B " " " " " =
Optional D, D481214 | NTSOXMLC32165 | 2018 | 165 100 M24X3.0 : 3/32 D661012 15/64 D661021 3/8 D661030 33/64 D661039 21/32 D661048 g
Dr'—'— —_ " " " " ‘ "
' T = <} D4s1215 | NTsoxMLc3z200 | 3268 | 200 | 90 ‘ 7/64 D661013 1/4 D661022 25/64 D661031 17/32 D661040 43/64 D661049 2
" " " " " o
D DASI216 | NTSOMLCA2-110 | 2368 110 | 125 ) 95 ‘ 18 D661014 17/64 D661023 13/32 D661032 35/64 D661041 11/16 D661050 S
DASIZIT | NTSOMLCE130 2568 130 . N ‘ 9/64 D661015 9/32 D661024 27/64 D661033 9/16 ‘ D661042 45/64 D661051 =
MLC Collet  Spanner D481218 | NTSOXMLC42-165 | 2918 | 165 ‘ 5/32" D661016 19/64" D661025 /16" D661034 37/64" D661043 23/64" D661052 =
! 11/64" D661017 5/16" D661026 29/64" D661035 19/32" ‘ D661044 47/64" D661053
\
‘ 3/16" D661018 21/64" D661027 1532" D661036 39/64" D661045 3/4" D661054 =
w
apge . - | =
B Milling chuck series - Morse taper shank milling chuck | &
\ S
w
| I I N N TN T T N R 2
\ =
—— | 116" D661110 17/64" D661123 15/32" D661136 43/64" D661149 78" D661162 Z]
B
MT3C2570 MT3-C25-70 25 ss 70 : 5/64" D661111 9/32" D661124 31/64" D661137 11/16" ‘ D661150 57/64" D661163 S
MT4C2570 MT4-C25-70 ‘ 25 58 70 | 3/32" D661112 19/64" D661125 12" D661138 45/64" D661151 29/32" D661164
MT4C3280 MT4-C32-80 0 68 30 \ 7/64" D661113 5/16" D661126 33/64" D661139 23/64" ‘ D661152 59/64" D661165
\
MT5C3280 MT5-C32-80 ‘ 1 8 30 | 18" D661114 21/64" D661127 1732" D661140 47/64" D661153 15/16" D661166
MT5C4290 MT5-C42-90 » 84 % \ 9/64" D661115 11/32" D661128 35/64" D661141 3/4" ‘ D661154 61/64" D661167
: 532" D661116 23/64" D661129 9/16" D661142 49/64" D661155 31/32" D661168
‘ 11/64" D661117 3/8" D661130 37/64" D661143 25/32" ‘ D661156 63/64" D661169
! 3/16" D661118 25/64" D661131 19/32" D661144 51/64" D661157 1 D661170
\
| 13/64" D661119 13/32" D661132 39/64" D661145 13/16" ‘ D661158
! 7/32" D661120 27/64" D661133 5/8" D661146 53/64" D661159
\
| 15/64" D661121 /16" D661134 41/64" D661147 27/32" ‘ D661160
\ 1/4" D661122 29/64" D661135 21/32" D661148 55/64" D661161
\
|
D1011210 NT30xSC32x7 \
6. M8 D10 D12 \ . : . . .
DI011212 NT50xSC32x7 \ 12" D661210 45/64" D661223 29/32" D661236 1-7/64" D661249 1-5/16" D661262
D1011310 NT30xSC42x8 ‘ 33/64" D661211 23/64" D661224 59/64" D661237 1-1/8" ‘ D661250 1-21/64" D661263
DI011311 NT40xSC42x8 6-32mm L Gep Al (Llen ‘ " " " " "
O16. B20. D25, B32 \ 17/32 D661212 47/64 D661225 15/16 D661238 1-9/64 D661251 1-11/32 D661264
DI011312 NT50xSC42x8 : 35/64" D661213 3/4" D661226 61/64" D661239 1-5/32" ‘ D661252 1-23/64" D661265
D1012110 MT30xSC25%7 ‘ 9/16" D661214 49/64" D661227 31/32" D661240 1- 11/64" D661253 1-3/8" D661266
4 D6+ D8+ D10
DI1012111 MT40xSC25%7 4-20mm ©12+ ®16- 20 ! 37/64" D661215 25/32" D661228 63/64" D661241 1-3/16" ‘ D661254 1-25/64" D661267
. @16, |
Model No. Clamping range Collet DI012112 MT50xSC25%7 | 19/32" D661216 51/64" D661229 1 D661242 1- 13/64" D661255 1-13/32" D661268
D1011010 NT30xSC20x5 D1012210 MT30xSC32x7 ! 39/64" D661217 13/16" D661230 1-1/64" D661243 1-7/32" ‘ D661256 1-27/64" D661269
6+ B8 D10+ D12 \
D1011011 NT40xSC20%5 6-16mm ©6. DS D10+ D12, D16 D1012211 MT40xSC32%7 6-25mm R — | 5/8" D661218 53/64" D661231 1-1/32" D661244 1-15/64" D661257 1-7/16" D661270
D1011012 NT50xSC20%5 D1012212 MT50%SC3257 \ 41/64" D661219 27/32" D661232 1-3/64" D661245 1- 1/4" ‘ D661258 1-29/64" D661271
\
DI011110 NT30xSC25%7 D1012310 MT30xSC42x8 | 21/32" D661220 55/64" D661233 1-1/16" D661246 1-17/64" D661259 1-1532" D661272
DIOII11 NT40xSC25%7 6-16mm A (il LS LA D1012311 MT40xSC42x8 6-32mm ©6, @8 ®l0, o2 " " " " "
T g D16+ D20« D25 D32 \ 43/64 D661221 718 D661234 1-5/64 D661247 1-9/32 ‘ D661260 1-31/64 D661273
DI011112 NT50%SC25%7 DI1012312 MT50xSC4258 : 11/16" D661222 57/64" D661235 1-3/32" D661248 1-19/64" D661261 112" D661274
\
\
\
\
L
11 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 12




mluestar

HOLDING SYSTEM

HOLDING SYSTEM

@ Machine tool accessory

[
|
‘ &
- . ! - . @
B Milling chuck series - TG collets | B Milling chuck series - DA collets &
‘ =]
[ =S
| o
TG collet sets TG nut ‘ =
=
- | [ [ o [ s [ oo | s | oo | s | oo | e | owene | :
D671410 1/8"-3/4" by 64ths \ S
3/64" D671210 1/8" D671215 13/64" D671220 9/32" D671225 23/64" D671230 2
D671411 TG75 SETS 22 1/8"-3/4" by 32ths al = ! i
i \ /16" D671211 ‘ 9/64" D671216 732" D671221 19/64" D671226 3/8" ‘ D671231 S
D671412 11 1/8"-3/4" by 16ths N | <
” 5/64" D671212 5/32" D671217 15/64" D671222 5/16" D671227 >}
D671510 59 3/32"-1" by 64ths — ! =
| 3/32" D671213 ‘ 11/64" D671218 1/4" D671223 21/64" D671228 ‘ =)
D671511 41 3/8"-1" by 64ths ‘ =
L 7/64" D671214 3/16" D671219 17/64" D671224 11/32" D671229 &5
D671512 TG100 SETS 30 3/32"-1" by 32ths \ i
| /s
D671513 21 3/8"-1" by 32ths | =
—
ize(i No. ize(i No. ize(i der No. ize(i der No. ‘_ der No. =
D671610 65 1/2"-1 1/2" by 64ths D731010 TG-75 197 0.98 TWI-1/2"-12 0.32 : e SR ) SR e SRR e SRR . SR =
3/64" D671310 3/32" D671313 9/64" D671316 3/16" D671319 15/64" D671322 =
D671611 TG150 SETS 33 1/2"-1 1/2" by 32ths D731011 TG-100 236 1.18 TW1-7/8"-12 0.41 ‘ =
1/16" D671311 ‘ /64" D671314 5/32" D67131 13/64" D671320 1/4" ‘ D671323
D671612 17 1/2"-1 1/2" by 16ths D731012 TG-150 3.23 138 TWI-5/8"-12 0.41 ! 7 7 4 4
! 5/64" D671312 18" D671315 11/64" D671318 732" D671321 =
| =
9
| =}
‘ DA Collet Sets =
- . =
B Milling chuck series - DA collets ‘ g
|
‘ D671710 1/8"-9/16" by 16ths D671810 9 1/4"-3/4" by 16ths D671910 1/8"-3/8" by 32ths s
DA200 =
I D671711 15 1/8"-9/16" by 32ths D671811 17 1/4"-3/4" by 32ths D671911 17 1/8"-3/8" by 64ths
I DA100 DA180 SETS
| D67I7I2 | o 21 1/4"-9/16" by 64ths D6TI8I2 | g 21 1/8"-3/4" by 32ths D671912 21 1/16"-3/8" by 64ths =
w
7 o \ I D671713 29 1/8"-9/16 by 64ths D671813 33 1/4"-3/4 by 64ths D672010  DA300 7 1/16"-1/4" by 32ths =
I o
| D671714 33 1/16"-9/16 by 64ths D671814 41 1/8"-3/4 by 64ths pe72011  SETS 14 3/64"-1/4" by 64ths 3
—_— w
a — = | a DA100 19.5 16.5 36.5 2~12.5 1/16~1/2 | %
I
DAI180 26.045 22.08 417 2~18 1/16~45/64 | é
DA200 136 11.43 304 1~8 3/64~5/16 [ M Collet series - R8 collets §
L DA300 9.5 7.62 254 1~6 132~15/64 :
I
|
[
| al g
| 2 e
IR 7 N S S ™ T R | s
D671010 5/32" D671017 17/64" D671024 3/8" D671031 31/64" D671038 : == j- = ¥ 170
1/16" D671011 11/64" D671018 9/32" D671025 25/64" D671032 ‘ 12" D671039 \ [ i e L
5/64" D671012 3/16" D671019 19/64" D671026 13/32" D671033 33/64" D671040 : l
101.6
3/32" D671013 13/64" D671020 5/16" D671027 27/64" D671034 ‘ 17/32" D671041 |
7/64" D671014 732" D671021 21/64" D671028 716" D671035 35/64" D671042 !
I
1/8" D671015 15/64" D671022 11/32" D671029 29/64" D671036 ‘ 9/16" D671043 ‘
9/64" D671016 1/4" D671023 23/64" D671030 15/32" D671037 !
| Order No. d Order No. d Order No. d Order No. d
: D701010 1 D701024 9 D701110 1/32¢ D701124 15/32¢
| D701011 ‘ 15 ‘ D701025 10 D701111 1/16* D701125 1/2¢
: D701012 2 D701026 11 D701112 3/32¢ D701126 17/32¢
3/64" D671110 13/64" D671120 23/64" D671130 33/64" D671140 43/64" D671150 ! D701014 3 D701028 13 D701114 5/32¢ D701128 19/32¢
I
1/16" D671111 732" D671121 3/8" D671131 17/32" D671141 ‘ 11/16" D671151 | D701015 ‘ 35 ‘ D701029 14 D701115 3/16% D701129 5/8
5/64" D671112 15/64" D671122 25/64" D671132 35/64" D671142 45/64" D671152 ! D701016 4 D701030 15 D701116 7132 D701130 21/32¢
|
3/32" D671113 1/4" D671123 13/32" D671133 9/16" D671143 ‘ 23/64" D671153 | D701017 ‘ 45 ‘ D701031 16 D701117 1/4% D701131 11/16*
7/64" D671114 17/64" D671124 27/64" D671134 37/64" D671144 47/64" D671154 I D701018 5 D701032 17 D701118 9/32 D701132 23/32¢
|
1/8" D671115 9/32" D671125 716" D671135 19/32" D671145 ‘ 3/4" D671155 | D701019 ‘ 55 ‘ D701033 18 D701119 5/16% D701133 34«
9/64" D671116 19/64" D671126 29/64" D671136 39/64" D671146 [ D701020 6 D701034 19 D701120 11/32¢ D701134 25/32¢
5/32" D671117 5/16" D671127 15/32" D671137 5/8" D671147 ‘ : D701021 ‘ 6.5 ‘ D701035 20 D701121 3/8 D701135 13/16%
11/64" D671118 21/64" D671128 31/64" D671138 41/64" D671148 \ D701022 7 D701036 21 D701122 13/32¢ D701136 27/32¢
3/16" D671119 11/32" D671129 12" D671139 21/32" D671149 ‘ : D701023 ‘ 8 ‘ D701037 22 D701123 7/16% D701137 7/8«
|
I
|
|
L
13 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 14




mluestar

M Collet series - 5C collets

HOLDING SYSTEM

Specifications

HOLDING SYSTEM

B Collet series - Sharpener collets

@ Machine tool accessory

[
|
|
|
[
|
[
|
|
[ There are 3 types of internal hole: Round, square and hex =¥e T in
| EEEA |
S| S =) [
= | C-S28 ©3-028 1/8-1-1/8
o =
S 2 S SA :
L | A
| B Boring head - NBH2084
[
|
132" D711010 516" | D711028 = 19/32" | D711046 = 7/8" D711064 [
3/64"  D711011  21/64"  D711029 39/64"  D711047 57/64"  D711065 : 0 a2
- 1
1/16" | D711012 | 11/32" | D711030  5/8" D711048 = 29/32" | D711066 | \Q \ d
\ 025 1/32-1/16 5/64" | D711013 = 23/64" = D711031  41/64"  D711049 = 59/64"  D711067 ! o ‘, L J
\EIV// A L | . |
..]_ — 05 >1/16-1/8 332" D711014 | 3/8" D711032 | 21/32" | D711050 = 15/16" = D711068 ‘ i(®): ]
-
,..J _fy } =t 328 1 S1/83/8 | 0.0005” 7/64"  D711015  25/64"  D711033  43/64"  D711051 = 61/64"  D711069 ‘ @ N O / |
— — [
W 15 >3/858 /8" D711016 = 13/32" | D711034  11/16"  D711052  31/32" | D711070 | e
2 ~5/8-7/8 9/64"  D711017 = 27/64" | D711035 = 45/64"  D711053  63/64"  D711071 I Q]
‘ Type:A Type:B |
5/32 D711018 | 7/16 D711036 | 23/32" | D711054 1 D711072 | Id Graduation reading
11/64"  D711019  29/64"  D711037 47/64"  D711055 1-1/64" D711073 [ D
| fine grinding backlash less than 5 lattices
D711111 D711108 D711115 D711122 13/64"  D711021  31/64" = D711039  49/64"  D711057 = 1-3/64" = D711075 [ S
| Order N T |ze Micro Micro Modular
2 D711112 9 D711109 16 D711116 23 D711123 732" D711022 | 12" D711040 = 2532"  D711058 | 1-1/16" = D711076 ‘ rder No. ype nn- distance | accuracy | holder
3 D711113 10 D711110 17 D711117 24 D711124 15/64"  D711023  33/64"  D711041  51/64"  D711059 = 1-5/64" = D711077 |
D851010 A NBH2084 84 ‘ 20 60 ‘ 83 28 0.01 NBH
4 D711114 11 D711111‘ 18 D711118 25 D711125 1/4" D711024 = 17/32" | D711042  13/16"  D711060 = 1-3/32" = D711078 !
|
5 D711115 12 D711112 19 D711119 26 D711126 17/64"  D711025 = 35/64" | D711043 = 53/64"  D711061 = 1-7/64" = D711079 ‘
6 D711116 13 D711113‘ 20 D711120 27 D711127 9/32" | D711026 ~ 9/16" | D711044 27/32" | D711062 1-1/8"  D711080 !
‘ B Boring head shank for NBH2084
7 D711117 14 D711114 21 D711121 28 D711128 19/64"  D711027  37/64" = D711045 = 55/64" = D711063 ‘
[
| &
\ N [ ]
. s
B Collet series - MS taper collets | Bl =
| @
I BT 1
‘ i
2 11.5
MT ‘ 124 "
\ i
I
, D861010 BT40 M16xP2.0
x C-MS1-d = MS1 | 1/16"-5/16" 2,3,4,5,6,8 12.2 57 | D861110 R8 7/16"-20UNF
—1 C-MS2-d | MS2  1/8"-1/2" 2,3,4,5,6,8,10,12 ‘ 18 68 | D861210 NT30 1/2"-12UNC
L C-MS3-d | MS3 | 1/8"-3/4" 3,4,5,6,8,10,12,14,16,18 24.1 86 : D861211 NT30 MI12xP1.75
—— ——
C-MS4-d  MS4 T/ 3,4,5,6,8,10,12,14,16,18,20,25‘ 31.5 108 | D861212 NT40 5/8"-11UNC
I D861213 NT40 M16xP2.0
I
| D861214 NT50 1"-8UNC
| D861215 NT50 M24xP3.0
: D861310 MT3 1/2"-12UNC
\ o K 3 D861311 MT3 MI2xP1.75
L] 9 [ PN\
I & ;
C--DIN6343-F17.5 M- i gl X
| s . \® D861313 MT4 M16xP2.0
C-DIN6343-F22 2 0o s 16 ‘ v S us T D861314 MTS 1"-8UNC
I L
C-DIN6343-F28 28 38 70 22 | 24 D861315 MT5 M24xP3.0
C-DIN6343-F32 32 45 ‘ 75 26 I r = D861410 MT3 TANGED
|
C-DIN6343-F35 35 48 80 30 | % ™1 : D861411 MT4 TANGED
v
C-DIN6343-F42 42 55 ‘ 94 36 [ @ 88’-1:- — A D861412 MT5 TANGED
N A 1
C-DIN6343-F48 48 60 94 42 : Cstraight | brd D861510 ®20 20
=
C-DIN6343-F56 56 68 ‘ 94 50 | ‘123 115 D861511 ®25 25
2% 60
C-DIN6343-F66 66 84 110 60 : D861512 32 32
|
I
|
|
L
15 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 16

TOOLING SYSTEM

MILLING, LATHE, GRINDING ACCESSORY

VICE & WORKHOLDING

=
=
w
=
o
=)
S
w
o
S
T
w
&
o
=)
=




\NDUSTR\AL SUPPLY

uestar

HOLDING SYSTEM

HOLDING SYSTEM

@ Machine tool accessory

[
|
‘ &
‘ &
B Boring head set - NBH2084 | &
‘ 2
| =
o
| =
| @ VT
| e ‘,/_\
| g I i z
shank | L] 8
( ‘ N L 0
‘ g 1012 8
| MT with tang ;
w e 2
| il ol — =
| !  —— =
| = 3 1 o
| 070 1012 =
M8*20-CAP | ® T =
Flange M8#20-CAP | C straight T ;
" ) =
i g Eh E =
‘ - I 2
I 1016 10 1
| <
. | =
o) reading | %
© p(oT] | =
Boring Bars | D891010 BT40 119.4 2 M16x2.0 D891111 RS 132 7/8"-20 =
| D891011 BT50 116.8 53 M24x3.0 ﬂ
(&)
| D891013 BT40 119.4 2 1-1/2"-18 D891310 1-1/2"-18 3/8"-16
—
: D891014 BT50 116.8 53 1-1/2"-18 D891311 MT2 96 1-1/2"-18 M10x1.5 =
=
[ D891312 MT3 13 1-1/2"-18 3/8"-16 %
(=]
o
| D891210 NT30 24.6 1212 1-1/2"-18 D891314 MT3 13 7/8"-20 1/2"-13 =2
wn
. | ‘ o o " N
Boring bar | e B mo— o T e B 5
| 1o 1o "
— e — P — SBI-2008-32 Ny ‘ D891213 NT40 132 26.6 M16%2.0 ‘ 1-1/2"-18 D891317 MT4 137 1-1/2"-18 5/8"-11
D871012 RS.NBH2084 216" 20UNC ST — p ‘ D891214 NT50 170 312 1"-8 1-1/2"-18 D891318 MT4 137 1-1/2"-18 M16%2.0
| _ "_ _ "_ "_s
— . UG SBI-2012-53 1217 53 ‘ D891215 NT50 170 312 M24x3.0 ‘ 1-1/2"-18 D891319 MTS5 161.5 1-1/2"-18 1"-8
D871014 NT30-NBH2084 MI2xP1.75 — (G2 ® | D891320 MTS 161.5 1-1/2"-18 M24x3.0
D871017 NTS0-NBH2084 1"-8UNC SBJ-2030-115 30-140 115 I D891411 MT3 TANGED ‘ 0.5 D891510 1-1/2"-18
|
DS71018 NTS0-NBH2084 M24xP3.0 SBJ-2020-L 120-280 S4+BTLI | D891412 MT4 TANGED 0.8 D891511 ®25 25 60 1-1/2"-18
I D891413 MT5 TANGED ‘ 1.8 D891512 32 32 60 1-1/2"-18
I
i [
Boring head | MT2 BT30 NT30
] . ] ) ] . . NT30 MT3 BT40 NT40
CH-BHC2 CH-BHC3 CH-BHC4 ‘ Boring head sets NT40 MT4 BT50 R8 NT50
! Y NT50 MT5 =
u-b‘.- : =,
I
| =)
| S
| b il il
I 750,
[
[ S.' §
I A |2 4
‘ & g
=E—oF ¢
D881010 BHC2 inch 2"Dia 2-7/16" 12" 5/8" 12" 5/8" 0.7 I _ i g =
| . Minir_num Maxir_num MR s g é ?; =
D881011 BHC2 m/m 50 63 ‘ 12 15 12 ‘ 15 0.7 | Order No. | Type Bzr;:\g boring shank brc‘)gllr;g br?‘l;llr;g depth g | = 5 ~ r_xj & % g (o] §
D881110 BHC3 inch 3"Dia 3-5/32" 3/4" 15/16" 3/4" " 2 | diameter | diameter | °f boring 53 g 5“ g A g 2 § i
I H X = Tl = =g
D881111 BHC3 m/m 75 80 ‘ 18 23 18 25 2 : DY01010 ' BHC2 9 straight shank, BT30, 10 150 50 = @ ‘én % Sle Qe g S sHa SE
. ) BT40, BT50, R8, NT30. 2 & ] X\ g-°g S ~lgleSH3
" 12" " _1/4" " " 4 i i =1 © S =4 >N =4 ST PHTRY
D881210 BHC4 inch 4"Dia 3-1/2 1 1-1/ 1 1 4 | D901110 ‘BHC3‘ NTA0, NT50, MT2, 10 200 80 g s 8 g 3@ & @ §5‘, SEZRZ
= =1 (=] (=]
D881211 BHC4 m/m 100 88 ‘ 25 32 25 25 4 : D901210 BHC4 6 MT3, MT4, MT5 10 300 85 & @ 8 St Tz T
S =z = 3
| =N a a a
| g & 8
I
I
L
17 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 18




INDUSTRIAL SUPPLY

uestar

HOLDING SYSTEM

HOLDING SYSTEM

@ Machine tool accessory

B Universal facing and boring head

Specifications

[ The Facing and Boring Head is a major accessory of the machine tools,
such as jig boring machine, horizontal boring machine,milling machine,
CNC machine, etc.It is possible to carry out such operation as facing,

outside and inside diameter boring, boring step holes and inner

and outside groove cutting etc.

[ This product has the machanism of manual fine feed,rapid adjustment,
various velocities for radial automatic feed and overload protection.
The shank which is fixed to the spindle of machine can be selected in
accordance with the customers' requirement.

D1 D2

TOOLING SYSTEM

MILLING, LATHE, GRINDING ACCESSORY

[
|
|
|
[
|
[
|
|
[
|
|
[
[
|
[
[
|
|
[
|
|
|
[
F212A F213A F214A : OrderNo. | Type D(mm) - Key
150 330 430 : F141010 | 13506 = 0.8-6 1/32"-1/4" MI12x1.25 28 495 16 ®5.5 95 K3 %
=Y =2 =50 ! F141110 | J3506A  0.8-6 1/32"-1/4" 3/8"-24UNF 28 495 16 ®5.5 95 K3 g‘
0.005 : F141111 | J3510 | 1-10 1/32"-3/8" MI12x1.25 34 57 16 ®5.5 180 K3 g
2 : I F141210 | J3510A  1-10 1/32"-3/8" 1/2"-20UNF 34 57 16 ®5.5 180 K3 E
Selemii e ey el ) 3:823?38;?3 8(1’; g?gg?z : FI141310 | J3510B | 1-10  1/32"-3/8" 3/8"-24UNF 34 57 16 5.5 180 K3 g
[ F141410 | J3510H 15-10  1/32"-3/8" 3/8"-24UNF 33 57 16 ®5.5 180 K3
B 2 : F141411 | J2510 | 1-10 1/32"-3/8" | B12(®12.065) 34 62 22 180 K3 -
%0 120 168 | F141510 = 12610 1-10 1/32"-3/8" JT2(®14.199) 34 62 26 180 K3 E
S 0% ‘ F141610 | 13513 1513 1/16"-1/2" MI12x1.25 43 73 16 ®5.5 320 K4 %
29 61 78 : F141611 | J3513A  15-13  1/16"-1/2" 1/2"-20UNF 43 73 175 ®5.5 320 K4 o
7B s CD ! F141612 | J3513B 1513 1/16"-1/2" 3/8"-24UNF 43 73 16 ®5.5 320 K4 %
7 %0 %0 : F141710 | 12513 1513 1/16"-12"  BI6(®15.733) 43 73 28 320 K4 g
G & 1 B I I K I F141711 | J2513A | 1.5-13 1/16"-172" | B12(P12.065) 43 73 22 320 K4 =
: F141810 | 12613 1513 1/16"-1/2" JT33(d15.85) 43 73 29 320 K4
. I F141811 | J2613A 1513 1/16"-1/2" JT6(®17.170) 43 73 29 320 K4
.Key drill chuck (heavy dUty) : F141812 | J3516  3-16 1/16"-1/2" M12x1.25 52 86 16 6.5 584 K5
[ F141910 | J3516A  3-16 1/8"-5/8" 1/2"-20UNF 52 86 17.5 6.5 584 K5
: F141911  J3516B  3-16 1/8"-5/8" 5/8"-16UNF 52 86 19 6.5 584 K5
\ F141912 | J3516C | 3-16 1/8"-5/8" M16x1.5 52 86 19 6.5 584 K5
: F142010 = 12516  3-16 1/8"-5/8"  B16(®15.733) 52 86 28 584 K5
rer o, Tpe L) - ke | F142110 | J2516A | 3-16 1/8"-5/8" | BIS(®17.780)  JT3(120.599) 52 86 36 584 K5
! F142111 | J2616 @ 3-16 1/8"-5/8" JT3(®20.599) 52 86 35 584 K5
F071010 216 066 | 1/64"-1/4" B10(®10.094) 30 49 17.5 125 K2 : F142210 | J2616A | 3-16 1/8"-5/8" JT6(®17.170) 52 86 29 584 K5
‘F071110 2110 1-10  1/32"-3/8" BI12(®12.065) 43 69 22 335 K4 \
FO71210  J2113 | 113 1/32"-1/2" B16(d15.733) 53 86 28 625 K5 :
‘FO71211 RIBA  1-13 132"-1/2" BI18(d17.780) 53 86 36 625 K5 [ [ | Heavy_duty key|ess drill chuck
DI FO71310  J2116 | 1-16  1/32"-5/8" BI8(®17.780) 57 93 36 818 K5 :
| ‘FO71311 D2116A  1-16 | 1/32"-5/8" B16(®15.733) 57 93 28 818 K5 |
a7 FO71410 | J2120 | 520 | 13/64"-3/4" B22(d21.793) 65 107 45 1214 K6 :
|
- I
Order No. Type Taper mount L(mm) L1(mm) Key ! Optional
|
‘ DI
FO071510 1226 0.6-6 | 1/64"-1/4" JT1(9.754) 30 49 192 125 K2 L e, Eaaeaaa P=emamiaa
‘F071610 12210 1-10  1/32"-3/8" JT2(®14.199) 43 69 26 335 K4 I
FO71710 12213 | 113 1/32"-1/2" JT6(®17.170) 53 86 29 625 K5 : 9 i
‘ F071711 J2213A | 1-13 | 1/32"-1/2" JT33(d15.850) 53 86 29 625 K5 | Titanium Alloy Jaw :
FO71810  J2216 | 1-16  1/32"-5/8" JT3(®20.599) 57 93 35 818 K5 :
‘ FO71811  J2216A  1-16  1/32"-5/8" JT6(®17.170) 57 93 29 818 K5 \
FO71910 | J2220 | 520 | 13/64"-3/4" JT3(®20.599) 65 107 35 1214 K6 :
|
I
|
|
|

19 www.dlbluestar.com

M E-mail: info@dlIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

www.dlbluestar.com

20



\NDUSTR\AL SUPPLY

uestar

HOLDING SYSTEM

HOLDING SYSTEM

@ Machine tool accessory

\
\
| =
| =
B Heavy-duty keyless drill chuck w z
| =
| S
e e e I I N B | i
Order No. Type D(mm) L(mm) L1(mm) |
N | X
F081010 3013 023 1/64"-1/8" B6(®6.35) 24 \ 3
FO81110 1023 0.2-3 1/64"-1/8" JTO(®6.35) 24 45.1 415 100 : g
F081210 J014 024 1/64"-5/32" B10(10.094) 29 60.8 55 190 \ =
FO81310 3024 024 1/64"-5/32" IT1(®9.754) 29 60.8 55 190 : Straight Shank R8 Shank Mt Shank =
F081410 1016 0.5-6 1/32"-1/4" B10(®10.094) 31 64 17.5 320 \ =
F081510 1026 0.5-6 1/32"-1/4" IT1(®9.754) 31 64 19.2 320 ! = ;
F081610 30110 1-10 1/32"-3/8" BI2(®12.065) 2 91 2 400 : Ll '5
F081710 10210 1-10 1/32"-3/8" TT2(®14.199) 42 91 26 400 ! L3 s
FO81810 Jo113 1-13 1/16"-172" BI6(®15.733) 48 106 28 685 : ] 3
FO81811 JO113A 1-13 1/16"-1/2" BI12(12.065) 48 106 2 685 : 2l a ol 3 =
F081910 10213 1-13 1/16"-172" TT33(®15.85) 48 106 29 685 | : o
F081911 J0213A 1-13 1/16"-172" IT6(®17.170) 48 106 29 685 \ L 5
F082010 Jo116 1-16 1/8"-5/8" BIS(®17.780) 53 108 36 988 : %
F082011 JOL16A 1-16 1/8"-5/8" BI6(®15.733) 53 108 28 988 \ a— Type Pimension S
0wt e s 3020599 5 108 s oss | —————n =
FO82111 J0216A 1-16 1/8"-5/8" JT6(®17.170) 53 108 29 988 \ F171010 €20-13 1.0-13 1132-12 155.5 g
F082210 30120 5.20 3/16"-3/4" B22(d21.793) 54 109 30 989 ! F171011 €20-16 Lo-16 1/32-5/8 57 153 167.5 60 20
F082211 30220 5.20 3/16"-3/4" JT3(120.599) 55 110 31 990 : F171012 €25-13 1.0-13 1/32-172 51 162 174 80 25 =
\ F171013 €25-16 1.0-16 1/32-5/8 57 173 1875 80 25 o
! F171014 C32-13 1.0-13 1/32-12 51 162 174 80 3 %
] Light-duty keyless drill chuck : F171015 €32-16 1.0-16 1/32-5/8 57 173 1875 80 32 g
! F171016 c42-13 1.0-13 1/32-12 51 162 174 80 2 z
: F171017 C42-16 1.0-16 1/32-5/8 57 173 1875 80 42 g
‘ F171110 R$-10 1.0-10 1/32-3/8 435 1615 170 102 3175 =
-« > : FI71111 RS-13 1.0-13 1/32-1/2 51 183.5 195 102 3175
\ FI71112 RS-16 1.0-16 1/32-5/8 57 195 210 102 3175
D1 D2 : F171410 MT2-08 1.0-8 1/32-5/16 36 122.5 131 63 17.780
""""""""""" \ F171411 MT2-10 1.0-10 1/32-3/8 435 136 145 63 17.780
Im: - : F171412 MT2-13 1.0-13 1/32-172 51 140.5 1525 63 17.78
\ F171413 MT3-13 1.0-13 1/32-12 51 1825 195 99.5 23.825
! F171414 MT3-16 1.0-16 1/32-5/8 57 208 219.5 99.5 23.825
: F171415 MT4-13 1.0-13 1/32-12 51 207 2185 125 31.542
_—_ ! F171416 MT4-16 1.0-16 1/32-5/8 56.5 219 2345 125 31.542
Order No. Type L(mm) L1(mm) !
I ™ S T --_ |
F091010 1036 0.5-6 1/32"-1/4" 3/8"-24UNF 31 64 16 320 : i
F091110 10510 1-10 ‘ 1/32"-3/8" ‘ BI2(®12.065) 2 91 2 400 \ M R8 drill chuck arbor
F091210 J0310A 1-10 1/32"-3/8" 1/2"-20UNF 2 86 17.5 400 :
F091211 10310B 1-10 ‘ 1/32"-3/8" ‘ 3/8"-24UNF 42 86 16 400 \
F091310 10513 1-13 1/16"-172" BI6(®15.733) 44 97 28 600 : -
S R B e ” 5 5 o |
F091410 10613 1-13 1/16"-172" JT33(®15.85) 44 97 29 600 ! F191510  R$xBI0 BI10 10.094
F091411 J0613A 1-13 ‘ 1/16"-1/2" ‘ JT6(®17.170) 44 97 29 600 : F191511 ‘ R8xBI2 BI2 128 12.065
F091412 J0313A 1-13 1/16"-1/2" 1/2"-20UNF 44 90 17.5 600 ‘ FI191512  R8xBI6 Bl6 135 15.733
F091413 10313B 1-13 ‘ 1/16"-172" ‘ 3/8"-24UNF 44 90 16 600 : F191513 ‘ R8BI BIS 143 17.78
F091510 10516 1-16 1/8"-5/8" BIS(®17.780) 48 102 36 965 [ R8 " F191514  R8xB22 as . B22 152 21.793
F091511 J0516A 1-16 ‘ 1/8"-5/8" ‘ BI6(®15.733) 48 102 28 965 : = - - F191515 ‘ R8xJ1 ’ 1 122 9.754
F091610 10616 1-16 1/8"-5/8" JT3(®20.599) 48 102 35 965 \ gl I — ) I“V;( _ FI191516 = R8xJ2 n 128 14.199
F091511 J0616A 1-16 ‘ 1/8"-5/8" ‘ JT6(®17.170) 48 102 29 965 : § T / /) F191517 ‘ R8x133 133 132 15.85
F091610 10316 1-16 1/8"-5/8" 5/8"-16UN 48 102 19 965 \ FI91518  R8xJ6 36 132 17.17
F091611 J0316A 1-16 ‘ 1/8"-5/8" ‘ 1/2"-20UNF 48 102 17.5 965 : L F191519 ‘ R8xJ3 3 137 20.599
\
\
\
\
|
www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 22




HOLDING SYSTEM HOLDING SYSTEM

mluestar @ Machine tool accessory

|
\
\ =
&
! %)
B NT drill chuck arbors | B Morse taper drill chuck arbors with tang (or with draw bar) &
| e
\ 5
| 5
o] || \ F181010 MS1xB10 B10 86 57
! F181011 MS1xB12 B12 89 65 &
NO.S ‘ S
/—B | F181012 MS1xB16 B16 99 91 2
‘ F181013 MS1xB18 B18 107 124 §
) \ F181014 1 MS1xJ0 0 81 47 =
=5 : F181015 MS1xJ1 n 86.5 53 =
| F181016 MS1xJ2 2 92 71 =
- \ F181017 MS1xJ33 133 95 82 i
\ F181018 MS1xJ6 6 95 124 =
<T
: F181110 MS2xB10 B10 102 129 =i
S
| F181111 MS2xB12 B12 113 138 =
-
\ F181112 MS2xB16 B16 121 163 2
‘ F181113 MS2xB18 B18 126 196
| woeo 1 o | o v [ veww | o | ¢ [ w | | Fis1114 se22 = E 2t .
NT30-J0 6.35 NT50-J6 1717 | F181115 MS2xJ0 0 102 120 =
NT30-J1 9.754 NT50-J3 20.599 \ F181116 MS2xJ1 a1 108 126 g‘
69.85 M24 ‘ Z
NT30-12S 13.94 NT50-34 28.55 | F181117 2 MS2xJ2 2 m 143 4
NT30-32 14.199 NT50-J5 35.89 | LS LEZEREY 3 o Lot =
‘ F181119 MS2xJ6 i3 112 162 3
NT30-J33 3175 15.85 M12 NT30-B10 10.094 S
\ F181120 MS2xJ3 3 124 196 e
NT30-J6 17.17 NT30-B12 12.065 \ Fl81121 MS2534 1 1265 197
|
NT30-J3 20.599 NT30-B16 15.733
- M2 | F181122 MS2xJ5 5 130 198 =
NT30-J4 28.55 NT30-B18 17.78 \ F181123 MS2x (3/8"-24) 3/8"-24UNF 105 130 o
NT30-J5 35.89 NT30-B22 21.793 I F181124 MS2x (1/2"-20) 1/2"-20UNF 107 135 %
| " " (=]
e . e p— ‘ F181125 MS2x (5/8"-16) 5/8"-16UN 125 145 o
| F181210 MS3xB12 B12 125 283 S
NT40-J1 9.754 NT40-B10 10.094 z
\ F181211 MS3xB16 B16 134 309 2
NT40-32S 13.94 NT40-B12 12.065 [
‘ F181212 MS3xB18 B18 140 341 S
NT40-32 14.199 NT40-B16 rass 15.733 s : F181213 MS3xB22 B2 147 303
NT40-J33 44.45 15.85 M16 NT40-B18 17.78 | F181214 MS3xB24 B24 157 436
NT40-36 17.17 NT40-B22 21.793 \ F181215 MS3xJ1 n 1205 271
NT40-33 20.599 NT40-B24 23.825 : F181216 MS3xJ2 32 126 288
NT40-J4 28.55 NT50-B10 10.094 \ F181217 8 MS3xJ33 333 129 300
‘ F181218 MS3xJ6 i3 129 307
NT40-J5 35.89 NT50-B12 12.065
\ F181219 MS3xJ3 3 135 341
NT50-J1 .754 NT50-B1! 15.7:
50-3 975 50-B16 69.85 5738 M24 : F181220 MS3xJ4 W 146 456
NT50-J2S s0.85 13.94 voa NT50-B18 17.78 ‘ F181221 MS3%J5 55 149 457
NT50-32 14.199 NT50-B22 21793 ‘ F181222 MS3x(3/8"-24) 3/8"-24UNF 124 285
NT50-J33 15.85 NT50-B24 23.825 \ F181223 MS3x(1/2"-20) 1/2"-20UNF 126 290
: F181224 MS3x(5/8"-16) 5/8"-16UN 157 300
| F181310 MS4xB16 B16 159 621
. . . \ F181311 MS4xB18 B18 168 654
B Morse taper drill chuck arbors with tang (or with draw bar) ‘
F181312 MS4xB22 B22 176 705
: F181313 MS4xB24 B24 186 749
| F181314 . MS4xJ2 2 149 601
\ F181315 MS4xJ33 133 155 612
! F181316 MS4x36 6 155 619
|
F181317 MS4xJ3 3 161 654
MS MS \
> — | F181318 MS4xJ4 W 172 778
\ F181319 MS4xJ5 5 174 935
! F181410 MS5xB16 B16 196 1505
|
B | F181411 MS5xB18 B18 205 1564
| F181412 MS5xB22 B22 2135 1615
\ F181413 MS5xB24 B24 221 1658
: F181414 5 MS5xJ33 333 184 1563
| F181415 MS5xJ6 i3 184 1688
L | \ F181416 MS5xJ3 3 190 1845
T fg/_[) ‘ F181417 MS5xJ4 “ 201 1846
== X
E= \
‘ F181418 MS5xJ5 i3 206 1847
|
\
|
|
L
23 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 24




HOLDING SYSTEM HOLDING SYSTEM

mluestar

@ Machine tool accessory

=

w

17

B Straight shank drill chuck arbor B Tapping chuck series - Tapping collet &

2

IS

Specifications =

[ 1S0 standard, JIS and DIN standard is optional.

mﬂ-ﬂ--- =

F191210 = 5/8"xB10 B10 82 10.094 2

F191211  5/8'xB12 B12 86 12.065 D931010 3.15 §

F191212  5/8'xB16 B16 92 15.733 D931011 M4 4 3.15 =

F191213 = 5/8'xB18 B18 100 17.78 D931012 M5 5 4 =

G3 36 19 55 175 =)

F191214  5/8"xB22 B22 109 21.793 D931013 Mé6-8 6.3 5 =

F191215 = 5/8'xB24 - 1587 B24 119 23.825 i D931014 M10 s 63 i

" . /s

F191216 = 5/8"xJ1 n 84 9.754 - p—— y— 7 — £

F191217  5/8"xJ2 2 ) 14.199 —

D931110 M12 9 71 s

F191218  5/8"xJ33 133 93 15.85 =

-

F191219  5/8"xJ6 6 93 17.17 [DERHEHL LAY — ¥ 2

- T F101220  5/8"xJ3 33 98 20.599 DOSILL2 [ M16 5 @ 125 @ 905 10

i F191221  5/8"xJ4 u 110 28.55 D931113 M18-20 14 112 -

o . o F191310 = 3/4"xB12 B12 100 12.065 N M| N D931114 M22 16 125 %

" -4 =) _l

F191311  3/4"xB16 B16 106 15.733 é? © ) al o Doatts Vo 0 % =}

" - ==

F191312 = 3/4"xB18 B18 114 17.78 1 0931210 M24 18 u £

L F191313  3/4"xB22 B22 123 21.793 =

D931211 M27-30 20 16 5

F191314 | 3/4"xB24 B24 133 23.825 | H =

F101315  3/4"xJ1 34" 19.05 i1 97 9.754 L1 Dost212 | G24 | Ms33 84 45 24 | 18 40 18 =

F191010 | 3/8"xJ0 o 0505 6.35 F191317  3/4"xJ33 133 107 15.85 D931214 M39-42 28 224 =

F191011 \ 3/8"xJ1 a1 84 9.754 F191318  3/4"xJ6 6 107 17.17 =

F191110 | 1/2'xB10 B10 82 10.094 F191319  3/4"xJ3 3 112 20.599 =

F191111 \ 1/2"xB12 B12 86 12.065 F191320 = 3/4"xJ4 2! 124 28.55 &

o

F191112 | 1/2'xB16 B16 92 15.733 F191410 = 1"xB12 B12 100 12.065 =

F191113 \ 1/2"xB18 B18 100 17.78 F191411 = 1"xB16 B16 106 15.733 <

B

F191114 | 1/2'xB22 B22 109 21.793 F191412  1"xB18 B18 114 17.78 S
F191115 \ 1/2°xJ0 U 27 i) 79 6.35 F191413  1"xB22 B22 123 21.793
F191116 | 1/2"xJ1 ' 1 84 9.754 F191414  1'xB24 " - B24 133 23.825
F191117 \ 1/2"x32 32 90 14.199 F191415 1"xJ2 ’ 2 104 14.199
F191118 = 1/2"xJ33 133 93 15.85 F191416  1"xJ33 133 107 15.85
F191119 \ 1/2"x36 6 93 17.17 F191417 1"xJ6 6 107 17.17
F191120 | 1/2"xJ3 3 98 20.599 F191418 1"xJ3 3 112 20.599
F191121 \ 1/2"x34 4 110 28.55 F191419 1"xJ4 7! 124 28.55

B NMTB/JTA jacobs arbor D921010 BT30-G3 87.6
D921011 BT40-G3 M3-M12 63 19 926 G3
D921012 BT50-G3 100 97.2
D921013 BT40-G12 63 134.6
M12-M24 30 G12
D921014 BT50-G12 100 1422
D921015 BT50-G24 M24-M42 100 45 174.2 G24
D301010  NMTB30-JTAL-1.59 4,933 159 0.384 0.656 D921111 = NT/NMTB40-G3 =~ M3-M12 63 19 82.6 G3
D301011  NMTB30-JTA2-1.81 5.372 ‘ 1.81 0.559 0.875 o vE £ D921112 | NT/NMTB50-G3 100 85.2
D301012 = NMTB30-JTA3-2.19 6.097 219 0.811 122 D921113 | NT/NMTB40-G12 ML2M24 63 % 124.6 o
] D301013  NMTB30-JTA4-2.62 6.956 ‘ 2.62 1.124 1.649 D921114 | NT/NMTB50-G12 100 130.2
n S - T D301014  NMTB30-JTA6-1.97 5,657 1.97 0.676 1 L D921115  NT/NMTB50-G24 =~ M24-M42 100 45 162.2 G24
j ; e D301015  NMTB30-JTA33-1.97 5.657 ‘ 1.97 0.624 1 BT/INT D921210 | MTA/MTB2-G3
" D301110 NMTB40-JTA2-1.88 6.442 1.88 0.559 0.875 = g D921211 = MTA/MTB3-G3 | M3-M12 46 19 89 G3
“- D301111 NMTB40-JTA3-2.25 7.157 ‘ 2.25 0.811 1.22 ol o E ﬂ D921212 | MTA/MTB4-G3
Draw Bar Thread: _] D301112 NMTB40-JTA4-2.69 8.026 2.69 1.124 1.649 L] Ll D921213  MTA/MTB3-G12
NwrasoLs u L2 DIMS  NMTBAOJTAG-L94 6627 194 0.676 1 D921214 | MTAMTB4-GI2 = MIi2-M24 66 30 120 G612
NMTBS0 1”-8 L D301114 ~ NMTB40-JTA33-1.94 6.627 1.94 0.624 1 L D921215 = MTA/MTB5-G12
D301210 NMTB50-JTA3-1.3 752 ‘ 13 0.811 122 MT D921216 | MTA/MTB5-G24 = M24-M42 92 45 140 G24
25 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 26




HOLDING SYSTEM HOLDING SYSTEM

mluestar

@ Machine tool accessory

B Tapping chuck series - Tapping chuck B Tapping chuck series - Reversing type tapping heads

TOOLING SYSTEM

>
oc
o
171
1761
(NN
&)
: S
(4]
=
=
=
oc
(&)
i
T =
S
=
=
D921310 CAT40-G3 M3-MI12  #6-10 1/4-1/2 63 248 o 07 92.6 3.64 o D961011  JSN12 ‘ M5-M12 | MS3 MS4 92.5-97 ¢7-910
1 7
D921311 CAT50-G3 1/SNPT(LS %) 1/8NPT(SS# ) 100 3.93 972 382 D961012 | JSN20  M8-M20 MS3 MS4  536-09 ¢1038-p14 @l6(special orders) .
=
D921312 CAT40-G12 MI12-M24  1/2-5/16 63 248 1346 529 =
§ 30 1.18 G12 6‘
D921313 CAT50-G12 1/8NPT(LS ) 1/4NPT  3/8NPT 1/2NPT 100 3.93 1422 5.59 =
D921314 CAT50-G24 M24-M42  5/16-1-3/4 100 3.93 45 177 1742 6.85 G24 §
D921410 JT30-G3 46 87.6 o3
i
DI921411 JT40-G3 M3-M12 63 19 92.6 G3 g
D921412 JT50-G3 100 97.2
D921413 JT40-G12 63 134.6 E
MI12-M24 30 GI2 fuw}
D921414 JT50-G12 100 1422 E
D921415 JT50-G24 M24-M42 100 45 174.2 G24 g
-
o
1pes NT quick-chage holder 1pes NT quick-chage holder %
X~
. A . Ipcs milling chuck+8 milling collets 1pcs milling chuck+9 milling collets &=
B Tapping chuck series - Tapping chuck set S
(4,5,6,8,10,12,14,16mm) (6,8,10,12,14,16,18,20,25mm)
Ipes MT1 sleeve Ipes MT1 sleeve
L D951010 | IXT16-40 Ipes MT2 sleeve DYS1011 | JXT25-50 Ipes MT2 sleeve
1pcs MT3 sleeve 1pcs MT3 sleeve
Ipes B12 drill arbor with chuck Ipcs B16 drill arbor with chuck
1pc mill arbor 1pc mill arbor
1 spanner 1 spanner

B Mill arbor - R8 endmill holder

-

A,

D941111 BT50xG12x7pcs EMA-R8-4 EMA-R8-13 EMA-R8-101 3/16 EMA-R8-110

D941112 NT/NMTB40xG12x7pcs MI2M14, EMA-R8-5 5 EMA-R8-14 18 EMA-R8-102 1/4 EMA-R8-111 /8
D941010 BT30xG3x7pcs D941113 NT/NMTB50xG12x7pes M12-M24 MI6,MIS, EMA-R8-6 6 EMA-R8-15 20 EMA-R8-103 5/16 EMA-R8-112 1
D941011 ‘ BT40xG3x7pcs D941114 MTA/MTB3xG12x7pcs M20,M22,M24 EMA-R8-7 7 EMA-R8-16 22 EMA-R8-104 3/8 EMA-R8-113 1-1/8
D941012 NT/NMTB30xG3x7pcs MM, DY41115 MTA/MTB4xG12x7pcs EMA-R8-8 8 EMA-R8-17 25 EMA-R8-105 7/16 EMA-R8-114 1-1/4
D941013 ‘ NT/NMTB40xG3x7pes M3-M12 M5,M6, D941116 MTA/MTB5xG12x7pcs EMA-R8-9 9 EMA-R8-18 27 EMA-R8-106 12 EMA-R8-115 1-172
D941014 MTA/MTB2xG3x7pcs M8.MLOM12 D941210 BT50xG24x7pcs MOAMT, EMA-R8-10 10 EMA-R8-19 32 EMA-R8-107 916 EMA-R8-116 2
D941015 ‘ MTA/MTB3xG3x7pcs D941211 NT/NMTB50xG24xTpcs M24-M42 M30,M33, EMA-R8-11 12 EMA-R8-20 40 EMA-R8-108 5/8 EMA-R8-117 2-1/2
D941016 MTA/MTB4xG3x7pcs D941212 MTA/MTB5xG24x7pcs WEGIERYRE EMA-R8-12 14 EMA-R8-109 1116

www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 28




Blﬁémsu Sﬁi’ HOLDING SYSTEM

HOLDING SYSTEM @ Machine tool accessory

=
B Mill arbor - NT emd mill holder B Mill arbor - Morse taper end mill holder with draw bar %
MS.NO. S
i< 'R’.’_] \ ‘\\
g g,
- 22227777777 // WA 2
oent o Lo o

‘ w 4

>
o
o
wn
w
(NN
(&)
(&)
<<
S
=
6 EMANT30-6 ‘ EMANT40-6  EMANTS06 22 | EMA-NT30-22 EMA-NT40-22 EMA-NT50-22 3/16 EMANT3001 EMANT40-01 EMANTSO-01 | 7/8  EMA-NT30-I08 | EMA-NT40-108 | EMA-NTS0-108 &
8  EMANT30-8 EMANT08 EMANTSO8 25 | EMANT30-25 EMANT40-25 EMA-NTS0-25 1/4 EMANT30102 EMANT40-102 EMANTS0-102 1 EMA-NT30109 EMA-NT40-09 EMA-NTS0-109 E
10 EMA-NT30-10‘EMA-NT40-10 EMANTS0-10 32 EMA-NT30-32 EMANNT4032 EMA-NTS0-32 5/16 EMANT30103 EMANT40103 EMANTSO0-103 1-1/4 EMA-NT30-110 | EMA-NT40-110 | EMA-NTS0-110 EMA-MTI-01A | EMA-MT2-01A | EMA-MT3-01A | EMA-MT4-01A  EMA-MTS-01A | EMA-MT6-01A 3
S
12 EMA-NT30-12 EMANT40-12 EMANTS0-12 40 | EMA-NT30-40 EMA-NT40-40 EMA-NTS0-40 3/8 EMA-NT30-104 EMA-NT40-104 EMA-NTS0-104 1-1/2 EMA-NT30-I11 EMA-NT40-I11 EMA-NTS0-111 6 EMAMTLOJA EMAMT2-02A EMAMT3-02A EMAMTA02A EMA-MTS-02A EMA-MT6-02A =
—
=
14 EMA-NT30-14‘EMA-NT40-14 EMANTS0-14 50  EMA-NT30-50 EMA-NT40-50 EMA-NTS0-50 1/2 EMANT30-005 EMA-NT40-005 EMA-NTSO-05| 2 EMA-NT30-12 | EMA-NT40-12 | EMA-NTSO0-112 3 | EMAMTL03A | EMA-MT2-03A | EMAMT-03A | EMA-MTA-03A | EMAMTS-03A | EMAMT6-03A 3/16 | EMA-MTIL-16A | EMA-MT2-16A | EMA-MT-16A | EMA-MT4-16A | EMAMTS-16A | EMA-MT6-16A =
16 EMANT30-16 EMANT40-16 EMANTS0-16 63  EMA-NT30-63 EMA-NT40-63 EMA-NTS0-63 5/8 EMANT30-06 EMA-NT40-06 EMA-NTS0-06 2-1/2 EMA-NT30-113 EMA-NT4013 | EMA-NTS0-13 10 | EMAMTLO4A | EMA-MT2-04A EMAMTS-04A EMA-MT4-04A  EMA-MTS-04A  EMA-MT6.04A U4 | EMAMTLI7A EMAMT2-17A | EMAMT-17A | EMA-MT417A EMAMTS-17A  EMA-MT6-17A
i EMA'NTW'W‘EMA'NT“O'W AR E 3/4 | EMA-NT30107 | EMA-NT40-107 | EMA-NTS0-107 12 EMAMTI-0SA | EMA-MT2-05A  EMA-MT3-05A  EMA-MT4-0SA  EMA-MTS-05A  EMA-MT6-05A 5/16  EMA-MTI-ISA | EMA-MT2-18A | EMA-MT3-ISA  EMA-MT4-18A EMA-MTS-I8A | EMA-MTG-18A =
(=)
14 | EMA-MTI-06A EMA-MT2-06A EMA-MT3-06A EMA-MT4-06A EMA-MTS-06A EMA-MT6-06A 3/8  EMA-MTI-I9A EMA-MT2-19A EMA-MT3-1I9A EMA-MT4-19A EMA-MTS-I9A EMA-MT6-19A =
25
16 | EMA-MTI-0TA | EMA-MT2-07A  EMA-MT3-07A  EMA-MT4-07A  EMA-MTS-07A  EMA-MT6-07A 12 EMA-MTI-20A  EMA-MT2-20A | EMA-MT3-20A  EMA-MT420A EMA-MTS-20A  EMA-MT6-20A =
. . =
B Mill arbor - 5C endmill holder 18 EMA-MTI-08A EMA-MT2-08A EMA-MT3-08A EMA-MT4-08A EMA-MTS-08A EMA-MT6-08A 5/8 EMA-MTI2IA EMA-MT221A | EMA-MT321A  EMA-MT421A EMA-MTS21A  EMA-MT6-21A =
o
20 EMA-MTI09A EMA-MT2-09A EMA-MT3-09A EMA-MT409A EMA-MTS-09A  EMA-MT6-09A 3/4 | EMA-MTI-2A | EMA-MT222A | EMA-MT3-2A  EMAMT422A EMA-MTS-22A | EMA-MT6-22A w
22 EMAMTI-I0A EMA-MT2-10A EMAMT3-10A EMA-MT4-10A EMA-MTS-10A EMA-MT6-10A 7/8 | EMA-MTI-23A EMA-MT223A  EMA-MT3-23A EMAMT423A EMA-MTS-23A  EMA-MT6-23A =
25 EMAMTI-IIA | EMAMT2-I1A  EMA-MT3-1IA  EMA-MT41IA | EMA-MTS-IIA | EMA-MT6-11A I EMA-MTI4A  EMA-MT2-4A | EMA-MT3-24A  EMA-MT4-4A  EMA-MTS-24A | EMA-MT6-24A
[ < EMA-5C-32 EMA-5C-101 1-1/4 =
32 EMA-MTI-2A EMAMT2-12A EMA-MT3-2A EMAMT412A EMA-MTS-12A  EMA-MT6-12A 1-1/4 EMAMTI2SA EMA-MT225A EMA-MT3-25A EMA-MT425A EMA-MTS-25A EMA-MT6-25A &
EMA-5C-40 40 EMA-5C-102 1-12 =
40 EMAMTI-I3A EMA-MT2-13A  EMAMT3-I3A  EMA-MT4-13A | EMA-MTS-I3A  EMA-MT6-13A 1-1/2 EMAMTI-26A  EMA-MT226A  EMA-MT3-26A EMA-MT4-26A EMA-MTS-26A  EMA-MT6-26A o
EMA-5C-50 50 EMA-5C-103 2 =
83.3 50 EMAMTI-I4A EMAMT2-14A EMA-MT3-14A EMAMT414A EMA-MTS-14A  EMA-MT6-14A 2 EMAMTI2JA EMA-MT227A EMAMT3-27A EMA-MT4-27A EMAMTS-27A  EMA-MT6-27A m
o o o
63 EMA-MTI-ISA | EMA-MT2-I5A  EMA-MT3-15A  EMA-MT4-ISA | EMA-MTS-ISA | EMA-MT6-15A 2-1/2 EMA-MTI-28A EMA-MT228A EMA-MT3-28A EMA-MT4-28A  EMA-MTS-28A  EMA-MT6-28A =
w
==
. . . s
B Mill arbor - NMTB / SLN sidelock end mill holder S

B Mill arbor - Morse taper end mill holder with tang

L3. L2 T
= 7:24AT4 L~
Optiona
S = =l s — 0

Draw Bar Thread:
NMTB30 1/2-13 Inner Hexagon Lock
NMTB40 5/8-11 3 L1 Spanner Screws L
NMTBS0 178 | L L -

[overio | 1 a | a ] I S B A AT R

D311010 | NMTB30-SLN3/16-0.69 = 4.437 = 1.75 | 0.44 - 0.1875 | 3/16-24 D311117 | NMTB40-SLN7/8-2.00 = 6377 = 2.69 0.875 | 5/8-11
D311011 ~ NMTB30-SLN1/4-0.69 5187 25 0.6 = 025 1/420 D311118 = NMTB40-SLN1-2.00 6377 = 2.69 1 - 1 3/4-10 EMA-MTI-01B | EMA-MT2-01B  EMA-MT3-01B | EMA-MT4-01B | EMA-MT5-01B = EMA-MT6-01B
D311012  NMTB30-SLN5/16-1.00 5187 25 075 - 0.3125 | 5/16-18 D311119  NMTB40-SLN11/4-2.38 = 6377 2.69 | 125 - 125 3/4-10 6  EMA-MTI-02B EMA-MT2-02B EMA-MT3-02B EMA-MT4-02B EMA-MTS-02B EMA-MT6-02B
D311013 ~ NMTB30-SLN3/8-1.00 = 4437 175 = 0.75 - 0375 3/8-16 D311120 = NMTB40-SLN11/2-2.95 7.637 =~ 3.95 112 1 15 3/4-10 8 | EMA-MTI-03B | EMA-MT2-03B  EMA-MT3-03B  EMA-MT4-03B | EMA-MT5-03B  EMA-MT6-03B 3/16 EMA-MTI-16B  EMA-MT2-16B  EMA-MT3-16B  EMA-MT4-16B  EMA-MT5-16B  EMA-MT6-16B
D311014 = NMTB30-SLN1/2-138 = 5.107 242 088 - 0.5 7/16-14 D311210 | NMTB50-SLN1/4-0.69 = 7.5 25 056 - 025 1/4-20 10 EMA-MTI-04B EMA-MT2-04B  EMA-MT3-04B  EMA-MT4-04B EMA-MT5-04B  EMA-MT6-04B 1/4  EMA-MTI-I7B EMA-MT2-17B  EMA-MT3-17B  EMA-MT4-17B  EMA-MT5-17B  EMA-MT6-17B
D311015 = NMTB30-SLN5/8-1.81 = 5.107 242 094 = 0.625 | 1/2-13 D311211 = NMTB50-SLN5/16-1.00 7.5 25 | 075 - 03125  5/16-18 12 EMA-MTI-05B  EMA-MT2-05B  EMA-MT3-05B  EMA-MT4-05B | EMA-MT5-05B  EMA-MT6-05B 5/16  EMA-MTI-I$B | EMA-MT2-18B | EMA-MT3-18B EMA-MT4-188  EMA-MT5-188  EMA-MT6-18B
D311016 | NMTB30-SLN3/4-1.75 = 4.807 = 2.12 1 - 075 | 5/8-11 D311212 | NMTB50-SLN3/8-1.00 = 7.75 = 275 | 0.75 - 0375 3/8-16 14 EMAMTI-06B EMA-MT2-06B EMA-MT3-06B EMA-MT4-06B EMA-MT5-06B  EMA-MT6-06B 3/8  EMA-MTI-19B EMA-MT2-19B EMA-MT3-19B EMA-MT4-19B EMA-MTS-19B  EMA-MT6-19B
D311017 ~ NMTB30-SLN7/8-2.00 5187 2.5 1 = 0.875 | 5/8-11 D311213  NMTBS50-SLN1/2-138 ~ 7.75 275  0.88 - 0.5  7/16-14 16  EMAMTI-07B  EMA-MT2-07B | EMA-MT3-07B | EMA-MT4-07B  EMA-MT5-07B  EMA-MT6-07B 1/2 EMA-MTI-20B  EMA-MT2-20B | EMA-MT3-20B | EMA-MT4-20B = EMA-MT5-20B = EMA-MT6-20B
D311018 | NMTB30-SLN1-225 | 5377 269 @ 112 - 1 3/4-10 D311214 | NMTB50-SLN5/8-1.62 | 7.75 = 275 | 094 - 0.625 | 1/2-13 18  EMA-MTI-08B  EMA-MT2-08B EMA-MT3-08B EMA-MT4-08B EMA-MT5-088 EMA-MT6-08B 5/8 EMA-MTI-2IB EMA-MT2-21B  EMA-MT3-21B EMA-MT421B EMA-MT521B  EMA-MT6-21B
D311110  NMTB40-SLN3/16-0.69 = 5.997 231 044 - 01875  3/16-24 D311215 = NMTB50-SLN3/4-1.75  7.75 = 2.75 1 - 075  5/811 20 EMA-MTI-09B  EMA-MT2-09B  EMA-MT3-09B | EMA-MT4-09B EMA-MT5-09B EMA-MT6-09B 3/4 | EMA-MTI-22B  EMA-MT2-22B | EMA-MT3-22B | EMA-MT4-22B | EMA-MT5-22B  EMA-MT6-22B
D311111  NMTB40-SLN1/4-0.69 = 6.187 = 25 = 0.56 - 025 | 1/420 D311216 | NMTB50-SLN7/8-2.00 = 812 = 3.12 1 081 0875 5811 22 EMA-MTI-I0B  EMA-MT2-10B EMA-MT3-10B EMA-MT4-10B  EMA-MT5-10B  EMA-MT6-10B 7/8  EMA-MTI-23B  EMA-MT2-23B  EMA-MT3-23B  EMA-MT4-23B EMA-MT5-23B  EMA-MT6-23B
D311112  NMTB40-SLN5/16-1.00 = 6.187 = 2.5 = 0.75 - 03125 5/16-18 D311217 =~ NMTB50-SLN1-2.38 8.5 35 1.12 1 1 3/4-10 25 | EMA-MTI-1IB | EMA-MT2-11B  EMA-MT3-11B  EMA-MT4-11B | EMA-MTS5-11B = EMA-MT6-11B 1 EMAMTI-24B | EMA-MT2-24B | EMA-MT3-24B  EMA-MT4-24B  EMA-MT5-24B  EMA-MT6-24B
D311113  NMTB40-SLN3/8-1.00 = 5997 = 231 = 0.75 - 0.375 | 3/8-16 D311218 | NMTB50-SLN1-1/4-2.62 8.5 35 112 1 125 | 3/4-10 32 EMA-MTI-I2B  EMA-MT2-12B  EMA-MT3-12B  EMA-MT4-12B  EMA-MT5-12B  EMA-MT6-12B 1-1/4 EMA-MTI-25B  EMA-MT2-25B EMA-MT3-25B  EMA-MT4-25B EMA-MT5-25B  EMA-MT6-25B
D311114  NMTB40-SLN1/2-138 = 5997 231 = 088 = 0.5 7/16-14 D311219  NMTB50-SLN1-1/2-2.88 9 4 1.5 1 15 3/4-10 40 | EMA-MTI-I3B  EMA-MT2-13B  EMA-MT3-13B | EMA-MT4-13B | EMA-MT5-13B  EMA-MT6-13B 1-1/2 EMA-MTI-26B | EMA-MT2-26B | EMA-MT3-26B  EMA-MT4-26B EMA-MT5-26B EMA-MT6-26B
D311115 = NMTB40-SLN5/8-1.62 = 5997 = 231 = 0.94 - 0.625 | 1/2-13 D311220 | NMTB50-SLN2-3.75 9.5 45 138 L12 2 1-14x78 50  EMA-MTI-14B  EMA-MT2-14B EMA-MT3-14B EMA-MT4-14B  EMA-MT5-14B  EMA-MTG-14B 2 EMA-MTI-27B  EMA-MT2-27B  EMA-MT3-27B  EMA-MT4-27B EMA-MT5-27B  EMA-MT6-27B
D311116 ~ NMTB40-SLN3/4-1.88 = 5997 231 1 - 0.75 5811 D311221  NMTB50-SLN21/2-4.50 10 5 156 1.69 25 1-14x7/8 63 EMA-MTI-ISB  EMA-MT2-15B  EMA-MT3-15B | EMA-MT4-15B  EMA-MT5-15B  EMA-MT6-15B 2-1/2 EMA-MTI-28B  EMA-MT2-28B | EMA-MT3-28B  EMA-MT4-28B  EMA-MT5-28B  EMA-MT6-28B

29 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 30




HOLDING SYSTEM

mluestar

B Mill arbor - Straight shank milling machine arbors

D561030 172" D361036 12"
D561031 5/8" D561037 5/8"
D561032 3/4" D561038 3/4"
0O s
D561033 7/8" D561039 7/8"
D561034 " D561040 1"
L D561035 1-1/4" D561041 1-1/4"

B Mill arbor - Morse taper stub milling machine arbors

A T Y

D561020 D561028
D561021 127 D561029  MS3 | 23825 3175
MS2 17.78
D561022 15875 D561030 3
MS D561023 254 | D561031 13
> ey
g - —|- AN D561024 13 D561032 16
I I a = i .
1 =" D561025 D561033 MS4 31.267 22
! v £ D MS3 | 23825
; i D561026 2 D561034 27
L & B D561027 254 D561035 32

B Mill arbor - R8 stub milling machine arbors

Model No. Type D1(mm) L1(mm)

D551010 RS8-13
D551011 R8-16 16 63 201
By — = D551012 R8-22 2 63 206

a
3 D551013 RS8-1" 254 50.8 193
e 16!51,, | | — . D551014 R8-27 27 63 211
101.6 L1 D551015 RS8-1-1/4" 31.75 50.8 196
B D551016 R8-32 32 63 215

B Mill arbor - NT milling machine arbor

D571010 NT30-13
D571011 NT30-16 16 ‘ 201
D571012 NT30-22 2 206
D571013 NT30-1" NT30 254 ‘ 174
D571014 NT30-27 27 211
D571015 NT30-1-1/4" 3175 ‘ 177
D571016 NT30-32 32 215
| D571110 NT40-13 13 ‘ 227
D571111 NT40-16 16 229
D571112 NT40-22 NT40 2 ‘ 234
D571113 NT40-27 27 239
D571114 NT40-32 32 ‘ 243

HOLDING SYSTEM

@ Machine tool accessory

ZA

D581010
D581011
D581012
D581013
D581014
D581015
D581016
D581110
D581111
D581112
D581113
D581114

BT30-13
BT30-16
BT30-22
BT30-1"
BT30-27
BT30-1-1/4"
BT30-32
BT40-13
BT40-16
BT40-22
BT40-27
BT40-32

BT30 ‘

BT40 ‘

16
22
254
27
31.75

181
186
154
191
157
195
200
202
207
212
216

Model No. Model No.
EMAS-R8-01 = 16mm 8 148 EMAS-R8-06 172" 6.35 150
EMAS-R8-02  22mm 10 155 EMAS-R8-07 ‘ 3/4" 7.94 154
_l - EMAS-R8-03  27mm 12 160 | EMAS-R$-08  7/8" 8.7 155
E | 3]» = T EMAS-R8-04  32mm 14 166  EMAS-R8-09 ‘ i 9.53 155
B_ jL- ——— EMAS-R8-05 = 40mm 16 170 EMAS-R8-10 = 1-1/4" 12.7 156
& EMAS-R8-11 ‘ 1-1/2" 15.88 163
B Mill arbor - Straight shank shell end mill arbor
— _
a} le:. v[
S
L

S S 2 A 2 R R S A S A

31 www.dIbluestar.com B E-mail: info@dibluestar.com () TEL: +86-411-3975 3089 for Customer Service

EMAS-C-01 EMAS-C-11 EMAS-C-21 EMAS-C-31 EMAS-C-41 EMAS-C-51 172"
EMAS-C-02 12 16 | EMAS-C-12 20 32 EMAS-C22 32 ‘ 16  EMAS-C-32 ‘ 40 32 | EMAS-C-42 63 27 | EMAS-C-52 12" | 1-1/4"
EMAS-C-03 12 22 EMAS-C-13 20 40 | EMAS-C-23 32 22 EMAS-C-33 40 40  EMAS-C-43 63 32 EMAS-C-53 | 12" | 1-122"
EMAS-C-04 16 13 EMAS-C-14 25 13 EMAS-C24 32 ‘ 27 EMAS-C-34 ‘ 40 50  EMAS-C-44 63 40 | EMAS-C-54 34" | 12"
EMAS-C-05 16 16 | EMAS-C-15 25 16  EMAS-C:25 32 32 EMAS-C:35 40 60  EMAS-C-45 63 50 | EMAS-C-55 | 3/4" | 58"
EMAS-C-06 16 22 EMAS-C-16 25 22 EMAS-C26 32 ‘ 40  EMAS-C-36 ‘ 50 22 EMAS-C-46 63 60  EMAS-C-56  3/4" | 3/4"
EMAS-C-07 16 27 | EMAS-C-17 25 27 | EMAS-C27 32 50  EMAS-C-37 50 27 EMAS-C-47 12" | 1/2" | EMAS-C-57 @ 3/4" 78"
EMAS-C-08 20 13 EMAS-C-18 25 32 EMAS-C-28 32 ‘ 60  EMAS-C-38 ‘ 50 32 EMAS-C-48 | 12" | 58" | EMAS-C-58 3/4" g
EMAS-C-09 20 16 | EMAS-C-19 25 40 | EMAS-C-29 40 16  EMAS-C-39 50 40 EMAS-C-49 12" | 3/4" | EMAS-C-59 & 3/4" | 1-1/4"
EMAS-C-10 20 22 EMAS-C20 25 50 | EMAS-C-30 40 ‘ 22 EMAS-C-40 ‘ 50 50 | EMAS-C-50 12"  7/8"  EMAS-C-60 3/4"  1-12"

M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 32

=
o
%
%
(&)
=
3
o
o
=

MILLING, LATHE, GRINDING ACCESSORY

VICE & WORKHOLDING

WORKSHOP EQUIPMENT



Blﬁémsu Sﬁi’ HOLDING SYSTEM

HOLDING SYSTEM @ Machine tool accessory

[
! =
| w
&
. . ‘ . .
B Mill arbor - Morse taper shell end mill arbors (draw bar type & tang type) ‘ B Mill arbor - NMTB/FMA face mill arbor &
‘ 2
—
| S
‘ 7:24 K1 K2 =
MS NO. W Order No. D d Order No. D !
— [
— J EMAS-MS4-11 13 EMAS-MS4-35 12" | &
/ l L == = Optiona Q
;-\ = &l EMAS-MS4-12 16 EMAS-MS4-36 5/8" I a 7
— q | - i)
L EMAS-MS4-13 22 EMAS-MS4-37 3/4" Draw Bar Thread: - 8
! NMTB30 1/2-13 <
el 31267 27 el 11267 78 ‘ NMTB40 5/8™11 L L | Inner Hexagon Spanner 2
B
w
EMAS-MS2-02 1778 16 EMAS-MS2-26 1778 5/8" EMAS-MS4-17 50 EMAS-MS4-41 1-1/2" : D281010 NMTB30-FMA3/4-1.31 2.687 0.688 0.178 0.312 =
. . <C
EMAS-MS2-03 22 EMAS-MS2-27 3/4" EMAS-MS5-18 16 EMAS-MS5-42 172" | D281011 NMTB30-FMAI-1.31 2.687 131 ‘ 0.787 1 2 0.178 ‘ 0.375 —
()
EMAS-MS2-04 27 EMAS-MS2-28 /8" EMAS-MS5-19 22 EMAS-MS5-43 5/8" : D281012 NMTB30-FNA11/4-1.44 2.687 1.44 0.866 1.25 2.56 0.263 0.5 =
—
EMAS-MS3-05 13 EMAS-MS3-29 12" EMAS-MS5-20 27 EMAS-MS5-44 3/4" ‘ D281110 NMTB40-FMA3/4-1.48 3.687 1.48 \ 0.688 075 175 0.178 \ 0312 =
EMAS-MS3-06 16 EMAS-MS3-30 5/8" EMAS-MS5-21 14399 32 EMAS-MS5-45 14399 718" ! D281111 NMTB40-FMA1-1.5 3.687 1.5 0.787 1 2 0.178 0375
. 5 |
EMAS-MS3-07 23805 22 EMAS-MS3-31 23805 3/4" EMAS-MS5-22 40 EMAS-MS5-46 1" ‘ D281112 NMTB40-FMA11/4-1.79 3.687 1.79 ‘ 0.866 1.25 2.56 0.263 ‘ 0.5 g
! ! =
EMAS-MS3-08 27 EMAS-MS3-32 7/8" EMAS-MS5-23 50 EMAS-MS5-47 1-1/4" I D281113 NMTB40-FMA11/2-1.73 3.687 1.73 1 1.5 3.15 0.35 0.625 5‘
I =
EMAS-MS3-09 32 EMAS-MS3-33 1" EMAS-MS5-24 60 EMAS-MS5-48 1-12" | =
o
EMAS-MS3-10 40 EMAS-MS3-34 1-1/4" EMAS-MS5-49 2" | =
I . . . . o3
| B Mill arbor - NMTB/FMA face mill arbor B Mill arbor - Morse taper combi shell w
| end mill arbors =
. . ‘
B Mill arbor - NT Shell end mill arbors ‘ _
\ i
| E
| =
- ‘ =
o
[ i | =
k-] | wn
[ i il <
3 [ =
| Ll |
. “ L =
1 ‘ " I L
| ! ]
! rr——————_' 'r 1 | | -
—n—-——-— | - =
=gl
EMAS-NT30-01 635 139.5 ‘ LL_——'————%—_IIJ_‘
| 7:24 MS.NO =
EMAS-NT30-02 16 8 126 5/8 7.14 140.5 | DIN2080-NT40/NT50 N
| o
EMAS-NT30-04 27 12 134 718 8.7 145 - 3|3 EMAC-MS2-01 EMAC-MS3-20 12"
NT30 31.75 ‘
EMAS-NT30-05 32 14 141 1 9.53 145 I EMAC-MS2-02 s 16 EMAC-MS3-21 5/8"
| ]
EMAS-NT30-06 40 16 150 1-1/4 12.7 146 | LJ EMAC-MS2-03 22 EMAC-MS3-22 « 3/4"
M
EMAS-NT30-07 50 18 155 1-172 15.88 153 I L L1 EMAC-MS2-04 27 EMAC-MS3-23 78"
I
EMAS-NT30-08 2 19.05 180 | EMAC-MS3-05 13 EMAC-MS3-24 1"
EMAS-NT40-10 22 10 156 58 7.14 165.5 : D451010 = NT40-FMB16-35 EMAC-MS3-07 ~ MS3 2 EMAC-MS4-26 12"
EMAS-NT40-11 27 12 129 3/4 7.94 169 | D451011  NT40-FMB22-35 22 43 19 35 EMAC-MS3-08 27 EMAC-MS4-27 5/8"
EMAS-NT40-12 0 " 32 14 178 718 8.7 170 : D451012  NT40-FMB27-35 27 58 21 35 EMAC-MS3-09 32 EMAC-MS4-28 3/4"
NT. 45 I
EMAS-NT40-13 40 16 182 1 9.53 170 | D451013  NT40-FMB32-50 32 78 24 50 EMAC-MS4-10 16 EMAC-MS4-29 Jiss 7/8"
EMAS-NT40-14 50 18 187 1-1/4 12.7 171 ! D451014  NT40-FMB40-60 40 80 27 60 EMAC-MS4-11 22 EMAC-MS4-30 "
I
EMAS-NT40-15 60 20 209 1-12 15.88 178 ‘ D451110  NT50-FMB16-45 16 38 17 45 EMAC-MS4-12  MS4 27 EMAC-MS4-31 1-1/4"
EMAS-NT40-16 2 19.05 205 I D451111  NT50-FMB16-100 16 38 17 100 EMAC-MS4-13 32 EMAC-MS4-32 1-12"
|
EMAS-NT50-17 16 8 205 12 6.35 198 | D451112  NT50-FMB22-45 22 43 19 45 EMAC-MS4-14 40 EMAC-M$4-33 a
EMAS-NT50-18 22 10 208 58 7.14 199 \ D451113  NT50-FMB22-100 22 48 19 100 EMAC-MS5-15 22 EMAC-MS5-34 5/8"
|
EMAS-NT50-19 27 12 211 3/4 7.94 202 | D451114  NT50-FMB27-45 27 58 21 45 EMAC-MS5-16 27 EMAC-MS5-35 3/4"
EMAS-NT50-20 N - 32 14 215 /8 8.7 203 | D451115  NT50-FMB27-100 27 58 21 100 EMAC-MS5-17 32 EMAC-MS5-36 78"
EMAS-NT50-21 : 40 16 219 1 9.53 203 : D451116  NT50-FMB32-45 32 78 24 45 EMAC-MS5-18  MS5 40 EMAC-MS5-37 ~ MS5 il
EMAS-NT50-22 50 18 224 1-1/4 12.7 204 | D451117  NT50-FMB32-100 32 78 24 100 EMAC-MS5-19 50 EMAC-MS5-38 1-1/4"
EMAS-NT50-23 60 20 246 1-12 15.88 211.5 ! D451118  NT50-FMB40-60 40 80 27 60 EMAC-MS5-39 1-12"
|
EMAS-NT50-24 2 19.05 238.5 ‘ D451119  NT50-FMB40-100 40 80 27 100 EMAC-MS5-40 2"
I
|
|
I
|
|
33 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service : M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 34
T
|



Blﬁémsu Sﬁi’ HOLDING SYSTEM

HOLDING SYSTEM @ Machine tool accessory

|
! =
| w
1
. . . ‘
B Mill arbor - R8 combi shell end mill arbors ‘ &
‘ 2
—
\ DIN228 IS]
| ri [=
‘ /
! >
| N = o
Model No. Model No. S|T|a 8
|
EMAC-R8-01 EMAC-R8-07 12" ‘ g
=)
EMAC-R8-02 16 EMAC-R8-08 5/8" ‘ <
| o)
L EMAC-R8-03 22 EMAC-R8-09 34" | £
B - EMAC-R8-04 27 EMAC-R8-10 1 \ =
- | S
n EMAC-R8-05 32 EMAC-R8-11 1-1/4" | i
— ‘ D431010 | NT30-MTAL-45 50 12065 1134 D431113 | NT40-MTA4-95 31267 1884 =
()
! D431011  NT30-MTA2-60 ‘ MT2 30 50 17.78 128.4 D431114  NT40-MTA5-105 =~ MT5 61 63 44399 1984 =
| =
. . . ‘ D431012 | NT30-MTA3-75 MT3 36 50 23825 1434 D431210 | NT50-MTAL-45 MT1 25 975 12065 1718 =
B Mill arbor - NT combi shell end mill arbors ‘
D431013  NT30-MTA4-95 ‘ MT4 48 50 31267 1634 D431211  NT50-MTA2-60 MT2 32 975 17.78 186.8
|
| D431110 | NT40-MTAL-45 MT1 2 63 12065 = 1384 D431212 | NT50-MTA3-65 MT3 40 975 23825 1918 g
o
\ D431111  NT40-MTA2-60 ‘ MT2 30 63 17.78 153.4 D431213  NT50-MTA4-70 MT4 48 975 31267 19638 =
L | T
- - | D431112 | NT40-MTA3-75 MT3 36 63 23825 1684 D431214 | NT50-MTA5-105 =~ MT5 61 975 44399 = 2318 =
o
I =
\ o3
'\\ <! | E
— ‘ B Adapter & sleeve - NT/MTB morse B Adapter & sleeve - NT/MT Morse =
7 I i
i | taper adapter (draw bar type) taper adapter (end openning type) _
\ . =
\7:24 - ‘ E
= | o
| =
| N \,;’4 -
o
| q o
§ <
13 EMAC-NT30-001 EMAC-NT40-001 | EMAC-NT50-001 5/8" EMAC-NT30-009 ~ EMAC-NT40-009  EMAC-NT50-009 : =
16 EMAC-NT30-002 EMAC-NT40-002  EMAC-NT50-002 3/4" EMAC-NT30-010 =~ EMAC-NT40-010 = EMAC-NT50-010 \
22 EMAC-NT30-003 EMAC-NT40-003 | EMAC-NT50-003 /8" EMAC-NT30-011 EMAC-NT40-011  EMAC-NT50-011 :
27 EMAC-NT30-004  EMAC-NT40-004  EMAC-NT50-004 1 EMAC-NT30-012 EMAC-NT40-012 | EMAC-NT50-012 \
32 EMAC-NT30-005 EMAC-NT40-005 EMAC-NT50-005 1-1/4" EMAC-NT30-013 EMAC-NT40-013 EMAC-NT50-013 ‘ DIN228
\ =17:24 e — _.7:24 NO. S
40 EMAC-NT30-006 EMAC-NT40-006 ~ EMAC-NT50-006 1-1/2" EMAC-NT30-014  EMAC-NT40-014 = EMAC-NT50-014 ‘ | / 2 h
50 EMAC-NT30-007 EMAC-NT40-007 | EMAC-NT50-007 2 EMAC-NT30-015 ~ EMAC-NT40-015  EMAC-NT50-015 ! !/
[ %‘1%‘ o
| —
|
. . . |
B Mill arbor - Accessories for comb shell end mill arbors ‘ m
‘ L
|
Screws Spanners Driver rings ‘
| T S TS Py e T ey
EMAC-AS01 EMAC-APOL EMAC-ADO1 \ D441010 NT30-MTB1-50 12.065 118.4 D441020  NT30-MTL-75 12.065 75
16 M8 EMAC-AS02 16 EMAC-AP02 16 EMAC-AD02 ‘ D441011 NT30-MTB2-50 MT2 = 32 o 7 %0 us4 D441021  NT30-MT2-100  MT2 30 a8 100
| .
22 M10 EMAC-AS03 22 EMAC-AP03 22 EMAC-ADO3 | D441012  NT30-MTB3-70 MT3 40 23825 70 | 1384 D441022  NT30-MT3-130  MT3 36 23.825 130
27 M12 EMAC-AS04 27 EMAC-AP04 27 EMAC-ADO4 ! D441013 NT30-MTB4-145 MT4 48 31267 145 2134 D441023 NT30-MT4-162.6  MT4 48 31267  162.6
\
32 M16 EMAC-AS05 32 EMAC-AP05 32 EMAC-ADO5 | D441110 | NT40-MTB1-50 MTL 25 12065 50 1434 D441024  NT40-MTL-80 MT1 24 12.065 80
40 M20 EMAC-AS06 40 EMAC-AP06 40 EMAC-AD06 \ D441111 NT40-MTB2-50 MT2 32 17.78 50 | 1434 D441025  NT40-MT2-85 MT2 30 17.78 85
|
50 M24 EMAC-AS07 50 EMAC-AP07 50 EMAC-ADO7 | D441112  NT40-MTB3-65 MT3 = 40 63 | 23825 65 | 1584 D441026  NT40-MT3-100 = MT3 36 4445 23825 100
60 M30 EMAC-AS08 60 EMAC-AP08 60 EMAC-ADO08 \ D441113 NT40-MTB4-95 MT4 48 31267 95 1884 D441027  NT40-MT4-145  MT4 48 31.267 145
|
12" 1/4-28 EMAC-AS09 12" EMAC-AP09 172" EMAC-AD09 ‘ D441114  NT40-MTB5-150 MT5 61 44399 150 | 2434 D441028  NT40-MT5-225 ~ MT5 61 44399 225
3/4" 3/8-24 EMAC-AS10 3/4" EMAC-AP10 3/4" EMAC-AD10 \ D441210 NT50-MTB1-45 MT1 25 12065 45 1718 D441029  NT50-MT1-127 ~ MTL 25 12.065 127
1" 1/2-20 EMAC-AS1L 1 EMAC-AP1L 1" EMAC-AD11 : D441211  NT50-MTB2-60 MT2 32 1778 60 | 1868 D441030  NT50-MT2-127 ~ MT2 32 17.78 127
2 1-1/4" 5/8-18 EMAC-AS12 1-1/4" EMAC-AP12 1-1/4" EMAC-AD12 ‘ D441212 NT50-MTB3-65 MT3 40 975 | 23825 65 | 1918 D441031  NT50-MT3-127  MT3 40 69.85 | 23.825 127
1-1/2" 3/4-16 EMAC-AS13 112" EMAC-AP13 1172 EMAC-AD13 ‘ D441213 NT50-MTB4-65 MT4 = 48 31.267 65 | 1918 D441032  NT50-MT4-127 ~ MT4 48 31.267 127
|
2" 1-14 EMAC-AS14 2" EMAC-AP14 2" EMAC-AD14 ‘ D441214 NT50-MTB5-105 MT5 61 44399 105 2318 D441033  NT50-MT5-180 ~ MT5 60 44.399 180
|
|
|
\
|
|
35 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service : M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 36
[
|



\NDUSTR\AL SUPPLY

uestar

B Adapter & sleeve - NMTB/MTA morse taper adapter(with tang)

HOLDING SYSTEM

Draw Bar Thread:
NMTB30 1/2”-13
NMTB40 5/8”-11
NMTB50 1”-8

[J Draw bar type is optional

D291010
D291011
D291012
D291110
D291111

D291112
D291113
D291210

D291211
D291212

D291213

B Adapter & sleeve - NT/NT adapter

NMTB30-MTA1-1.00
NMTB30-MTA2-2.13
NMTB30-MTA3-2.81
NMTB40-MTA1-0.94
NMTB40-MTA2-2.06
NMTB40-MTA3-2.22
NMTB40-MTA4-3.06
NMTB50-MTA2-1.88
NMTB50-MTA3-2.38
NMTB50-MTA4-3.25
NMTB50-MTA5-4.61

3.687
4.817
5.497
4.627
5.747
5.907
6.747
6.880
7.380
8.250
9.610

1.00
213
2.81
0.94
2.06
2.22
3.06
1.88
2.38
3.25
4.61

1.000
1.250
1.563
1.000
1.250
1.563
1.940
1.250
1.563
1.940
2.750

0.475
0.700
0.938
0.475
0.700
0.938
1.231
0.700
0.938
1.231
1.748

D441030 44.45 31.75
D441031 50 30 69.85 3175 145
D441032 50 40 69.85 44.45 45

B Adapter & sleeve - NT-NT adapter (with draw bar)

B Adapter & sleeve - R8 to MT sleeves

I T T T

D441040 50 3175 44.45

D441041 40 40 63 44.45 44.45 ‘ 100
D441042 50 30 50 3175 69.85 50
D441043 50 40 70 44.45 69.85 ‘ 70
D441044 50 50 97 69.85 69.85 120

D441050 1 12.065
D441051 2 17.78
D441052 3 23.825
D441053 4 31.267

HOLDING SYSTEM

@ Machine tool accessory

T TN N T

D911110 V40-8
D911111 V40-10 10 =
D911112 V40-12 12 -
D911113 V40-16 1 16 =
D911114 V40-20 20 -
. D911115 V40-25 40 25 - 80
° D911116 V40-32 32 -
D911117 V40-MTAL = 1
MTNO. D911118 V40-MTA2 - 2
FIG?2 o @ D911119 V40-MTA3 ’ - g
D911120 V40-MTA4 - 4
D911210 V50-8 8 -
D911211 V50-10 10 -
D911010 V32-8 D911213 V50-16 16 -
D911011 V32-10 10 = D911214 V50-20 ! 20 =
D911012 V32-12 . 12 - D911215 V50-25 o 25 - @
D911013 V32-16 16 = D911216 V50-32 32
D911014 V32-20 32 20 - 80 D911217 V50-40 40 -
D911015 V32-25 25 = D911218 V50-MTAL = 1
D911016 V32-MTA1 - 1 D911219 V50-MTA2 - 2
D911017 V32-MTA2 2 - 2 D911220 V50-MTA3 g = 3
D911018 V32-MTA3 - 3 D911221 V50-MTA4 - 4
B Adapter & sleeve - Morse taper sleeve with tang
ﬂ\
MT sl a

Morse taper sleeve draw bar

F201010 S/T1-0

F201110 S/T2-1 ‘ 1
F201210 S/T3-1 1
F201211 S/T3-2 2
F201310 S/T4-1 1
F201311 SIT4-2 2
F201312 S/T4-3 3
F201410 S/T5-1 1
F201411 SIT5-2 2
F201412 S/T5-3 3
F201413 SIT5-4 4
F201510 S/T6-1 1
F201511 S/T6-2 2
F201512 S/T6-3 3
F201513 S/T6-4 4
F201514 S/T6-5 5

18.6
24.1
24.7

316

324

455

63.8

9.045
12.065
12.065

17.78
12.065

17.78
23.825
12.065

17.78
23.825
31.267
12.065

92
99
112

124

140

156

171

100
240
120
600
500
380
1590
1490
1360
950
3840

17.78
23.825
31.267
44.399

218

3730
3850
3120
1950

M E-mail: info@dlIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

M E-mail: info@dlIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

www.dlbluestar.com

38

=
w
>
&
[}
=
]
o
o
=

MILLING, LATHE, GRINDING ACCESSORY

VICE & WORKHOLDING

WORKSHOP EQUIPMENT



Blﬁémsu Sﬁi’ HOLDING SYSTEM

HOLDING SYSTEM @ Machine tool accessory

i .
| .
B Adapter & sleeve - Morse taper extension socket } B Adapter & sleeve - Morse taper center sleeve z
| =
| 5
F211010 S/TI-1L 12.065 : (MENOS)
F211011 S/T1-2L 1 2 30 17.78 160 400 \ B %
F211012 S/TI-3L 3 36 23.825 181 400 : ® %
F211110 ST2-1L 1 20 12.065 160 290 | =)
F211111 S/T2-2L 5 2 30 17.78 175 500 : Ll OrderNo. | Type M;(O’V"SF-) ) %
F211112 S/T2:3L 3 36 23.825 196 600 | =
P23 S/T2-4L 4 48 31267 21 1430 ‘ F231510 | 405 | 3 23825 o
F211210 | ST3-IL 1 20 12.065 175 410 : S M dimm) GZEIER || €02 4 el £
F211211 S/T3-2L 2 30 17.78 194 620 ‘ F231610 | 5073 3 23.825 =
— P—— ; 5 p pp— po— p— : F231010 271 17780 12.065 F231611 | 504  MESO 4 86 50 31.267 %
! E211213 — 4 a8 31267 240 1550 | F231110 3/ s 1 o s | 1206 F231612  50/5 5 44399 =
! ; — P—— . . o p— p— : F231111 | 32 2 " 17.780 BT so4 4 00 o 31.267 .
| g E211310 STAIL . 20 12,065 200 210 | F231210 42 e 2 s a1a TR F231711 | 60/5 5 ) 44.399 2
i £ — —— ) - — _— p— : F231211 | 473 3 23.825 g0 T4 4 o 31.267 %l
! a 211312 STAAL s 3 23,805 240 1270 ‘ F231310 52 2 17.780 F231811 | 70/5 5 44399 =
- I — P—— 4 . p P ps e : F231311 | 53 MS5 3 77 705 4439 23825 F231910  80/4 4 110 31.267 %
E211314 TS s o 44399 300 3180 ‘ F231312 s/ 4 31.267 F231911 | 80/S  MES0 5 80 44.399 g
N \ —— —— . - - o po— : F231410 63 3 23.825 F231912  80/6 6 66.348 >
N W R 211410 o ) 20 1778 a7 2000 | F231411  6/4 MS6 4 110 103.5 | 63348 31.267 3000 905 5 . 00 44399 _
N 1 R —— — . - —_— - p— | F231412  6/5 5 44.399 F232011  90/6 6 66.348 g
=R ! '5_ F211412 S/TS-4L 5 4 48 31.267 300 2930 : =
= \ F211413 S/T5-5L 5 63 44399 335 4180 \ . . E
= Fall414 | SITS-6L 6 85 63,348 403 6700 | B CNC tooling - BT/SK high speed collet chuck =
i F211510 S/T6-2L 2 30 17.78 309 4250 | é
{ F211511 S/T6-3L ) 3 36 23.825 330 4520 : Specifications =
d F211512 S/T6-4L 4 48 31.267 355 5180 | O Max speed: 30000 r.p.m G2.5 G g d &
F211513 S/T6-5L 5 63 44399 390 6430 ‘ Optional = A
: c% 3 &
[ E - f ; % @ o
B Adapter & sleeve - Morse taper sleeve | T —
: Order No. Type D1 L1
: DOII0I  BT30-SK06-80 20 60 ‘ 80 2:6 DOIISIT | BT40-SK20-90 320
r vmor/ o o \ DOIINIO | BT30-SK10-70 27 50 70 2:10 DOIISI2  BT40-SK20-120 48 95 120 320
m : N— : DO BT30-SK10-95 27 75 ‘ 95 210 DO11910 | BT40-8K25-70 54 45 70 6254
” I : DOII210 | BT30-SK16-60 40 35 60 316 DOII9I  BT40-SK25-95 54 70 95 6254
L ) ‘ D021 BT30-SK16-80 40 60 ‘ 80 3-16 DOII9I2 | BT40-SK25-110 54 85 110 6-25.4
| DOII212 | BT30-SK16-100 40 80 100 316 D0I12010 | BTS50-SK06-70 20 35 70 26
F221010 12.065 0.10 : DOII410  BT30-SK25-85 54 65 85 6254 DOI2110  BT50-SK10-100 27 65 100 2:10
F221110 31 \ 1 " ‘ 12.065 © 0.015 0.24 : DOIISI0 | BT40-SK06-65 20 40 ‘ 65 26 DOI2111 | BTS50-SK10-130 27 95 130 210
F221111 32 2 17.780 0.12 | DOIISII | BT40-SK06-85 20 60 85 26 DOI2112 | BT50-SK10-150 27 115 150 2-10
F221210 4/ 1 ‘ 12.065 0.63 \ DOII6I0  BT40-SK10-55 27 30 ‘ 55 2:10 D012210 | BTS0-SK16-100 40 65 100 316
F221211 4n 4 2 31.6 17.180 90 0.50 : D061 | BT40-SK10-80 27 55 80 210 DOI2211 | BT50-SK16-130 40 95 130 3-16
F221212 43 3 ‘ 23.825 o0 0.38 : DOII6I2  BT40-SK10-100 27 75 ‘ 100 2:10 DOI2212 | BTS0-SK16-150 40 115 150 316
F221310 52 2 17780 1.49 ‘ DOII6I3 | BT40-SK10-150 27 125 150 210 DO12310  BT50-SK20-105 48 70 105 320
F221311 513 5 3 447 ‘ 23.825 110 136 | DOI1710 = BT40-SK16-55 40 30 ‘ 55 3-16 DOI12311 | BT50-SK20-135 48 100 135 320
F221312 54 4 31.267 0.95 : DOII7I | BT40-SK16-80 40 55 80 316 DO0I2312  BTS0-SK20-165 48 130 165 320
F221410 6/3 3 ‘ 23.825 3.58 | DOII712  BT40-SK16-100 40 75 ‘ 100 3-16 DO12410 | BTS0-SK25-100 54 65 100 6254
F221411 6/4 6 4 638 31.267 130 0.025 312 ‘ DOI1713 | BT40-SK16-150 40 125 150 316 DOI2411 | BTS0-SK25-130 54 95 130 6-25.4
F221412 6/ 5 ‘ 44399 1.95 : DOII8I0  BT40-SK20-60 48 35 ‘ 60 320 DOI12412 | BTS0-SK25-150 54 115 150 6254
|
|
|
\
|
39 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service : M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 40
T
|



HOLDING SYSTEM @ Machine tool accessory

Blﬁémsu Sﬁi’ HOLDING SYSTEM

[
! =
\ =
w
. ‘ .

B CNC tooling - BT ER collet chuck ‘ B CNC tooling - BT ER collet chuck &
| =]
o
| [=

| __-___

p KL 1 \ D021210 BTS0<ER16-70 171.8 =
| o~
| DO021211 BT50xER16-90 90 191.8 =

w
i | D021212 BTS50xER16-105 105 206.8 16 28 M10x1.5P =
a o (]
= = = + = IS : D021213 BT50%ER16-135 135 236.8 g
| D021214 BT50xER16-165 165 266.8 =
=
Draw Bar Thread: ! : DO021215 BT50xER20-70 70 171.8 g
) BT30 M12x1.75 :
Optional e 2 0 | D021216 BT50xER20-90 90 191.8 E
BT50 M24x3 i 3 ! D021217 BT50XER20-105 105 206.8 <
[ .
‘ D021218 BT50<ER20-135 135 236.8 20 34 M12x1.75P g
I D021219 BT50<ER20-150 150 251.8 =
| =
I D021221 BT50<ER20-200 200 301.8 @
\ =
Order No. Type 1 L D d1 d2 T | D021222 BT50xER25-70 70 1718 =]
o
D021010 BT30-ER16-60 60 108.4 I D021223 BT50XER25-105 105 206.8 69.85 ) " <
5
DO021011 BT30-ER16-70 70 118.4 ‘ D021224 BT50<ER25-135 135 236.8 S
16 28 M10x1.5P I =
D021012 BT30-ER16-100 100 148.4 \ DO021225 BT50XER25-165 165 266.8 o3
w
D021013 BT30-ER16-120 120 168.4 ‘ D021226 BT50-ER32-70 70 171.8 =)
| M16x2.0P =
D021014 BT30-ER20-60 60 108.4 ‘ D021227 BT50ER32-80 80 181.8
D021015 BT30-ER20-70 70 118.4 ! D021228 BT50XER32-100 100 201.8 =
20 34 MI12x1.75P | 32 50 G
D021016 BT30-ER20-100 100 148.4 ‘ D021229 BTS50xER32-120 120 2218 =
D021017 BT30-ER20-135 135 183.4 31.75 I D021230 BT50<ER32-150 150 251.8 3
‘ w
D021018 BT30-ER25-60 60 108.4 | D021231 BT50XER32-200 200 301.8 %
2=
D021019 BT30-ER25-70 70 118.4 [ D021232 BT50xER40-80 80 181.8 Z]
25 42
[ o
D021020 BT30-ER25-100 100 148.4 D021233 BT50<ER40-100 100 201.8 =)
M16x2.0P ! M20x2.0P =
D021021 BT30-ER25-135 135 183.4 \ D021234 BT50xER40-120 120 2218 40 63
D021022 BT30-ER32-70 70 118.4 » ) : D021235 BT50<ER40-135 135 236.8
5
D021023 BT30-ER32-100 100 148.4 \ D021236 BT50<ER40-150 150 251.8 M24x2.0P
D021024 BT30-ER40-80 80 128.4 40 63 M20%2.0P :
D021110 BT40-ER16-60 60 125.4 ‘
DO21111 BT40-ER16-70 70 135.4 ! : : :
| B CNC tooling - BT/FMC face mill arbor with coolant
DO21112 BT40-ER16-100 100 165.4 |
16 28 M10x1.5P
DO21113 BT40-ER16-120 120 185.4 !
|
DO21114 BT40-ER16-125 125 190.4 |
D021115 BT40-ER16-150 150 215.4 | 7:24
I MAS403-BT40
DO21116 BT40-ER20-70 70 135.4 | MAS403-BT50
DO21117 BT40-ER20-100 100 165.4 |
20 34 MI12x1.75P |
D021118 BT40-ER20-135 135 200.4 ‘ 1=
DO21119 BT40-ER20-150 150 215.4 | Optional
DO021120 BT40-ER25-70 70 135.4 : | !
I Ll
D021121 BT40-ER25-100 100 1654 44.45 | | = I =
A
DO021122 BT40-ER25-120 120 185.4 25 42 \ S
| - I
D021123 BT40-ER25-125 125 190.4 ‘ Pull Studs He[)l(gg;m
Spanner
DO021124 BT40-ER25-150 150 215.4 M16%2.0P \ P
|
DO021126 BT40-ER32-100 100 165.4 “ % [ D051010 BT40-FMC16-35 DO51112 BT50-FMC22-100 100
|
D021127 BT40-ER32-120 120 185.4 | DO51011 BT40-FMC22-35 22 48 19 35 DO51113 BT50-FMC27-55 27 58 21 ‘ 55
DO021128 BT40-ER32-150 150 215.4 \ D051012 BT40-FMC27-35 27 58 21 35 DO51114 BT50-FMC27-100 27 58 21 100
D021129 BT40-ER40-80 80 145.4 : DO051013 BT40-FMC32-50 32 78 24 50 DO51115 BT50-FMC32-50 32 78 24 ‘ 55
DO021130 BT40-ER40-100 100 165.4 | D051014 BT40-FMC40-60 40 80 27 60 DO51116 BT50-FMC32-100 32 78 24 100
40 63 M20%2.0P
DO21131 BT40-ER40-120 120 185.4 ! DO51110 BT50-FMC16-35 16 38 17 35 DO51117 BT50-FMC40-55 40 80 27 ‘ 55
|
DO021132 BT40-ER40-150 150 2154 ‘ DO51111 BT50-FMC22-55 22 48 19 55 DO51118 BT50-FMC40-100 40 80 27 100
I
|
|
I
|
|
41 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service : M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 42
T
|



==Iﬁ>éwsu sai’ HOLDING SYSTEM

HOLDING SYSTEM @ Machine tool accessory

[
! =
| w

&
. . ‘ . .

B CNC tooling - BT/FMA face mill arbors ‘ M CNC tooling - BT/FMB face mill arbor &
‘ 2
| IS]

o
| [=
|
I >
| o~

o
‘ 7]

7:24 — | | g

= ‘ 2

b | &)
=

| =

— - | \ =

1 B

| S

| Optional i

/s

| =
H <T
1l ‘ -
— L1 L2 | . ; ‘5\ 2
L - N =
" ‘ \\, D=60 Draw Bar Thread: 4-M16 — h =
! 4 BT30 M12x1.75 (4-M12) Inner =

K2 K1 | BT40 M16x2 L1 L2 Pull Studs Hexagon

BT50 M24x3 T Spanner
! )
\ =

o
| =

o
| o

: D041010 BT30xFMB22-45 1114 0.85 S
Optional | 22 48 18 48 10 =
4-M16 | D041011 BT30xFMB22-60 60 126.4 1.25 3
Draw Bar Thread: -M12) | =)
: BT30 M12x1.75 D041012 BT30xFMB27-45 45 113.4 1.20 e
| =) BTA0 M16x2 L1 L2 [ 27 60 20 58 12
N BT50 M24x3 : | D041013 BT30xFMB27-60 60 128.4 1.35
- Inner k | =
PUllStds M exagon ‘ D041014 BT30xFMB32-45 32 45 78 115.4 22 6.8 14 1.35 =
Spanher | D041110 BT40xFMB22-45 45 128.4 1.45 =
! D041111 BT40xFMB22-60 60 143.4 1.70 3
| w
| D041112 BT40xFMB22-100 22 100 48 183.4 18 48 10 2.20 =
2=
[ o
D031010 BT30xFMA25.4-45 1134 D041114 BT40xFMB22-200 200 283.4 3.10 S
25.4 50 20 452 9.52 ! =
D031011 BT30xFMA25.4-60 60 128.4 | D041115 BT40xFMB27-45 45 130.4 1.60
D031012 BT30xFMA31.75-45 3175 45 60 115.4 22 6.7 12.7 : D041116 BT40xFMB27-60 - 60 o 145.4 2 o8 i 2.00
D031110 BT40-FMA19.05-45 45 127.4 | D041117 BT40xFMB27-90 20 175.4 ' 2.30
19.05 445 17 452 7.92 |
D031111 = BT40-FMA19.05-101.6 101.6 184 ‘ D041118 BT40xFMB27-105 105 190.4 2.50
D031112 BT40xFMA25.4-45 45 130.4 ‘ D041119 BT40xFMB32-45 45 1324 175
32 78 22 6.8 14
D031113 BT40xFMA25.4-60 60 145.4 ! D041120 BT40xFMB32-60 60 147.4 2.10
25.4 50 20 452 9.52 |
D031114 BT40xFMA25.4-90 2 175.4 | D041121 BT40xFMB40-60 40 60 80 150.4 25 8.3 16 2.80
D031115 BT40xFMA25.4-105 105 190.4 \ D041210 BT50xFMB22-45 45 164.8 4.50
|
D031116 BT40xFMA31.75-45 45 132.4 | D041211 BT50xFMB22-90 L) 209.8 5.10
D031117 BT40-FMA31.75-60 60 147.4 [ D041212 BT50xFMB22-150 150 48 269.8 6.80
D031118 BT40xFMA31.75-75 3175 75 60 162.4 22 6.7 127 : D041213 BT50xFMB22-200 " 200 319.8 i s " 7.00
D031119 BT40xFMA31.75-90 2 177.4 | D041214 BT50xFMB22-250 250 369.8 ' 8.00
D031120  BT40-FMA31.75-127 127 214.4 : D041215 BT50xFMB22-300 300 4198 9.20
D031121 BT40xFMA38.10-60 38.1 60 80 150.4 25 8.87 15.87 | D041216 BT50xFMB22-350 350 469.8 10.50
D031122 BT40xFMA50.80-60 50.8 60 98 161.4 36 9.75 19.05 ‘ D041217 BT50xFMB22-400 400 519.8 11.50
I
D031210 BT50xFMA25.4-45 45 166.8 ‘ D041218 BT50xFMB27-50 50 o 171.8 4.60
D031211 BT50xFMA25.4-90 25.4 90 50 211.8 20 452 9.52 ! D041219 BT50xFMB27-90 LY 211.8 5.40
I
D031212 BT50xFMA25.4-150 150 2718 ‘ D041220 BT50xFMB27-150 27 150 271.8 20 5.8 12 7.50
D031213 BT50xFMA31.75-45 45 168.8 I D041221 BT50xFMB27-200 200 321.8 9.50
|
D031214 BT50xFMA31.75-75 3175 75 60 198.8 22 6.7 127 | D041222 BT50xFMB27-250 250 3718 11.00
D031215  BT50xFMA31.75-105 105 228.8 [ D041223 BT50xFMB32-50 50 173.8 5.70
‘ 32 78 22 6.8 14
D031216 BT50xFMA38.10-45 45 171.8 D041224 BT50xFMB32-90 90 213.8 5.80
38.1 80 25 8.87 15.87 I
D031217 BT50xFMA38.10-75 75 201.8 | D041225 BT50xFMB40-50 50 " 176.8 5.20
D031218 BT50xFMAS50.80-45 45 182.8 : D041226 BT50xFMB40-90 w0 2 216.8 25 03 " 6.00
D031219 BT50-FMA50.8-60 50.8 60 98 197.8 36 9.75 19.05 | D041227 BT50xFMB40-105 105 98 231.8 ' 7.20
D031220 BT50xFMAS50.80-75 75 21238 ! D041228 BT50xFMB40F-75 75 110 202.8 26 6.00
|
D031221 BT50xFMAA47.62-75 47.62 75 128.75 208.8 32 125 25.4 ‘ D041229 BT50xFMB60-75 60 75 140 210.8 25 125 25.4 8.50
I
|
|
I
|
|
43 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service : M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 44
T
|



Blﬁémsu Sﬁi’ HOLDING SYSTEM

HOLDING SYSTEM @ Machine tool accessory

|
‘ =
| ]
=
w
. . . |
B CNC tooling - BT CMA combi shell end mill arbor ‘ B CNC tooling - BT MTB morse taper adapter &
| g
=
‘ 3
! FIG:1 =
|
! >
: | =
MAS403-BT40/BT50 8
! 7]
| “ MT No: _ =]
L | —_—)r g s =1
<<
| S
Optional =
| o
=
‘ ==
| (&)
L -3 wi
¥ ‘;\ ‘ |:l_:
I - | <
Pull Studs  FHexae ‘ =
ull Studs cexagon ‘ 2
Span%er I _ FIG:2 =
=
D061010 BT40-CMA16-55 D061110 BT50-CMA16-70 16 32 27 17 70 | DO8I011 BT30-MTB2-60 17.78 60 32 M10x62 0.60 =
= Ol —
| o
D061011 BT40-CMA16-100 16 ‘ 32 27 17 100 Do61111 BT50-CMA16-100 16 32 27 17 ‘ 100 ! DO8I110 BT40-MTB1-45 12.065 45 25 M6%25 1.05 Pull studs Morse arbors %
| =]
D061012 BT40-CMA22-55 22 40 31 19 55 DO61112 BT50-CMA22-70 22 40 31 19 70 | DO81111 BT40-MTB2-45 17.78 45 32 M10x%35 1.85 %
D061013 BT40-CMA22-100 22 ‘ 40 31 19 100 D061113 BT50-CMA22-100 22 40 31 19 ‘ 100 I DO81112 BT40-MTB3-75 23.825 75 40 M12x45 1.30 g
| Extension pullstud =
D061014 BT40-CMA27-55 27 48 33 21 55 Do61114 BT50-CMA27-70 27 48 33 21 70 | DO81113 BT40-MTB4-90 31.267 90 48 M16x45 1.60 o3
Keyless chuck Keyless chuck w
D061015 BT40-CMA27-100 27 ‘ 48 33 21 100 DO61115 BT50-CMA27-100 27 48 33 21 ‘ 100 | D081210 BT50-MTB1-45 12.065 45 25 M6x35 3.80 o
| =
D061017 BT40-CMA32-100 32 ‘ 58 38 24 100 D061117 BT50-CMA32-100 32 58 38 24 ‘ 100 | DO81212 BT50-MTB3-60 23.825 60 40 M12x45 3.90 D081310 MT3 MI2 116 E
D061018 BT40-CMA40-60 40 70 41 27 60 D061118 BT50-CMA40-70 40 70 41 27 70 : DO81213 BT50-MTB4-75 31.267 75 48 M16x45 420 DO81410 MT4 Ml6 120 E
o
D061019 BT40-CMA40-100 40 ‘ 70 41 27 100 DO61119 BT50-CMA40-100 40 70 41 27 ‘ 100 | DO81214 BT50-MTB5-120 44399 120 63 M20x50 430 DO81510 MT5 M24 176 8
‘ a
| =
| 2
H - | . . o
B CNC tooling - BT MTA morse taper adapter ‘ B CNC tooling - BT jacobs taper arbor S
|
|
| <IMAS.BT
‘ - o T Optional
MT Optional ! -~ [ LA, | | e
/ £ ‘ ' 32 -
| |
Y vrrz | | — ‘ 1 EE—— % % E
5| | B st -
| X =" i
BT40 M16x2 Pull Studs ~ Drill Chuck  Keyless Chuck
Pull studs Morse arbors ‘ BT30 M243 e L1 L 12 |
|
Draw Bar Thread: | v ,
e | - --“—-
BT40 M16x2
BT50 M24x3 L ﬂ D : D091310 BT30-JT2-30 100.625 14.199 22.225
Keyless chuck  Keyless chuck |
| D091010 BT30-B10-45 107.90 10.094 14.5 D091312 BT30-JT3-30 109.375 30 1 20.599 30.957
-n-- : D091011 BT30-B12-45 111.90 45 1 12.065 18.5 D091313 BT30xJT33-45 118.80 45 15.850 25.4
D071010 BT30xMTA1-45 93.4 | D091012 BT30-B16-45 117.40 45 15.733 24 D091314 BT30-JT6-30 103.80 30 17.17 254
25 12.065
DO71011 BT30xMTA1-105 153.4 ‘ 105 --“-- : D091013 BT30-B18-45 125.40 45 17.785 32 D091315 BT30xJT6-45 118.80 45 17.170 25.4
DO71110 BT30xMTA2-60 108.4 60 46 . 9 D071710 BT50xMTA1-45 146.8 | DO091110 BT40-B10-45 124.90 45 10.094 14.5 D091410 BT40xJT2-45 132.625 45 14.199 22.225
DO71111 BT30xMTA2-120 168.4 ‘ 120 ‘ DO71711 BT50xMTA1-120 221.8 120 25 12.065 ! D091111 BT40-B12-45 128.00 45 12.065 18.5 D091411 BT40-JT3-45 141.357 45 20.599 30.957
|
DO071210 BT30xMTA3-80 128.4 80 40 23.825 D071712 BT50xMTA1-180 281.8 180 | DO091112 BT40-B16-45 134.40 45 - 15.733 24 D091412 BT40-JT33-30 120.80 30 15.85 25.4
DO071310 BT40xMTA1-45 110.4 ‘ 45 o5 BT D071810 BT50xMTA2-60 161.8 60 I D091113 BT40-B18-45 142.40 45 17.785 32 D091413 BT40xJT33-45 135.80 45 63 15.850 254
3 |
DO071311 BT40xMTA1-120 185.4 120 DO71811 BT50xMTA2-135 236.8 135 32 17.78 | D091114 BT40-B22-45 150.90 45 21.793 40.5 D091414 BT40-JT6-30 120.80 30 17.17 254
D071410 BT40xMTA2-50 115.4 ‘ 50 » 1778 D071812 BT50xMTA2-180 281.8 180 100 | DO091115 BT40-B24-45 160.90 45 23.825 50.5 D091415 BT40xJT6-45 135.80 45 17.170 25.4
. |
DO071411 BT40xMTA2-120 185.4 120 DO071910 BT50xMTA3-65 166.8 65 | D091210 BT50-B10-45 161.30 45 10.094 14.5 D091416 BT40xJT6-105 195.80 105 17.170 254
DO071510 BT40xMTA3-70 135.4 ‘ 70 63 DO071911 BT50xMTA3-150 251.8 150 40 23.825 | D091211 BT50-B12-45 165.30 45 12.065 18.5 D091510 BT50xJT2-45 169.025 45 14.199 22225
DO71511 BT40xMTA3-75 140.4 75 40 23.825 DO071912 BT50xMTA3-180 281.8 180 : D091212 BT50-B16-45 170.80 45 100 15.733 24 D091511 BT50-JT3-45 177757 45 20.599 30.957
DO071512 BT40xMTA3-135 200.4 ‘ 135 D072010 BT50xMTA4-95 196.8 95 M e | D091213 BT50-B18-45 178.80 45 17.785 32 D091512 BT50xJT33-45 172.20 45 100 15.850 254
DO071610 BT40xMTA4-95 160.4 95 s D072011 BT50xMTA4-180 281.8 180 : ! D091214 BT50-B22-45 187.30 45 21.793 40.5 D091513 BT50%JT6-45 172.20 45 17.170 254
4 31.207 |
DO71611 BT40xMTA4-165 2304 ‘ 165 DO072110 BT50xMTAS5-105 206.8 105 63 44.399 | D091215 BT50-B24-45 197.30 45 23.825 50.5 D091514 BT50xJT6-105 23220 105 17.170 25.4
|
|
|
|
|
I
45 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service : M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 46
|
|



Blﬁémsu Sﬁi’ HOLDING SYSTEM

HOLDING SYSTEM @ Machine tool accessory

[
! =
\ =
w
. . . ‘ . . .
B CNC tooling - BT/SLN sidelock end mill holder ‘ B CNC tooling - BT/SLN sidelock end mill holder &
‘ 2
—
D ‘ §
T : Model No. Type d1 L1 L L2 L3 D d2 T
| DI11110 BT40-EM3/8"-1.38" 3/8" 138" 3.955" 0.75" 1" 3/8"-16 -
o~
o ! DI1I111 BT40-EM3/8"-2.25" 3/8" 225" 4.825" 0.75" i” 3/8"-16 S
i B ‘ 2
‘ D12 BT40-EM3/8"-4.00" 3/8" 4" 6.575" 0.75" 1" 3/8"-16 P
=)
Draw Bar Thread: ! DI11113 BT40-EM7/16"-2.62" 7/16" 2.62" 5.195" 0.75" 1.25" 3/8"-16 <
BT30 M12x1.75 I g
BT40 M16x2 ‘ DIll114 BT40-EM1/2"-1.75" 12" 1.75" 4.325" 0.88" 1.25" 7/16"-14 =
BT50 M24x3 L =
I DI11115 BT40-EM1/2"-2.25" 12" 225" 4.825" 0.88" 1.25" 7/16"-14 =
D L2 | =]
L3 T DI11116 BT40-EM1/2"-4.00" 12" 4" 6.575" 0.88" - 125" 7/16"-14 i)
‘a Optional I T
> \ DI11117 BT40-EM5/8"-1.75" 5/8" 1.75" 4.325" 0.88" 157 1/2"-13 '5
: DI1I118 BT40-EM5/8"-2.25" 5/8" 225" 4.825" 0.88" 15" 1/2"-13 s
- L2l o =) =
=l \ DI11119 BT40-EM5/8"-6.00" 5/8" 6" 8.575" 0.88" . 5" 1/2"-13 -
: =
: ‘ DI11120 BT40-EM3/4"-1.75" 3/4" 1.75" 4.325" 1" 1.75" 5/8"-11
Draw Bar Thread: I Stud Inner |
BT30 M12x1.75 Pull Studs Hexagon Lock Screws \ T " " " f " "
d1os BTI0 Mico Spanner | DI11121 BT40-EM3/4"-3.38 3/ 338 5.955 1 1.75 5/8"-11 o
BTS0 M24x3 L ! DI11122 BT40-EM3/4"-6.00" 3/4" 6" 8.575" " 1.75" 5/8"-11 =
| =
‘ DI11123 BT40-EM7/8"-3.75" /8 375" 6.325" i” 0.88" 1.88" 5/8"-11 =
==
I DI11124 BT40-EM1"-1.75" " 1.75" 4.325" 112 - 2" 5/8"-11 =
—————_—— | 2
| DI11125 BT40-EM1"-4.00" i 4" 6.575" 112" i ol 3/4-"10 =
D101010 BT30%SLN6-60 108.4 M6x1.0P o
I DI11126 BT40-EM1"-6.00" 1" 6" 8.575" 112" 1" 2" 3/4-"10 o
DI101011 ‘ BT30xSLN8-60 ‘ 8 60 108.4 18 28 M8x1.25P ‘ =
DI11127 BT40-EM1-1/4"-2.00" 1-1/4" U 4.575" 112" = 2.362" 5/8-"11
D101012 BT30xSLN10-60 10 60 108.4 20 35 M10x1.5P !
- I DI11128 BT40-EM1-1/4"-4.00" 1-1/4" 4 6.575" 112" 112" 2.362" 3/4-"10 =
D101013 ‘ BT30xSLN12-60 ‘ 12 60 108.4 225 46 42 MI12x1.75P | Z
DI11129 BT40-EM1-1/2"-4.00" 1-1/2" 4" 6.575" 112" i 2.62" 3/4-"10 =
DI101014 BT30xSLN16-75 16 75 1234 24 48 M14x2.0P I o
| =)
D101015 ‘ BT30xSLN20-75 ‘ 20 75 123.4 25 52 M16x2.0P | =
o
DI101016 BT30xSLN25-90 25 90 138.4 24 25 65 M18x2.0P [ . . . . S
| M CNC tooling - BT/SLN side-lock end mill holder with coolant &
DI101110 ‘ BT40xSLN6-50 ‘ 6 50 115.4 18 25 M6x1.0P | <
o
D101 BT40xSLN8-50 8 50 115.4 18 28 M8x1.25P [ =
DI101112 ‘ BT40xSLN10-63 ‘ 10 63 128.4 20 35 M10x1.8P :
D101113 BT40xSLN12-63 12 63 1284 225 @ 'y} M12x1.75P | FIG:1
DI101114 ‘ BT40xSLN16-63 ‘ 16 63 128.4 24 48 M14x2.0P ! 7:24
I MAS403-BT40/BT50 =
DIO01115 BT40xSLN20-63 20 63 128.4 25 52 M16x2.0P ‘
DI01116 ‘ BT40xSLN25-100 ‘ 25 100 165.4 24 25 65 M18x2.0P ! z |8
I
DI01117 BT40xSLN32-100 32 100 165.4 24 28 72 M20x2.0P ‘
D101210 ‘ BT50xSLN6-63 ‘ 6 63 164.8 18 25 M6x1.0P I | '\_r—
I ) Ll
DI01211 BT50xSLN8-63 8 63 164.8 18 28 M8x1.250P ‘ FIG:2
Optional
D101212 ‘ BT50%SLN10-63 ‘ 10 63 164.8 20 35 M10x1.5P \ _ < priona
D101213 BT50xSLN12-80 12 80 1818 25 2 M12x1.75P : MAS403-BT40/BTS0 -l H__l
DI101214 ‘ BT50xSLN16-80 ‘ 16 80 181.8 24 48 M14x2.0P \ ] 1 =g [a)
100 | 0] T s [e
DI101215 BT50xSLN20-80 20 80 181.8 25 52 M16x2.0P ‘
Inner
DI101216 ‘ BT50xSLN25-100 ‘ 25 100 201.8 24 25 65 M18x2.0P | cliilo A Pull Studs Hg};z%g? Lock Screws
DI101217 BT50%SLN32-105 32 105 206.8 24 28 72 M20x2.0P ! | Ll
I
DI101218 ‘ BT50xSLN40-115 ‘ 40 115 216.8 30 32 90 M20%2.0P |
DI101219 BT50xSLN42-120 42 120 221.8 30 32 90 M20x2.0P !
| TN T R T T [ S T T T
I
| DI21010  BT40-SLN06-50(B) DI21110 | BT50-SLN06-50(B)
|
DI11010 BT30-EM1/8"-2.38" /8" 238" 4.286" 0.38" 0.75" 3/16"-24 | DI21012  BT40-SLN10-63(B) 10 35 63 1 DI21112 | BT50-SLN10-63(B) 10 35 63 1
DI11011 BT30-EM3/16"-2.38" 3/16" 238" 4.286" 0.38" 0.75" ‘ 3/16"-24 [ DI21013  BT40-SLN12-63(B) 12 2 63 ‘ 1 DI21113  BT50-SLN12-63(B) 12 ‘ Fy) 63 1
|
DI11012 BT30-EM1/4"-2.38" 1/4" 2.38" 4.286" 0.5" 0.81" 1/4"20 | DI21014  BT40-SLN14-63(B) 14 44 63 1 DI21114 | BT50-SLN14-63(B) 14 44 63 1
DI111013 BT30-EM3/8"-2.38" 3/8" 238" 4.286" 0.75" ) 1.38" ‘ 3/8"-16 \ DI21015  BT40-SLN16-63(B) 16 48 63 ‘ 1 DI21115  BT50-SLN16-63(B) 16 ‘ 48 63 1
. 181"
DI11014 BT30-EM1/2"-2.38" 12" 2.38" 4.286" 0.88" 1.38" 7/16"-14 : DI21016  BT40-SLN18-63(B) 18 50 63 1 DI21116 | BT50-SLN18-63(B) 18 50 63 1
DI111015 BT30-EM5/8"-2.38" 5/8" 2.38" 4.286" 0.94" 1.44" ‘ 1/2"-13 | DI21017  BT40-SLN20-63(B) 20 52 63 ‘ 1 DI21117  BT50-SLN20-63(B) 20 ‘ 52 63 1
DI11016 BT30-EM3/4"-2.38" 3/4" 238" 4.286" " 1.75" 5/8"-11 ! DI21018  BT40-SLN25-90(B) 25 65 90 2 DI21118 | BT50-SLN25-90(B) 25 65 90 2
|
DI111017 BT30-EM1"-2.75" " 275" 4.656" 112" 238" ‘ 3/4"-10 ‘ DI21019  BT40-SLN32-100(B) 32 72 100 ‘ 2 DI21119  BT50-SLN32-105(B) 32 ‘ 72 105 2
I
|
|
I
|
|
47 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service : M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 48
T
|



\NDUSTR\AL SUPPLY

uestar

HOLDING SYSTEM

HOLDING SYSTEM

@ Machine tool accessory

B CNC tooling - APU keyless drill chuck with BT shank B CNC tooling - BT/EOC(0OZ) collet chuck

=
w
>
&
[}
=
]
o
o
=

MAS BT R Optional

|
|
[
|
|
|
|
|
L - - : |
\ ! D151010 =~ BT30xEOC25-70 118.4 M12x1.75P 1.00
! o = Il |
| s\ \// » = = L2 f e ‘ D151110 ‘ BT40xEOC25-70 135.4 70 1.65
f &' - - I D151111 | BT40xEOC25-100 165.4 100 63 60 2.25
) - |
. Titanium
O Pull Studs ~ Spanner ! D151112 ‘ BT40xEOC25-120 185.4 120 2.70
‘H. alloy jaw | M16x2.0P
I D151210 =~ BT40xEOC32-90 155.4 £l 2.00
|
D151211 ‘ BT40xEOC32-105 170.4 105 63 72 2.20
___-__— |
[ D151212 = BT40xEOC32-120 185.4 120 2.45
D131010 BT30xSPU8-80 128.4 0.72 ‘
D151310 ‘ BT50xEOC25-85 186.8 85 4.40
D131011 BT30xSPU13-110 110 158.4 75 46 50 13 1.85 I
| D151311 = BT50xEOQC25-100 201.8 100 100 60 4.80
D131012 BT30xSPU16-115 115 163.4 80 57 16 2.18 | Optional
D151312 ‘ BT50xEOC25-120 2218 120 5.20
D131110 BT40xSPU8-85 85 150.4 55 37 6 1.46 I M24x2,0P
| D151410 =~ BT50xEOC32-90 1918 £l 4.60 b
D131111 BT40xSPU13-100 100 165.4 75 50 13 2.00
63 ! D151411 ‘ BT50xEOC32-105 206.8 105 100 72 4.85 f
D131112 BT40xSPU13-130 130 195.4 75 50 13 2.33 | | . =
‘ D151412 = BTS0XEOC32-120 2218 120 5.35 Balancing  Balancing
D131113 BT40xSPU16-105 105 170.4 80 57 16 0.04 2.33 | OZ Collet EOCNut  Spanner  Pull Studs  jn2planes in 1 planes
D131210 BT50xSPU8-90 90 191.8 55 37 6 416 |
|
D131211 BT50xSPU13-100 100 201.8 75 50 13 470 °
| B CNC tooling - BT 45° square cutter boring bar
D131212 BT50xSPU13-180 180 2818 75 100 50 13 5.80 |
D131213 BT50xSPU16-105 105 206.8 80 57 16 5.03 !
|
D131214 BT50xSPU16-130 130 2318 80 57 16 4.80 | -
30° i 45°
D131215 BT50xSPU16-190 190 291.8 80 57 16 6.00 : Optional
|
[ L1 =
. CNC tOOlIng = BT ml"lng chuck | MAS:BT NO: 0 Inner
=l b A
: | R Pull Studs ggﬁﬁ%ﬁ?
Optional | ']
Heavy cutting, Large clamping force |
[
|
| Order No. Type d2 d3 L2 L3 w T N.W.(kg)
|
Pull Studs | D161010 BT40xBSA25-120 38 25 20 22 90 35 . e 1.2
9 ! D161011 BT40xBSA30-150 42 30 24 26 120 40 14
|
\ D L{ ‘ D161012 BT40xBSA38-165 52 38 30 33 50 0 17
/ I D161013 BT40xBSA42-165 56 42 34 37 135 50 M8 2.0
Type:A Type:B Mic Collet Spanner |
‘ D161014 BT40xBSA50-165 65 50 40 44 65 13 2.3
D141010 BT30xMLC20-75 1234 ‘ D161016 BT40xBSAT72-180 110 72 60 - 150 95 M10 3.9
70 46 20 55 ! 19
D141011 BT30xMLC20-90 138.4 90 2.0 | D161017 BT40xBSA90-180 125 90 75 - 110 5.2
D141110 BT40xMLC20-80 145.4 80 2.4 : D161110 BT50xBSA25-135 38 25 20 22 92 35 . Ve 4.2
D141111 BT40xMLC20-100 165.4 100 70 20 55 25 | D161111 BT50xBSA30-165 42 30 24 26 122 40 44
D141112 BT40xMLC20-135 200.4 135 o 2.8 : D161112 BT50xBSA38-180 52 38 30 33 137 50 10 Ve 4.8
D141210 BT40xMLC32-90 155.4 90 2.6 | D161113 BT50xBSA42-210 56 42 34 37 167 60 5.0
D141211 BT40xMLC32-105 1704 105 75 32 73 28 I D161114 BT50xBSA50-180 65 50 40 44 137 65 1 5.4
I
D141212 BT40xMLC32-135 200.4 135 3.0 | D161115 BT50xBSA50-240 65 50 40 44 197 65 5.7
D141310 BT50xMLC20-105 206.8 105 45 I D161116 BT50xBSA62-195 90 62 50 56 152 80 6.2
70 20 55 | 16 M10
D141311 BT50xMLC20-150 251.8 150 49 | D161117 BT50xBSA62-270 90 62 50 56 227 80 7.6
D141410 BT50xMLC32-110 2118 110 5.2 [ D161118 BT50xBSA72-195 110 72 60 66 152 95 7.0
D141411 BT50xMLC32-135 236.8 135 75 2 . 5.9 : D161119 BT50xBSA72-285 110 72 60 66 242 95 1 9.3
D141412 BT50xMLC32-165 266.8 165 100 6.6 | D161120 BT50xBSA90-210 125 90 75 80 167 110 9.2
D141413 BT50xMLC32-200 301.8 200 20 7.3 : D161121 BT50xBSA90-300 125 90 75 80 257 110 123
D141510 BT50xMLC42-110 211.8 110 125 42 95 6.0 | D161122 BT50xBSA105-195 160 105 90 - - - M12 107
D141511 BT50xMLC42-130 2318 130 % " - 6.5 ! D161123 BT50xBSA105-285 160 105 90 94 - 130 25 15.0
I
D141512 BT50xMLC42-165 266.8 165 7.4 ‘ D161124 BT50xBSA130-255 190 130 110 - - 120 145
I
I
I
[
|
|
49 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service : M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 50
T
I

MILLING, LATHE, GRINDING ACCESSORY

VICE & WORKHOLDING

WORKSHOP EQUIPMENT



Blﬁémsu Sﬁi’ HOLDING SYSTEM

HOLDING SYSTEM @ Machine tool accessory

=
w
1
. ° . . .
B CNC tooling - BT 90° square cutter boring bar B CNC tooling - CAT/ER collet chuck (continued) &
2
—
o
<)
Optional =
45° L
7:24 T d3 >
e
Optional ﬁ @ Y % 8
176}
] w
: \v7 = 2 8
MAS:BT NO: L3 _| 105 = ERCollet ERNut  Spanner Pull Studs =3
M N \ 2
| 3 Inner %
| Hexagon Draw Bar Thread: =
| = T Pull Studs Spanner CATA0 518" 11 3 L z
| W CAT50 17-8 L wi
Balancing  Balancing I:l—:
_ Type B in 2 planes in 1 planes <
Order No. Type _“ d2 d3 L2 L3 w T N.W.(kg) -
=
D171010 BT40xBSB25-120 20 22 90 35 8 M6 12 =
D181110 CAT50xER16-4" 8 4.00 4.10
D171011 BT40xBSB38-150 70 38 30 33 120 55 10 M8 1.7
D181111 CAT50xER16-6" 10 6.00 1.102 0.63 M10x1.5P 4.28
D171012 BT40xBSB50-165 90 50 40 44 135 70 13 M10 25 g
D181112 CAT50xER16-8" 12 8.00 4.40 5
D171013 ‘ BT40xBSB62-180 ‘ 115 62 50 56 150 80 16 M10 3.6 p
D181113 CAT50xER20-4" 8 4.00 4.20 %
D171014 BT40xBSB90-180 150 90 75 - 150 115 19 M12 59 4
D181114 CAT50xER20-6" 10 6.00 1.339 0.788 M12x1.75P 4.45 g
D171110 ‘ BT50xBSB25-135 ‘ 52 25 20 22 92 35 8 M6 4.3 =
D181115 CAT50xER20-8" 12 8.00 4.60 =
D171111 BT50xBSB38-180 70 38 30 32 137 55 10 M8 4.9 (]
D181116 CAT50xER25-4" 8 4.00 4.15 &)
D171112 ‘ BT50xBSB50-180 ‘ 90 50 40 44 137 70 515 =
8 D181117 CAT50xER25-6" 10 6.00 1.654 0.984 M16x2.0P 4.50
D171113 BT50xBSB50-240 90 50 40 44 197 70 5.8
M10 D181118 CAT50xER25-8" 12 8.00 4.70 —
D171114 ‘ BT50xBSB62-195 ‘ 115 62 50 56 152 80 6.4 2.75 =
10 D181119 CAT50xER32-4" 8 4.00 4.35 =
D171115 BT50xBSB62-270 115 62 50 56 227 80 7.8 o
D181120 CAT50xER32-6" 10 6.00 1.969 1.26 M16x2.0P 4.60 =}
D171116 ‘ BT50xBSB72-195 ‘ 135 72 60 66 152 95 7.3 8
D181121 CAT50xER32-8" 12 8.00 4.90 o
D171117 BT50xBSB72-285 135 72 60 66 242 95 9.6 o
13 D181122 CAT50xER40-4" 8 4.00 4.25 %
D171118 ‘ BT50xBSB90-210 ‘ 150 90 75 80 167 115 9.7 =2
D181123 CAT50xER40-6" 10 6.00 2.48 1575 M20x2.0P 4.80 g
D171119 BT50xBSB90-300 150 90 75 80 257 115 M12 12.8 =
D181124 CAT50xER40-8" 12 8.00 5.10
D171120 ‘ BT50xBSB105-195 ‘ 190 105 90 90 - - 11.4
D181125 CAT50xER50-4" 8 4.00 4.85
D181126 CAT50xER50-6" 10 6.00 3.07 1.969 M24x2.0P 5.55
D171122 ‘ BT50xBSB130-255 ‘ 260 130 110 - - 60 14.1
D181127 CAT50xER50-8" 12 8.00 5.70

B CNC tooling - CAT/ER collet chuck M CNC tooling - CAT/MTA morse taper adapters

Optional

D181010 CAT40XER16-2.76" 5.447 276 1.05 = CAT MT
D181011 ‘ CATA40XER16-4" ‘ 6.687 4.00 1.35 /

1.102 0.63 M10x1.5P
D181012 CAT40%ER16-6" 8.687 6.00 1.65 7
D181013 ‘ CAT40XER16-8" ‘ 10.687 8.00 185 - == LT “Y e

Pull Studs Morse Arbors

D181014 CAT40xER20-2.76" 5.447 2.76 1.25 I

1.339 0.788 M12x1.75P \
D181015 ‘ CAT40xER20-4" ‘ 6.687 4.00 1.65 H
D181016 CAT40xER25-2.76" 5.447 2.76 135 Draw Bar Thread: ﬂ D

CAT405/8"-11

D181017 ‘ CATA40xER25-4" ‘ 6.687 4.00 1.70 L1

1654 0.984 M16x2.0P CAT5017-8 L Morse Sleeve Morse Sleeve
D181018 CAT40xER25-6" 8.687 6.00 - 2.25 Type B
D181019 ‘ CATA40XER25-8" ‘ 10.687 8.00 255
D181021 ‘ CAT40xER32-4" ‘ 6.687 4.00 Lo6s 12 M16x200 175 D201010  CAT40xMTA1-1.60" 4.287 1.60 1.00 0.475 D201110 CAT50-MTA4-3.38" 7.380 3.38 2.00 1.231

5 u X2,
D181022 CAT40xER32-6" 8.687 6.00 2.15 D201011 CAT40-MTAL-1.75" 4.437 175 1.00 0.475 D201111 CAT50xMTA1-2.00" 6.000 2.00 ‘ 1.00 ‘ 0.475
D181023 ‘ CAT40xER32-8" ‘ 10.687 8.00 2.65 D201012 ~ CAT40xMTA2-2.00" 4.687 2.00 1.25 0.700 D201112 CAT50xMTA2-2.00" 6.000 2.00 1.62 0.700
D181024 CAT40xER40-3.15" 5.837 3.15 1.80 D201013 CAT40-MTA2-2.44" 5.127 2.44 125 0.700 D201113 | CAT50xMTA3-2.50" 6.500 2.50 ‘ 162 ‘ 0.938
D181025 ‘ CATA0XER40-4" ‘ 6.687 4.00 2.48 1575 M20x2.0P 2.05 D201014  CAT40xMTA3-2.75" 5.437 275 1.75 0.938 D201114 | CAT50xMTA4-3.30" 7.300 3.30 2.00 1.231
D181026 CAT40XER40-6" 8.687 6.00 3.30 D201015 CAT40-MTA3-3.00" 5.687 3.00 175 0.938 D201115 = CAT50xMTA5-4.10" 8.100 4.10 ‘ 2.75 ‘ 1.748
D181027 ‘ CATA40XER50-4" ‘ 6.687 4,00 3.07 1.969 M24x2.0P 2.65 D201016  CAT40xMTA4-3.75" 6.437 375 2.00 1.231 D201116 CAT50-MTA5-4.62" 8.620 4.62 2.75 1.748

www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 52

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
D171121 BT50xBSB105-285 190 105 90 94 - 135 16 157 |
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
I
|
|
[
|



Blﬁémsu Sﬁi’ HOLDING SYSTEM

HOLDING SYSTEM @ Machine tool accessory

\
! =
| w
%
. . ‘ .
B CNC tooling - CAT/FMA face mill arbors ‘ B CNC tooling - CAT jacobs taper arbor &
‘ 2
—
\ =)
o
| =
----I—-- |
DI191010 = CAT40-FMA3/4"-1.38" 4.755 1.75 0.75 0.178 0312 I . i 3 Optional >
‘ b t ) < CAT x
DI9I0Il  CAT40xFMA3/4"-1.5" 4.875 150 1.75 0.75 0.178 0312 * =i i =
| W — =1 JT &
DI91012  CAT40-FMA3/4"-4.00" 7375 4.00 1.75 0.75 0.178 0312 \ Type A ) e B O S
(&)
i g ! <
D191013 CAT40-FMA1"-1.5 4.875 1.50 225 1.00 0.178 0375 ‘ Pull Studs <
DI91014 | CAT40xFMAI1"-2.06" 5.435 2.06 1.102 225 1.00 0.178 0375 \ =
=
DI91015 = CAT40-FMA1"-4.00" 7375 4.00 225 1.00 0.178 0375 ‘ [
| Draw Bar Thread: (.'{
DI91016 = CAT40-FMAI-1/4"-1.62" 4995 1.62 275 125 0263 05 ‘ CAT40 5/8"-11 L1 L2 o
CATS0 17-8 Drill Chuck ~ Keyless Chuck =
DI91017 = CATAO<FMAI-1/4"-221"  5.585 221 275 1.25 0.263 0.50 ‘ L i ek Reyless Hhne <
\ .
DI91018 = CAT40-FMAI-1/4"-4.00" 7375 4.00 2.75 125 0263 05 ‘ z
. . Type B =
DI91019 = CAT40xFMAI-1/2"-2.21" 5834 221 3.75 1.50 0350 0.625 Fig2 Figl ! =
00D i ‘ =
DI191020 | CAT40-FMAI-1/2"-2.40" 6.024 2.40 1.969 3.75 1.50 0350 0.625 228 4, |
(VIS | o
ool | =
DI9I0  CATS0xFMA3/4"-1.50" 6.188 150 1.75 0.75 0.178 0312 iy L | D221010  CAT40-JTA2-1.50" | 5.062 15 0.875 0559 D221110 | CATS50-JTA2-1.50" | 6375 5 0.875 0559 g
=t 2
DI9II1l | CAT50-FMA3/4"-3.50" 8.188 3.50 1.75 0.75 0.178 0312 & q \ D221011  CAT40xJTA2-157"  5.132 1.57 0.875 0.559 D221111 | CATS0xJTA2-157" = 6.445 157 0.875 0559 =
o
DI9II2 | CAT50-FMA3/4"-5.50" 10.188 5.50 1.75 0.75 0.178 0312 N I . : D221012 | CAT40-JTA3-1.50" | 5.407 15 1.22 0811 D221112 | CAT50-JTA3-1.50" = 6.72 L5 1.22 0.811 S
Lt
DI9III3  CAT50XEMAI"-2.00" 6.688 2.00 225 1.00 0.178 0375 K2 \ D221013  CAT40-JTA4-1.50"  5.836 15 1.649 Js 1.124 D221113  CAT50-JTA4-1.50"  7.149 15 e o L ~
[} . B w
DI91114 |  CAT50-FMAI"-4.00" 8.688 4.00 248 225 1.00 0.178 0375 . ‘ D221014  CAT40-JTA6-1.50" | 5.187 15 1 0.676 D221114 | CAT50-JTA6-1.50" 65 15 1 0.676 e
= \
DI9IIIS  CATS0-EMAI1"-6.00" 10.688 6.00 225 1.00 0.178 0375 L T I:.TJ K1 | D221015  CAT40XJTAG-1.57"  5.257 1.57 1 0.676 D221115 | CATS0xJTA6-157" = 6.570 1.57 1.000 0.676
DI91116 = CATSOXFMAIL-1/4"-1.50"  6.188 150 275 125 0.263 0.50 ! D221016  CAT40-JTA33-1.50"  5.187 15 1 0.624 D221116 | CAT50-JTA33-150" 6.5 15 1 0.624 =
1 | w
DI91I17 = CAT50-FMAI-1/4"-3.50" 8.188 3.50 2.75 125 0263 05 ‘ D221017 | CAT40xJTA33-1.57"  5.257 1.57 1 0.624 D221117 | CATS0xJTA33-157"  6.570 1.57 1.000 0.624 =
DI9III8 = CATS0-FMAI-1/4"-5.50"  10.188 5.50 275 125 0263 05 ! 3
| w
DI9II9  CATSOXEMAL-1/2"2.40"  7.337 240 3.75 1.50 0350 0.625 | %
. . 2
DI91120 = CAT50-FMAI-1/2"-4.00" | 8.937 4.00 3.75 150 0.350 0.625 \ B CNC tooling - CAT / SLN end mill holder Z
- | oc
DI9II21  CAT50-FMAI-1/2"-6.00 10.937 6.00 o 3.75 1.50 0350 0.625 1016 | S
DI9II22  CAT50XFMA2"-2.40" 7337 240 4.88 2.00 0383 0.75 \
DI91124 = CAT50-FMA2"-6.00" 10.937 6.00 4.88 2.00 0383 0.75 =N \ D231010 ~ CAT40-SLN1/8"-2.31" 4.997 231 0370 0.79 3/16-24
DI91125 | CATS0-FMA2-1/2"-2.40" 7.530 240 s 4.88 2.50 0472 1 Imm\ : D231011  CAT40-SLN1/8"-4.72" 7.407 4.72 0370 18 ‘ 0.787 3/16-24
DIO1I26 = CATS0-FMA2-1/2"-4.00"  9.130 4.00 i 4.88 250 0472 1 Pull Studs lgggggg:l ‘ D231012  CAT40-SLN3/16"-2.31" 4.997 231 0.562 3/16 0.984 1/4-20
! D231013  CAT40-SLN3/16"-2.50" 5.187 250 0.562 3/16 ‘ 0.984 1/4-20
\
| D231014 | CAT40-SLN3/16"-4.72" 7.407 472 0.562 3/16 0.984 1/4-20
B CNC tooling - CAT/MTB morse taper adapters ! D231015  CAT40-SLN1/4"-2.50" 5.187 2.50 0.630 1/4 ‘ 138 1/4-20
\
| D231016 ~ CAT40xSLN1/4"-3.00" 5.687 3.00 0.630 1/4 138 1/4-20
\ D231017 = CAT40-SLN5/16"-2.50" 5.187 250 0.630 5/16 ‘ 138 5/16-18
\
Optional | D231018  CAT40xSLN5/16"-3.00" 5.687 3.00 0.630 5/16 1.38 5/16-18
\ D231019  CAT40-SLN5/16"-4.72" 7.407 4.72 0.630 5/16 ‘ 138 5/16-18
% / : D231020  CAT40-SLN3/8"-2.50" 5.187 250 0.750 3/8 1,535 3/8-16
9]
\ D231021 = CAT40xSLN3/8"-3.00" 5.687 3.00 0.750 3/8 ‘ 1.535 3/8-16
Pull Studs Morse Arbors |
‘ D231022  CAT40-SLN1/2"-2.50" 5.187 250 0.875 12 1.75 7/16-14
| D231023  CAT40-SLN1/2"-2.62" 5307 262 0.875 12 ‘ 1.75 7/16-14
ﬂ D ! D231024 | CAT40xSLN1/2"-3.00" 5.687 3.00 0.875 12 175 7/16-14
\
Morse Sleeve  Morse Sleeve | D231025  CAT40-SLN9/16"-3.00" 5.687 3.00 0.875 9/16 ‘ 1.75 7/16-14
\ D231026 ~ CAT40xSLN5/8"-3.00" 5.687 3.00 0.937 5/8 1.85 1213
\
| D231027  CAT40-SLN5/8"-3.75" 6.437 3.75 0.937 5/8 ‘ 1.85 1/2-13
Order No. \ D231028  CAT40-SLN3/4"-3.00" 5.687 3.00 1.000 3/4 1.929 5/8-11
\
D211010 | CAT30-MTBI-1.77 1 4457 1 M6 0.55 Order No. L c G ‘ D231029  CAT40xSLN3/4"-3.50" 6.187 3.50 1.000 3/4 ‘ 1.929 5/8-11
D211011  CAT30-MTB2-2.36 2 5.05 125 MI0 0.60 D211210 | CAT50-MTBI-1.77 1 577 1 M6 3.80 \ D231030 | CAT40-SLN3/4-3.75 6.437 3.75 1.000 3/4 1.929 5/8-11
D211110 | CAT40-MTBI-1.77 1 4.457 1 M6 1.05 D211211  CAT50-MTB2-1.77 2 577 125 M10 3.90 : D231031  CAT40xSLN7/8"-3.50" 6.187 3.50 1.063 7/8 ‘ 236 5/8-11
D211111  CAT40-MTB2-1.77 2 4457 1.25 MI0 1.85 D211212 | CAT50-MTB3-2.36 3 6.36 1575 MI2 3.90 ‘ D231032  CAT40xSLN1"-4.00" 6.687 4.00 1125 1 1 256 3/4-10
D211112 | CAT40-MTB3-2.95 3 5637 1575 MI2 130 D211213 | CAT50-MTB4-2.95 4 6.95 2 M16 4.20 ‘ D231033  CAT40-SLNI-1/4"-4.25" 6.937 425 1125 1-1/4 ‘ 256 3/4-10
\
D211113 | CAT40-MTB4-3.54 4 6227 | 1875 M16 1.60 D211214 | CAT50-MTB5-4.73 5 8.73 2.755 M24 430 ‘ D231034 | CAT40xSLN1-1/4"-4.60" 7.287 4.60 1125 1-1/4 256 3/4-10
\
\
\
\
\
I
53 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service : M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 54
\
\



Blﬁémsu Sﬁi’ HOLDING SYSTEM

HOLDING SYSTEM @ Machine tool accessory

\
! =
| w

1
. . | . -

B CNC tooling - CAT / SLN end mill holder ‘ B CNC tooling - CAT milling chuck &
‘ 2
| IS

o
| [=
------- |
D231110 = CAT50-SLN1/8"-4.00" 4.00 0.563 18 0.75 3/16-24 ‘ =
\
D231111  CAT50-SLN3/16"-4.00" 8 4.00 ‘ 0.563 3/16 ‘ 0.75 1/4-20 | %
D231112  CAT50-SLN1/4"-2.50" 65 2.50 0.781 14 0.8125 1/4-20 ! §
\
D231113  CAT50xSLN1/4"-4.00" 8 4.00 ‘ 0.781 114 ‘ 0.8125 1/4-20 | -
=
D231114 = CAT50XSLN5/16"-4.00" 8 4.00 0.781 5/16 0.875 5/16-18 \ =]
‘ =
D231115  CAT50-SLN7/16"-4.00" 8 4.00 ‘ 0.875 7116 ‘ 125 3/8-16 | =
D231116 = CAT50-SLN9/16"-4.00" 8 4.00 0.880 9/16 1.38 7/16-14 \ e
=
D231117  CAT50-SLN3/8"-2.50" 6.5 2.50 ‘ 0.781 358 ‘ 1 3/8-16 : 5
D231118  CAT50xSLN3/8"-4.00" 8 4.00 0.781 - 3/ 1 3/8-16 \ =
—
D231119  CAT50-SLN1/2"-2.63" 6.63 263 ‘ 0.875 112 ‘ 1.38 7/16-14 ‘ ) =
| Optional =
D231120 = CAT50XSLN1/2"-4.00" 8 4.00 0.875 12 138 7/16-14 ‘ .
’ A
D231121 = CAT50-SLN1/2"-4.62" 8.62 462 ‘ 0.875 12 ‘ 1.38 716-14 ! / D L( ]
\ =
D231122 = CAT50-SLN5/8"-3.00" 7 3.00 0.938 5/8 175 1/2-13 [ @ L S
o
D231123  CAT50-SLN5/8"-3.75" 7.75 3.75 ‘ 0.938 5/8 ‘ 175 1/2-13 : Type:A Type:B : Mic Collet  Spanner Pl Studs %
D231124  CAT50xSLN5/8"-4.00" 8 4.00 0.938 5/8 175 1/2-13 | o S
D231125 ~ CAT50-SLN3/4"-3.75" 7.75 3.75 ‘ 1.000 3/4 ‘ 175 5/8-11 \ =
\
bz CATSLN4OY 8 400 100 w s s | ___—__ =
D231127 = CAT50-SLN7/8"-3.75" 7.75 3.75 ‘ 1.063 78 ‘ 2047 5/8-11 \ D251010 CAT40xMLC3/4"-3.385" 6.07 3.385 2.56 0.75 217
D231128 = CAT50xSLN7/8"-4.00" 8 4.00 1.063 o8 718 2,047 5/8-11 ‘ D CATDANLEH AT B3 G 2588 25 G Gl 2 =
: | . : ‘ =
— T g — ‘ LT 2 ‘ AT p—— | D251012 CAT40xMLC1-1/4-4.53 7.22 3.385 2.76 1.25 287 24 =
o o =
D231130 | CATS0-SLNL-1/4"-4.00" 8 400 1125 114 275 3410 : D251110 CAT50xMLC3/4"-4.13 8.13 413 256 . 0.75 217 25 3
D231131 = CATS0XSLNL-1/4"-4.60" 8.6 460 ‘ 1125 1-1/4 ‘ 275 3/4-10 | DZ5LIL | CATSOxMLCL-1/4"4.13" 8.13 413 276 125 281 28 S
2=
D231132  CAT50-SLN1-1/2"-4.00" 8 4.00 1125 1 112 3.14 3/4-10 ! %
\ =
" " o
D231133 = CAT50-SLN1-1/2"-4.25 8.25 4.25 ‘ 1125 112 ‘ 314 3/4-10 Y i OPTIONA | . S
D231134  CAT50xSLN1-1/2"-4.60" 8.6 460 1125 1172 3.140 3/4-10 ! B CNC toolmg - CAT/ EOC(OZ) collet chuck
\
D231135  CAT50-SLN1-3/4"-4.00" 8 4.00 ‘ 1125 1-3/4 ‘ 3.14 3/4-10 |
D231136  CAT50-SLN2"-5.63" 9.63 5.63 1.188 L 2 3.938 3/4-10 \
: \
D231137 = CAT50xSLN2"-6.00" 10 6.00 ‘ 1188 2 ‘ 3.938 3/4-10 |
: Optional
‘ o
. . . |

B CNC tooling - APU keyless drill chuck with CAT shank | | [ Lf
\ __ .
| ANSI B5.50CAT DING388
| ~ OZ Collet EOC Nut  Spanner  Pull Studs
| \

=
Optional I } a_
T | — % G%
\
< \
| Balancing  Balancing
) in2 planes in 1 planes
Pull Studs |
L2 & |
D]
[ ® i :
| ¥
\
Spanner Titanium Alloy Jaw |
| I S O N S S T
\ D261010 | CAT40XEOC25-3.15" 5.837 155
| 2.362 1.295 M16x2.0P
D261011 CAT40XEOC25-4" 6.687 255
! 1375 25
| 2835 1.626 M20x2.0P
D241010 | CAT4OXSPUS/16-3.75" 6.44 2.16 165 0.240 185 ‘ D261013 CAT40XEOC32-4" 6.687 235
D241011 | CAT40xSPUL/2-4.75" 7.44 295 25 213 ‘ 0.510 2.10 \ D261110  CAT50xEQC25-3.15" 7.15 3.25
D241012 CAT40XSPUS/8-6" 8.69 315 244 051 oo 2.95 : D261111 CAT50xEOC25-4" 8 3.362 1.295 M16x2.0P 5.30
D241110 CAT50XSPUS/16-4" 8 216 165 ‘ 0.24 ' 2.10 ‘ D261112 CAT50xEOC25-6" 10 1.375 3.875 440
D241111 | CAT50xSPU1/2-4.25" 8.25 2.95 3.875 213 051 2.85 ! D261113  CAT50xEOC32-3.15" 7.15 5.70
\ 2835 1.626 M20x2.0P
D241112 CAT50XSPUS/8-4.5" 85 3.15 2.44 ‘ 051 345 | D261114  CAT50XEOC32-4.70" 8.7 6.10
\
\
\
\
\
|
55 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service : M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 56
T
\



Blﬁémsu Sﬁi’ HOLDING SYSTEM

HOLDING SYSTEM @ Machine tool accessory

[
! =
| w
&
. ‘ . .
B CNC tooling - SK/ER coller chuck ‘ B CNC tooling - SK/FMA(FMB) face mill arbors &
‘ 2
—
| =]
2
| ---------
| D331010 DAT40xFMA3/4"-1.5" 4.879 0.512 0.925 1.75 0.188 0.3125 .
| w9 06" x
" " w
D321010 DAT30<ER11-80 1278 0.60 ‘ D331012 | DAT40xFMAI-1/4"-2.21 5.589 0.63 1.614 2362 0.25 0.50 2.60 P
=)
D321011 DAT30XER16-63 1108 N . MI10%1.5P 0.70 p—_— : D331013 = DAT40xFMAI-1/2"-2.21 5.835 0.938 0.807 1.752 2,953 0.349 0.625 2.70 ;
F e " " =
D321012 DAT30XER16-120 1678 0.85 ‘\ | D331110 | DAT50xFMA3/4"-1.50 6.187 0.512 0.925 1.766 0.188 0.3725 4.20 =
" " =
D321013 DAT30XER20-63 1108 50 N " 45 - 0.80 : D331111 DAT50xFMA1"-2.00 6.687 0.687 0.63 1.240 1.969 0.188 0.375 4.50 =
x1. " u -
D321014 DAT30XER20-120 1678 105 | D331112 | DAT50xFMAI1-1/4"-1.50 6.187 0.63 1.614 1.75 0.25 0.50 4.70 ui
" " =
D321015 DAT30XER25-63 110.8 0 25 0.85 | D331113 | DATS0xFMAI1-1/2"-2.40 7.338 0058 0.807 1.752 2,953 0.349 0.625 5.00 =
M16x2.0P I " " ’ 5
D321016 DAT30xER32-63 110.8 50 3 0.90 ‘ D331114 DAT50xFMA2"-2.40 0.807 2.50 3.858 0.384 0.75 5.40 <
=5
D321110 DAT40ER11-80 148.4 1.05 ! 43 =
19 1 | DIN69871-1 =
D321112 DAT40xER16-70 138.4 1.30 I D341010 DAT30xFMB22-35 100.8 1.00 o)
\ =
D321113 DAT40xER16-100 168.4 M10%1.5P 1.40 ‘ D341011 DAT30xFMB27-35 102.8 20 16 315 58 5.8 12 1.05 g
o
D321114 DAT40xER16-125 1934 28 16 1.60 I D341110 DAT40xFMB22-35 1214 18 14 26 47 48 10 1.20 S
| o
D321115 DAT40<ER16-150 2184 1.65 | D341111 DAT40xFMB27-60 148.4 20 16 315 58 5.8 12 1.80 g
D321116 DAT40%ER16-180 2484 1.85 DIN69871-1 \ D341112 DAT40xFMB32-60 150.4 2 16 41 66 638 14 230 S
w
D321117 DAT40xER20-70 138.4 1.40 : D341113 DAT40xFMB40-60 153.4 25 205 48 82 8.3 16 2.80 S
D321118 DAT40xER20-100 168.4 1.50 | D341210 DAT50xFMB22-35 154.75 18 14 26 47 4.8 10 3.40
34 20 M12x1.75P — ‘
D321119 DAT40xER20-135 2034 1.95 ‘ D341211 DAT50xFMB27-35 156.75 20 16 315 58 5.8 12 3.50 =
w
D321120 DAT40xER20-160 228.4 2.20 | D341212 DAT50xFMB32-35 158.75 22 16 41 66 6.8 14 3.70 =
=
D321121 DAT40xER25-70 1384 63.55 50 1.60 | ! D341213 DAT50xFMB40-50 176.75 25 205 48 82 83 16 4.70 =]
I
D321122 DAT40xER25-100 168.4 1.85 . ‘ D341214 DAT50xFMB50-60 191.75 30 25 68 95 9.7 19 5.80 5
2=
D321123 DAT40xER25-150 2184 42 25 225 —=t I D341310 DAT40xFMB40F-60 158.4 30 66.7 MI2 89 8.3 15.9 2.9 ntion L2
o | ptiona o
D321124 DAT40xER25-180 2484 245 ol N A | D341410 DAT50xFMB40F-70 201.75 30 66.7 MI2 89 8.3 15.9 55 g
D321125 DAT40xER25-200 268.4 M16x2.0P 2.55 I | D341411 DAT50xFMBG60F-70 211.75 40 101.6 M16 129 12.5 254 5.7
|
D321126 DAT40xER32-70 1384 1.60 l— \] | D341510 DAT40xFS40-60 154.4 26 66.7 50 110 8.3 16 32
= T
D321127 DAT40xER32-100 168.4 2.00 - \ D341610 DATS0xFS40-70 197.75 26 66.7 50 110 8.3 16 5.7 - Inner
50 32 | Pull Studs %f,’;ﬁ%‘e’,“
D321128 DAT40xER32-135 203.4 2.15 ‘ D341611 DAT50xFS60-70 196.75 25 101.6 MI6 140 125 254 5.5
D321129 DAT40xER32-150 2184 2.65 -I [ |
D321130 DAT40xER40-70 138.4 1.50 = !
|~ |
. 63 40 M20%2.0P : : .
D321 | DAT40<ER4D-100 654 200 e ¢ | B CNC tooling - SK/FMC face mill arbors with coolant
D321132 DAT40xER40-150 218.4 330 O I
|
D321210 DAT50xER16-100 201.75 3.20 |
D321211 DATS0<ER16-135 236.75 430 I
28 16 M10x1.5P ‘
D321212 DAT50<ER16-160 261.75 4.50 |
Optional
D321213 DAT50XER16-180 281.75 4.80 |
D321214 DAT50xER20-100 201.75 3.40 :
Optional b
D321215 DAT50xER20-135 236.75 34 20 M12x1.75P 3.60 ptiona | ;\\
D321216 DAT50xER20-160 261.75 3.80 B : - Inner
{ ] ‘ Pull Studs  Gexagon
D321217 DAT50xER25-70 171.75 3.40 | Spanner
D321218 DAT50xER25-100 201.75 " 55 415 ER Collet ER Nut !
I
D321219 DAT50xER25-150 251.75 975 - 4.50 ‘
&
D321220 DAT50xER25-200 301.75 4.70 \'I 7 I
M16x2.0P |
D321222 DAT50xER32-120 221.75 “ “ 4.60 Spanner Pull Studs [ D601010 SK40-FMC16-35 D601112 SK50-FMC22-100 100
|
D321223 DAT50xER32-160 261.75 475 | D601011 SK40-FMC22-35 22 43 19 35 D601113 SK50-FMC27-55 27 58 21 55
D321224 DAT50xER32-200 301.75 4.90 I D601012 SK40-FMC27-35 27 58 21 35 D601114 SK50-FMC27-100 27 58 21 100
D321225 DAT50xER40-80 181.75 3.65 : D601013 SK40-FMC32-50 32 78 24 50 D601115 SK50-FMC32-50 32 78 24 55
D321226 DAT50xER40-120 221.75 4.80 Balancing Balancmg | D601014 SK40-FMC40-60 40 80 27 60 D601116 SK50-FMC32-100 32 78 24 100
63 40 M20x2.0P in 2 planes in 1 planes
D321227 DAT50xER40-160 261.75 5.20 ! D601110 SK50-FMC16-35 16 38 17 35 D601117 SK50-FMC40-55 40 80 27 55
|
D321228 DAT50xER40-200 301.75 5.40 ‘ D601111 SK50-FMC22-55 22 43 19 55 D601118 SK50-FMC40-100 40 80 27 100
I
|
|
I
|
|
57 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service : M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 58
T
|



HOLDING SYSTEM @ Machine tool accessory

Blﬁémsu Sﬁi’ HOLDING SYSTEM

\
! =
| w
&
. . . ‘ . . .
B CNC tooling - SK/CMA combi shell face mill arbor ‘ B CNC tooling - SK/SLN sidelock and mill holder &
‘ 2
—
\ [}
o
| [=
| DIN69871/A-SK40/SK50 Optional
\ D371010 DAT30xSLN6-50 97.8 M6x1.0P 0.73 -
o~
/1/ / ! D371011 DAT30xSLN8-50 97.8 18 s ‘ M6 28 MB8x1.25P 0.80 =}
; = | w
10 \ ‘ D371012 DAT30%SLN10-50 97.8 20 - M8 35 M10x1.5P 0.90 w
=)
ﬁﬂr Hunner ! D371013 DAT30xSLN12-50 97.8 225 - ‘ MI10 42 M12x1.75P 0.90 <
exagon S
I L Pull Studs Spanner | =
I ‘ D371014 DAT30xSLN16-63 110.8 24 - Mi2 48 M14x2.0P 1.10 =
=
‘ D371110 DAT40xSLN6-50 118.4 18 = ‘ M5 25 M6x1.0P 0.85 =
| S
| D371111 DAT40xSLNS-50 118.4 18 - M6 28 M8x1.25P 1.00 i)
-lﬂ--- -lﬂ--- £
\ D371112 DAT40xSLN10-50 118.4 20 5 ‘ M8 35 M10x1.5P 1.10 o =
D591010 | SK40-CMA16-55 D591110  SK50-CMA16-55 16 | = —
D371113 DAT40xSLN12-50 118.4 225 - M10 42 M10x1.75P 115 2 o]
D591011  SK40-CMA16-100 16 32 27 17 100 D591111  SK50-CMA16-100 16 32 27 17 100 ‘ = =
\ D371114 DAT40xSLN16-63 131.4 24 = ‘ Mi2 48 M14x2.0P 1.40 - =
D591012 | SK40-CMA22-55 22 40 31 19 55 D591112  SK50-CMA22-55 22 40 31 19 55 | - =
D371115 DAT40xSLN20-63 1314 25 - M16 52 M16x2.0P 1.30
D591013  SK40-CMA22-100 22 40 31 19 100 D591113  SK50-CMA22-100 22 40 31 19 100 \
\ D371116 DAT40xSLN25-100 168.4 24 25 ‘ M20 65 M18x2.0P 2.40
D591014 | SK40-CMA27-55 27 48 33 21 55 D591114  SK50-CMA27-55 27 48 33 21 55 | =
D371117 DAT40xSLN32-100 168.4 24 28 M20 72 M20%2.0P 2.70 " =
D591015  SK40-CMA27-100 27 48 33 21 100 D591115  SK50-CMA27-100 27 48 33 21 100 \ B a
‘ D371210 DAT50%SLN6-63 164.75 18 - ‘ M5 25 M6x1.0P 3.10 © 2
D591016 | SK40-CMA32-60 32 58 38 24 60 D591116  SK50-CMA32-55 32 58 38 24 55 2 =
! D371211 DAT50xSLN8-63 164.75 18 - M6 28 M8x1.25P 3.10 I =
D591017 | SK40-CMA32-100 32 58 38 24 100 D591117  SK50-CMA32-100 32 58 38 24 100 \ = =
| D371212 DAT50xSLN10-63 164.75 20 = ‘ M8 35 M10x1.5P 330 — =
D591018 | SK40-CMA40-60 40 70 41 27 60 D591118  SK50-CMA40-70 40 70 41 27 70 [+ o
\ D371213 DAT50xSLN12-63 164.75 25 - MI0 42 M12x1.75P 3.50 o
D591019 | SK40-CMA40-100 40 70 41 27 100 D591119  SK50-CMA40-100 40 70 41 27 100 ‘ =
| D371214 DAT50xSLN16-63 164.75 24 - ‘ Mi12 48 M14x2.0P 345
)
\ D371215 DAT50xSLN20-63 164.75 25 - Mi6 52 M16x2.0P 350 a1 ! =
B CNC li SK/MTA d : D371216 DAT50xSLN25-80 181.75 24 25 ‘ M20 65 M18x2.0P 4.20 d2 =
- a
too ing / morse taper adapter \ D371217 DAT50xSLN32-100 201.75 24 25 M20 72 M20x2.0P 5.00 3
w
‘ D371218 DAT50%SLN40-100 201.75 30 32 ‘ M20 90 M20x2.0P 5.60 ) a
| Optional (=)
DIN69871-A ‘ D371219 DAT50xSLN42-100 201.75 30 32 M20 90 M20x2.0P 5.70 é
Optional _
5 priona ! D371220 DAT50%SLN50-125 22675 35 35 ‘ M20 100 M20x2.0P 5.90 ‘;\ I-*d) =
[ \ =
i = =k | D371221 DAT50xSLN63-150 251.75 40 40 M20 125 M20%2.0P 620 Inner X
Hexagon
I D371222 DAT50xSLN63-150 251.75 40 24 ‘ M20 125 M16x2.0P 6.20 Pull Studs Spanner Lock Screws
\
| Ll |
L Pull Studs Morse Arbors  Morse Sleeve Morse Sleeve
\
\
‘ B CNC tooling - SK/SLN sidelock end mill holder with coolant
D351010 | DAT30xMTAI-50 12.065 D351113  DAT40xMTA4-95 = 1634 63.55 31.267 ‘ :
\ fcs  DING9s7IB
D351011  DAT30xMTA2-60 = 107.8 60 50 32 17.780  0.80 D351210  DAT50xMTA1-45 = 14675 45 97.50 25 12.065  3.00 | SK40/SK50 1
D351012 | DAT30xMTA3-75 = 1228 | 75 50 40 23825 1.00 D351211 | DATS0xMTA2-60 16175 = 60  97.50 = 32 17.780 = 3.10 :
D351110  DAT40xMTAI-S0 1184 50  63.55 25 12065 120 D351212  DATSOxMTA3-65 16675 65 9750 40  23.825 320 ‘ EE FIG2 o4
D351111 | DAT40xMTA2-50 | 1184 | 50 | 63.55 32 17.780  1.00 D351213  DATS0XMTA4-95 | 19675 95 | 9750 48 31267 340 ! [t g’ggﬁ:}g? ~
\
D351112 = DAT40xMTA3-70 =~ 1384 = 70 6355 = 40 23825 110 D351214  DATS0xMTA5-105 20675 105 9750 63 44399  3.60 ‘
| A Optional
\ 4
B CNC tooling - SK/MTB morse taper adapter ‘ Inner N
| Hexagon
| Pull Studs Spanner Lock Screws
\
MT NO: / D361110  DAT40-MTBI1-45 128.4 1.05 \ D611011 SK40-SLN08-50(B) 08 28 50 2 D611111 SK50-SLN08-50(B) 8 28 50 2
- \
G D361111  DAT40-MTB2-45 2 1284 32 MI0 1.85 D611012 SK40-SLN10-63(B) 10 35 63 2 D611112 SK50-SLN10-63(B) 10 35 63 2
Pull Studs ~ Morse Arbors |
= = D361112  DAT40-MTB3-75 3 143.4 40 MI2 1.30 \ D611013 SK40-SLN12-63(B) 12 42 63 2 D611113 SK50-SLN12-63(B) 12 42 63 2
\
% ﬂ D D361113  DAT40-MTB4-90 4 158.4 48 MI6 1.60 ‘ D611014 SK40-SLN14-63(B) 14 44 63 2 D611114 SK50-SLN14-63(B) 14 44 63 2
Ll D361210  DAT50-MTBI-45 1 146.75 25 M6 3.80 \ D611015 SK40-SLN16-63(B) 16 18 63 2 D611115 SK50-SLN16-63(B) 16 48 63 2
L Morse Sleeve Morse Sleeve ‘
D361211  DAT50-MTB2-45 2 146.75 32 M10 3.90 ‘ D611016 SK40-SLN18-63(B) 18 50 63 2 D611116 SK50-SLN18-63(B) 18 50 63 2
-- D361212 | DAT50-MTB3-60 3 161.75 40 MI2 3.90 ‘ D611017 SK40-SLN20-63(B) 20 52 63 1 D611117 SK50-SLN20-63(B) 20 52 63 2
D361010 = DAT30-MTB1-45 1 928 0.55 D361213  DAT50-MTB4-75 4 176.75 50 MI6 420 ! D611018 SK40-SLN25-90(B) 25 65 90 1 D611118 SK50-SLN25-90(B) 25 65 90 3
\
D361011  DAT30-MTB2-60 2 107.8 32 M10 0.60 D361214 | DAT50-MTBS5-120 5 221.75 70 M24 4.30 ‘ D611019 SK40-SLN32-100(B) 32 72 100 3 D611119 SK50-SLN32-105(B) 32 72 105 3
\
\
\
\
\
|
59 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service : M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com
\
\



Blﬁémsu Sﬁi’ HOLDING SYSTEM

HOLDING SYSTEM @ Machine tool accessory

B CNC tooling - BT milling chuck set

D391010 DAT30%MLC20-85 132.80 D1001010 BT30xSC20%5
D391011 DAT30xMLC20-100 ‘ 147.80 ‘ 100 ‘ 70 ‘ 50 ‘ 20 ‘ 55 ‘ 2.1 D1001011 BT40xSC20%5 6-16mm ol (f ff)?f’m p
D391110 DAT40xMLC20-85 153.40 85 70 63.55 20 55 24 D1001012 BT50%SC20%5
D391111 DAT40xMLC20-100 ‘ 168.40 ‘ 100 ‘ 70 ‘ 63.55 ‘ 20 ‘ 55 ‘ 25 D1001110 BT30xSC25%7 o4, 06,
D391112 DAT40xMLC20-135 203.40 135 70 63.55 20 55 28 DI1001111 BT40xSC25%7 4-20mm @8, 10,
D391113 DAT40xMLC32-105 ‘ 173.40 ‘ 105 ‘ 75 ‘ 63.55 ‘ 32 ‘ 73 ‘ 2.7 DI1001112 BT50%SC25%7 TN
D391210 DAT30xMLC32-135 203.40 135 75 63.55 32 73 3.0 D1001210 BT30xSC32x7 6, 08,
D391310 DAT50xMLC20-105 ‘ 206.75 ‘ 105 ‘ 70 ‘ 97.50 ‘ 20 ‘ 55 ‘ 45 DI1001211 BT40xSC32x7 6-25mm 10, ®12,
D391311 DAT50%MLC20-150 251.75 150 70 97.50 20 55 49 DI1001212 BT50%SC32x7 @16, 20, 925
D391312 DAT50xMLC32-110 ‘ 211.75 ‘ 110 ‘ 75 ‘ 97.50 ‘ 32 ‘ 73 ‘ 52 D1001310 BT30xSC42x8 o6, 08,
D391313 DAT50xMLC32-135 236.75 135 75 97.50 32 73 59 DI1001311 BT40xSC42x8 6-32mm 10, ®12, ®16,
D391314 DAT50xMLC42-110 ‘ 211.75 ‘ 110 ‘ 90 ‘ 97.50 ‘ 95 ‘ 95 ‘ 6.0 D1001312 BT50xSC42x8 TR, R
www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 62

|
‘ =
| w
=
%)
N o . |
B CNC tooling - SK/APU keyless drill chuck with SK shank ‘ &
‘ 2
—
! SK JACOBS TAPER ADAPTER §
: Optional DIN69871-A a2
DIN69871-A R \ Ly 3 .
| S Optional ! g
| 2
| L
] Pull Studs 8
| | =
( e | i <
i | oo | e L0 Jal 1 )] = 2
Pull Studs Spanner Titanium Alloy Jaw ! Orderio: Type : . 2 J NW.(ke) L1 g
I ;
| D401010 DAT30xB12-40 106.3 12.065 0.70 Drill Chuck  Keyless Chuck | L | “Ii
| D401011 DAT30xB16-40 111.8 50 ‘ 15.733 45 | MI12x1.75P 0.85 '<T:
—
——————— | g
| D401110 DAT40xB12-40 126.9 ‘ 12.065 1.25 D401210 DATS50xB12-40 160.25 12.065 :Il
D381010 DAT30xSPUS-80 127.8 0.04 0.60 =
| D401111 DAT40xB16-40 132.4 15.733 1.30 D401211 DAT50xB16-40 165.75 15.733 3.20 =
D381011 DAT30xSPU13-120 120 167.8 75 50 50 13 0.04 1.45 | 63.55 50 M16x2.0P 97.5 80 M24x2.0P
‘ D401112 DAT40xB18-40 140.4 ‘ 17.780 1.40 D401212 DAT50xB18-40 173.75 17.780 3.30
D381012 DAT30xSPU16-125 125 172.8 80 50 57 16 0.04 1.78 S
| D401113 DAT40xJTA6-40 133.8 17.170 1.30 D401213 DATS0xJTA6-40 ‘ 165.75 17.170 3.40 =
D381110 DAT40xSPUS8-75 ‘ 75 ‘ 143.4 ‘ 55 ‘ 63.55 ‘ 37 8 0.04 1.46 | 3
)
D381111 DAT40xSPU13-100 100 168.4 75 63.55 50 13 0.04 2.00 ! §
| o
D381112 DAT40xSPU16-115 ‘ 105 ‘ 173.4 ‘ 80 ‘ 63.55 ‘ 57 16 0.04 233 | . c c I' s OC O " h k g
D381310 DAT50xSPUS-75 75 176.75 55 97.50 37 8 0.04 3.86 I N too Ing - K/E ( Z) co et chuc :
|
D381311 DAT50xSPU13-100 ‘ 100 ‘ 201.75 ‘ 75 ‘ 97.50 ‘ 50 13 0.04 4.40 | g
Optional
D381312 DAT50xSPU16-105 105 206.75 80 97.50 57 16 0.04 4.73 | prons B3
‘ DIN69871-1 DIN6358 E
| 0 E
| | =]$ o
B CNC tooling - SK milling chuck | | g 3
ooling - SK milling chuc 3
| Balancm Balancm oy
0ZCollet  EOCNut  Spanner  Pull Studs 3 HT7E NG 2 &
| 2
| wn
| ---- 2
Optional | D411010 DAT30xEOC25-80 127.8 329 MI12x1.75P g
j. : D411110 DAT40xEOC25-80 148.4 35 63.55 60 329 M16x2.0P 1.85 '
D [,I/ | D411111 DAT40xEOC25-100 168.4 35 63.55 60 329 M16x2.0P 2.30
! D411112 DAT40xEOC25-120 188.4 35 63.55 60 329 M16%2.0P 2.55
Milc Collet Spanner Pull Studs |
Heavy cutting, Large clamping force | D411113 | DAT40xEOC32-90 158.4 35 63.55 7 413 M20<20P 195
I D411114 DAT40xEOC32-120 188.4 35 63.55 72 413 M20x2.0P 2.35
|
DIN69871-1 | D411210 DATS0XEOC25-70 171.75 35 97.50 60 329 M16x2.0P 3.25
| D411211 DAT50xEOC25-140 241.75 35 97.50 60 329 M16x2.0P 5.10
|
_ ‘ D411212 DAT50xEOC32-80 181.75 35 97.50 72 413 M24x2.0P 4.40
| Q
“ | D411213 DAT50xEOC32-140 241.75 35 97.50 72 41.3 M24x2.0P 5.70
L ‘
|
Type A Type B !
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
I
|
|
[
|



==Iﬁémsu Sﬁi’ HOLDING SYSTEM

HOLDING SYSTEM @ Machine tool accessory

B CNC tooling - ER collet chuck set B CNC tooling - Pull studs/retention knobs

=
o
%
%
(&)
=
3
o
o
=

[J we could supply different kind of ER collet set,
such as BT-ER, CAT-ER and SK-ER.

MILLING, LATHE, GRINDING ACCESSORY

D971010 BT30xER11x7
DI971011 BT40xER11x7 1-7mm 01, 02, 03,
D4, OS5, D6, D7 MAS BT-30,40,50
DI971012 BT50xER11x7
-ﬂ---“
D971013 BT30xER11x13 1, D15, G2, D2.5,
@3, ©3.5, D4, D791010 BT30%x45° 45 16.5 12.5 L
D971014 BT40xER11x13 1+0.5-7mm D45, 5. 5.5
o D791011 BT30%60° 60 43 23 18 16.5 11 7 12.5 Mi2 L1
DI71015 BT50xER11x13 D6, 6.5, D7 | i -
D791012 BT30x90° 90 43 23 18 16.5 11 7 12.5 MI12 ° L2 =
D971110 BT30xER16x10 D1, 2. D3, D4 > I — =
P D791110 BT40x45° 45 60 35 28 23 15 10 17 Mil6 | 5‘
DI971111 BT40xER16x10 1-10mm D5, 96, 7, OB, ‘| =
D9, ®10 D791111 BT40x60° 60 60 35 28 23 15 10 17 Ml6 == s} é
DI971112 BT50xER16x10 3| a) gl A S
D791112 BT40x90° 90 60 35 28 23 15 10 17 Ml6 l | =
D971113 BT30xER16%8 L | L]
D3, 04, O35, D6, D791210 BT50x45° 45 85 45 35 38 23 17 25 M24 N [im]
D971114 BT40xER16%8 3-10mm 7. 8. D9, B0 (&)
T D791211 BT50%60° 60 85 45 35 38 23 17 25 M24 =
DI971115 BT50xER16x8
D791212 BT50%90° 90 85 45 35 38 23 17 25 M24 —
DI971210 BT30xER20x12 2, D3, D4, DS, E
D971211 BT40xER20x12 2-13mm D6, O7, OB, I, E
D971212 BT50XER20x12 010, @11, 012, 13 With through hole for internal coolant g
w
orcer o H---ﬂ---““
D971213 BT30xER20x10 4, ©5, 06, D7, - VP .
D971214 BT40xER20%10 4-13mm @©8, ©9, 10, 11, D791310 BT40x45° é
D971215 BT50xER20%10 GO D791311  BT40x60° 60 60 ‘ 35 ‘ 28 23 15 10 17 4 MI6 §
D971310 BT30xER25%15 @2, D3, D4, OS5, D791312 BT40x90° 90 60 35 28 23 15 10 17 4 Ml16
D6, D7, B8, DI, ‘ ‘
- D791410 BT50x45° 45 85 45 35 38 23 17 25 7 M24
D971311 BT40xER25%15 2-16mm ®10, O, D12,
D971312 BT50xER25%15 D13, D14, D15, D16 D791411 BT50x60° 60 85 45 35 38 23 17 25 7 M24
D971313 BT30xER25x13 D4, OS5, D6, DT, D791412 BT50x90° 90 85 ‘ 45 ‘ 35 38 23 17 25 7 M24
971314 40xER25%13 4-16 UELEEL I,
D97 BT40<ER25 -omm 011, 012, ©13,

With through hole for internal coolant
D971316  BT30xER25%5
D791510  DIN30-A MI2
D971611 CAT30xER11x7pc D971318  BTS0xER25x5
1/16, 3/32, 1/8, D791610  DIN40-A 54 26 20 23 19 14 17 7 Ml16
D971612 CAT40xER11x7pc 1/16-1/4 S0 316,73, 1/ D971319  BT30xER25x7
B 4, D6, Y, D791611 = DIN40-A-L 54 29 23 23 19 14 17 7 Ml16
D971613 CAT50xER11x7pc D971320  BT40xER25%7 4-16mm 0. OB G
—— T ———— — — e D791710  DIN50-A 74 34 25 36 28 21 25 11.5 M24
pe 1/32, 1/16, 3/32,
D971615 CAT40xER16x10pc | 1/32-3/8 ) 41/;3;13{:1?,1 /73/;2}’/8 D971410 = BT30xER32x18 ©3, 4, BS, B6, O7, B8, B, D10,
DI971616 CAT50XER16%10pc T ) D971411  BT40xER32x18 3-20mm D11, 12, ®13, O14, ®15, D16,
D971617 CAT30xER20x12; D971412  BTS50xER32x18 @17, @18, @19, 920
x x x x
L 1/16,3/32, 18, 3/16, ISO-A TYPE FOR ISO/DIS 7388/2/A
D971618 CAT40xER20x12pc | 1/16-1/2 7/32,1/4,5/16, 11/32, D971413  BT30xER32x11
D9Y71619 CAT50xER20%12pc ’ T D971414 = BT40xER32x11 4-20mm @10, @12, ®13, 15,
D16, 18, 20 D791810 1SO40-A 54
D971620 CAT30xER25x15pc 1/16, 3/32, 1/8, 3/16, D971415  BTS0xER32x11 T
D791910 1S050-A 74 34 25 36 28 21 25 11.55 M24
7132, 1/4, 5/16, 11/32,
D971621 CAT40xER25x15pc | 1/16-5/8 S R, i, 1) D971416 | BT30xER32%6
D971622 CAT50%ER25%1 f7/32 9,/16 5,/8 ' D97141 BT40xER32x 6-20: 6, ®8, B10,
9716 50xER25%15pc , 9/16, 971417 0xER32x6 mm ®12, B16, 20
D971623 CAT30xER32x18pc 1/16,3/32, 1/8, 3/16, D971418  BTS50xER32x6
7/32, 1/4, 5/16, 11/32, 3/8, @4, ©5, D6, D7, O, ©I9, ®10, D11, D12,
WA CAT4OXER32x18pe | V162552133 3116, 112, 17132, 9116, DI | ERRRDE e i B ISO-B TYPE FOR ISO/DIS 7388/2/8
D971625 CAT50xER32x18pc 5/8,21/32, 11/16, 3/4, 25/32 D971511 | BTS0xER40x23 D20, D21, D22, D23, D24, D25, D26
D971512  BT40xER40x15
D971626 CAT40xER40%23pc LVNG, E1ERS, LV, NG, 4-26mm @4, 3, ©6, 08, 410, 212, B13, V15, D792010 1S040-B 445 16.4 11.15 225 18.95 12.95
7/32, 1/4, 5/16, 11/32, 3/8, D971513 | BTSOXERA0X1S 16, D18, D20, D21, D22, H25, D26
1/16-1 13/32, 7/16, 112, 17/32, 9/16, D792110 1S050-B 65.5 25.5 17.95 37 29.1 19.6 25 11.55 M24
5/8,21/32, 11/16, 3/4, 25/32, D971514  BT40xER40x7
D971627 CAT50xER40%23pc e e g 6-25mm ©6, D8, ©10, D12, ®16, D20, G25
g » 118, g g D971515  BTS0XER40x7 L
63 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 64




Bluestar HOLDING SYSTEM / TOOL CART

TOOL CART @ Machine tool accessory

M Tool cart - Tool trolley

Specifications
[J The NC tool trolley uses high quality caster wheel,
so it has a strong load and resistant ability.
[ It is suitable for the store and transportation of all kinds of tools and holders.

High quality aluminium handle One piece of slip mat for Mobile design: 5” casters and
each drawer 2 with brake, easy to move and stop

[ The 4 side lines of tools socket could be placed horizontally and inclined. Model No. TC309-1 TC309-2 TC309-3
Drawer numbers 5 drawers 6 drawers 7 drawers
Product size 700x480x850mm 700x480x850mm 700x480x850mm
ST | roowsaiotomm | T00wdg0<totomm  700wdgo<totomm
D841010 BT30 #30 3.90 big drawer size 565x400x145mm 565x400x145mm 565x400x145mm
D841011 ‘ BT40 #40 4.20 small drawer size 565x400x65mm 565x400x65mm 565x400x65mm
D841012 BT50 #50 11.60 GW/NW 69/63kgs 71.5/66.5kgs 75/69.5kgs

65 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com

[
‘ =
| w
1
. . ‘
B CNC tooling - Pull studs/retention knobs ‘ M Tool cart &
‘ 2
M | g
| Specifications 780x465x620mm
Mazak For Mazak Machine _ : [ Intergrated ergonomic handle within worktop Size with castor 780x465x970mm x
493 PR S [ Optimized storage--compatible with the modular storage system ) . 2
L 3| o | . . . . . 3 big drawer size 545%395x125mm 753
E ‘ [ Central locking with two reversible keys providing security e
D792210  MAZAKBTS0 652 | 252 1758 18 37 | 289 208 25 10 6 M2 % | 0 Anti-shock protection on all four corners SEREREEE I 2
D792310 MAZAKBT40 441 191 14 - 22 188 | 1245 17 7 - M16 Li-z \ [ Porous side panel for hanging more tools 60/58kgs o
D792410 MAZAK CAT40  41.1 16.1 11 - 22 188 | 1245 17 7 - M16 : =
L - i o
‘ A ——— i &
e ) .
w o
L ‘ =
<
L1 B ! o
— [ =
L2 | ‘ ! =
= =
: ‘ d ic handl id | for hangi I hanism i d =
Mitsui For Mitsui Machine | o ‘ In_ter_grate ergonomic handle Porous side panel Tor hanging D_ravyer release mechanism |ncor_porate .
~ m within worktop more tools within the handle, to prevent accidental drawer opening
=1 k=1 [} B I [}
y i | :
o
D792510 = MITSUI BT40 90 50 25 18 23 15 10 17 M16 ! T " | I =
L @0 | T
D792610 ‘ MITSUI BT50 90 71 31 23 36 24 18 25 M24 N | =
o
! =
" ‘ Specifications 2
) Model No. TC32
: [ Front centralized safety lock SLED e
‘ [ Fully retractable drawers, easier to take or replace the tool [Pietliil o2 660x460x850mm
| [0 5mm non slip ruber mat 660x460x970mm =
. . =
L ) =l e 21 O ‘ U Ball bearing slide big drawer size 510x410x140mm E
Cat For Mitsui Machine H ! [ Mist body, scratch-resistant, easy to arrange . o
| small drawer size 510x410x60mm 8
S
D792710 CAT40 45 38.1 16.2 1.2 238 18.8 124 7.1 5/8" : i z
—_—
D792810 ‘ CATS0 45 58.4 25.4 17.8 36 28.9 208 11.8 1" L | g
! =
[
Cat-bt For Mitsui Machine | Side is equipped with a small The strengthen rubber casters,
| lattice, convenient to put nut 2 swivel with brake and fixed casters
I I T S N N S N T | and sl et
D792910 = CAT40x45° 45 57 32 25 23 15 10 - 5/8" L |
D792911 ‘ CAT40%60° 60 57 32 25 23 15 10 - 5/8" L1 M :
D792912 = CAT40x90° 90 57 32 25 23 15 10 - 5/8" "’ E L2 4 |
D793010 ‘ CAT50x45° 45 78.6 45 35.2 38 23 17 - 1" [ ] ‘
. /m— [
D793011 = CAT50x60° 60 78.6 45 35.2 38 23 17 - 1" JE ] —I- S, I |
o o
D793012 ‘ CAT50x90° 90 78.6 45 352 38 23 17 - 1" : u_U_ !
[
D793110 = CAT40x45°M 45 57 32 25 23 15 10 17 M16 |
D793111 ‘ CAT40%x60°M 60 57 32 25 23 15 10 17 M16 | ABS plastic lid Durable drawer: strong ball bearing
| ) . )
D793112 CAT40x90°M 90 57 2 25 23 15 10 17 M16 ‘ slide, 80kg maxinum loading for each drawer
[
[
[
[
[
I
[
[
[
I
[
[
[
[
[
[
I
[
[
I
[
I
I
I
[
|
I
I
[
1
I



mluestar

M Tool locking device

EDGE FINDER / MILLING MACHINE ACCESSORY

D831010 BT30 #30 3.90
D831011 BT40 #40 ‘ 420
D831012 BTS50 #50 11.60
D831110 CAT30 #30 ‘ 3.90
D831111 CAT40 #40 420
D831112 CAT50 #50 ‘ 11.60
B Edge finder - Electronic edge finder
Specifications
[ Touch point LED indication
J Made from high quality alloy steel
[ Hardened and precision ground Model No.
543-001 96.5%20x10mm 0.01mm
m 543-002 120x18x10mm 0.01mm

B Edge finder - Mechanical edge finder

Specifications
[0 Made from high quality alloy steel
[ Easy to use, quick and accurate

Model No.
544-001 89.5%x9.5x10(4)mm
544-002 82.5x9.5x10mm
544-003 89x10x10(4)mm
544-004 89.5x9.5x10(6)mm
544-005 82.5x10x10mm

Concentricity

0.005mm
0.005mm
0.005mm
0.005mm
0.005mm

B Dividing head and rotary table - Semi-universal dividing head

e

B

——

H1

bl

. a
Taper of Diameter of
_- SRR
204 140 173 100 166 90 16 MT2
BS-0 18

MMA-BS0
8.03" 5.51" ‘ 6.81" 3.93" 6.53" 3.54" 0.63" B&S No.7
242 175 220 128 206 113 16 MT3
MMA-BS1 BS-1 20
9.52" 6.89" ‘ 8.66" 5.04" 8.11" 4.45" 0.63" B&S No.9
Tail stock
Model Al B1 H1 h al bl gl
175 87 107 100 130 92 16
BS-0
6.89" 3.42" 4.21" 3.93" 5.12" ‘ 3.62" 0.63"
183 87 137 128 158 110 16
BS-1
7.2" 3.42" 5.39" 5.04" 6.22" ‘ 4.33" 0.63"

MILLING MACHINE ACCESSORY

@ Machine tool accessory

B Dividing head and rotary table - Semi-universal dividing head

Standard accessories

DIVIDING PLATEABC
[J Worm gear reduction ration 1:40

3

16 17

unit:mm
Plate A 15 18 19 20
Number
of holes Plate B 21 23 ‘ 27 ‘ 29 31 33
Plate C 37 39 41 43 47 49

Optional accessories

3-JAW CHUCK

[ 4" or 5" 3-jaw chuck for BS-0

] 5" or 6" 3-jaw chuck for BS-1

[ 6" or 7" or 8" 3-jaw chuck for BS-2

M Dividing head and rotary table - Universal dividing head

B1

Standard accessory for BS-2
BS-2A

[0 BS-2A comes with a tail stock, a set of dividing plate,
a set of carrier clamp, a 3 jaw plate, a center.

[0 BS-2A body structure is same as BS-2 without
changing gear arbor or bracket.

Universal index B&S No.2(head-stock)

%4

Standard accessory for BS-2A

Optional accessories

3-JAW CHUCK

74" or 5" 3-jaw
chuck for BS-0

15" or6" 3-jaw
chuck for BS-1

16" or 7" or 8" 3-jaw
chuck for BS-2

Work hole
Item No. taper
370 280 236 133 212 134 16 MT4
MMA-BS2 BS-2
14.57" 11.02" 9.29" 5.24" ‘ 8.35" 5.28" ‘ 0.63" B&S NO.10
264 210 236 133 212 134 16 MT4
MMA-BS2A BS-2A
10.39" 8.26" 9.29" 5.24" ‘ 8.35" 5.28" ‘ 0.63" B&S NO.10
Universal index B&S No.2(tail-stock)
Model Al B1 H1 h al bl gl
183 90 156 133 175 122 16
BS-2
‘ 7.2" ‘ 3.42" 6.14" 5.24" 6.89" 48" ‘ 0.63"
183 90 156 133 175 122 16
BS-2A
‘ 7.2" ‘ 3.54" 6.14" 5.24" 6.89" 4.8" ‘ 0.63"

www.dlbluestar.com

M E-mail: info@dlIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

www.dlbluestar.com E

=
o]
7
52
)
S
=
|
o
o
=

MILLING, LATHE, GRINDING ACCESSORY

VICE & WORKHOLDING

WORKSHOP EQUIPMENT



INDUSTRIAL SUPPLY
.
Eﬂuestar MILLING MACHINE ACCESSORY MILLING MACHINE ACCESSORY @ Machine tool accessory
|
! =
| -
B Dividing head and rotary table - Horizontal/vertical rotary table ‘ M Dividing head and rotary table - Horizontal/vertical super indexing spacers &
‘ S
| [=
HV-6 Mini Rotary table \
|
>
‘ S
| 7
\ &
\ i 160 160 3-55 55-145 205 40 =]
) | / cs-6 =
—— ‘ 6.3 6.3 012-217"  2.17-5.71 8.07 157 =
\f | 200 200 4-85 65-200 254 ) S
: | cs-8 ool
Flange, chuck, 7.87" 787" | 016-335" 256~7.87" 10" 1.65" =
— ‘ dividing plate <
‘ and tail stock =
! are optional - =
| unit:mm/in =
| 16 50 250 238 207 182 140 186 o
| cs-6 S
‘ 0.63" 1.97" 9.84 937" 8.15" 74 55" 7.32" 5
| 16 63 320 294 2355 230 160 213 2
cs8 =
! 0.63" 2.48" 126" 11.57" 9.27" 9.06" 6.3" 8.39" =
I =
| =
‘ s
\ 93 12 65 16 122 191 80 16 48
| cs-6 —
‘ 3.66" 441 ‘ 2.56" 0.63" 48" ‘ 7.52" 315" 0.63" 105 =
unit:mm | 93 1265 75 16 155 23467 95 20 74 =
| cs-8 =
Item No. Center sleeve T D [AWA()] o
I N T T T A N : | S
| n
. . % 80 65 15 95 10 © 12 i o 65 | k4
. .. . e =
s s 256 G P~ p— e 143 ‘ M Dividing head and rotary table - Dividing plates =
|
110 87 85 145 15 12 12 9
10 10 7 MT2 72:1 !
433" ‘ 3.42" 3.35" 571" 453" 0.47" ‘ 047" 19.84 |
|
150 85 100 200 160 12 16 12
8 8 P MT2 \
591" ‘ 3.35" 3.93" 7.87" 6.29" 0.47" ‘ 063" 264 |
200 105 135 265 220 14 16 31 ‘
10 10 &P MT3 \
7.87" ‘ 413" 531" 10.43 8.66" 0.55" ‘ 0.63" 66 |
250 18 165 325 280 14 16 a7 ‘
8 8 0 MT3 \
9.84" ‘ 463" 6.49" 12.79" 11.02" 0.55" ‘ 0.63" oot 9% |
300 135 195 301 330 16 16 ’ 76 \
10 10 e MT4 ‘
11.81" ‘ 531" 7.68" 15.39" 12.99" 0.63" ‘ 063" 1826 | S — — umber of holes
350 135 230 450 390 16 16 95 |
. o ® e ‘ A 15,16,17,18,19,20
1878 sar 9.05" w 15.35" 063" o oer 209 ‘ MMA-DPL bPL B 212327293133 HV4, HV6 27
400 145 262 505 436 16 18 135 |
- - ® - | 37,39,41,43,47,49
15.74" ‘ 57" 1031" 19.88" 17.16" 0.63" ‘ 071 207 Al 26,3034,38,41, 44,47 51,57
: A HV8, HV10, HV12,
A2 28,32,37,39,43,46,49,53,59
| MMA-DP2 DP2 (RRYA (NVA 48
| . B1 61,67,71,77,81,87,91,97 s o
B Dividing head and rotary table - Tail stock | B2 63,69,73,79,83,89,93,99 '
|
|
\
‘ B Dividing head and rotary table - Flange
Item No. MMA-TSOA MMA-TSO MMA-TS1 MMA-TS2 MMA-TS3 MMA-TS4 MMA-TS5 |
Model TS-0A TS0 TS-1 TS-2 53 TS-4 TS5 :
HV-8, | =
Suit for model o HV-4 HV-6 HV-10, i cs-6 cs-8 | d
Ve 85mm/3.34T | 110mm/4.3" | 131mm/5.15"  210mm/8.26" 300mm/1181" 145mm/5.7"  200mm/7.9" | i MMA-FLTO/5C | FLT-0/5C 138 100 20 HV6,8
65mm/255" | 75mm/3"  97mm/3.81"  130mm/5.12" 210mm/8.27" 115mm/45"  130mm/5.1" ! i3 MMA-FLT1/6C | FLT-1/6C 170 ‘ 130 2 ‘ HV8,10
|
3.5kg 3.9kg 13kg 18kg 21kg 18kg 18kg | MMA-FLT2/8C  FLT-2/8C 195 155 2 HV10,12,14
TS-1.2.3 TS-4.5.0 |
|
|
|
|
|
www.dIbluestar.com M E-mail: info@dIbluestar.com ({) TEL: +86-411-3975 3089 for Customer Service : N E-mail: info@dlbluestar.com () TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 70
\
|



Specifications
[J Made of high tensile cast iron properly seasoned against distortion
[J Webbed style accurately machined, square parallel on outside faces and ends

B Angle plate and slide table - Cross slide table

Model No. Size

MMA-AP200 200%200
Model No. MMA-AP300 300x200
MMA-FT01 185x100 80 MMA-AP301 300%300
MMA-FT02 225x175 105 ‘ 90 MMA-AP400 400300
MMA-FT03 330220 190 100 MMA-AP401 400x400
MMA-FT04 425%240 225 ‘ 150 MMA-AP500 500x400
MMA-FT05 600%240 400 150 MMA-AP501 500x500
MMA-FT06 730x210 500 ‘ 210 MMA-AP800 800x600
71 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 72

INDUSTRIAL,SUPPLY
==|ues ar MILLING MACHINE ACCESSORY MILLING MACHINE ACCESSORY @ Machine tool accessory

[
‘ =
‘ 5
B Dividing head and rotary table - Tilting rotary table 1 B Angle plate and slide table - Swivel angle plates &
| =
‘ P S
B L \ Specifications - =

2 " I [J Adjustable from horizontal to vertical 90°

‘ [ 2 screw lock setting. Saves setup time I =
1 ‘ [J Machined "T" slots e =
w ‘ @
| A &
o | <
< | H ! o
‘ l S
‘ =
] | 1 ) bl E
w B wi
f ! T
M | =
P i 4_
1k 1 | Model No. T-slote ‘25
= = _-- =
ez I =
h I MMA-SPO1 6"/150mm 5"/130mm 10 =

Specifications : MMA-SP02 8"/200mm 6"/150mm 120 10 .

O Tilting range from 0 - 90 degrees from the horizontal to vertical position and locked | MMA-SP03 10"/250mm 8"/200mm 165 12 =

[J Optional dividing plates with divisions 2-66, divisible of 2,3 &5 from 67-132 I MMA-SPO4 12%/350mm 10"/255mm 190 14 g

[ 90-1 ratio ! =

[ 1" readout on the hand wheel : &S

[0 2" Min reading of the tilting vernier | . . E

[ Dividing head,flange, chuck and tail stock are all optional. \ [ | Angle plate and slide table - Tlltlng tables e

‘ S
[

--I--——--“—— | specifications N
MMA-T160 255mm 172mm 168mm 160mm 11mm 138mm 100mm 160mm 40mm 25mm 6mm | [ Perfect for stting work at any angle during milling of other operations A §
MMA-T200 296mm 213mm 186mm 200mm 14mm 175.5mm 120mm 180mm MT3 ‘ 40mm ‘ 30mm 6mm : [J 2 screw lock setting. Saves setup time —_— F %
MMA-T250 310mm 252mm 235mm 250mm 14mm 199mm 140mm 205mm MT3 40mm 30mm 6mm | [J Range -45° to +45°. Graduated in degrees for setting purpose I . ' E
MMA-T320 380mm 322mm 252mm 320mm 16mm 241mm 175mm 255mm MT4 ‘ 40mm ‘ 40mm 10mm ! i %

[ &
MMA-T400 500mm 400mm 306mm 400mm 16mm 295mm 217mm 320mm MT4 50mm 40mm 10mm | U U é
| | g
[
[
B Angle plate and slide table - Cross slide table with swivel base | s
T-SIOt E
‘ S TS N
[
| MMA-TTOL 7"/180mm 5"/130mm 91 10
! MMA-TT02 10"/250mm 7"/178mm 133 12
[
| MMA-TTO03 12"/300mm | 9-3/16"/240mm 164 12
: ! MMA-TTO04 15"/380mm  10-1/4"/ 260mm 185 16
MMA-STOL 295175 105 9% | MMA-TTO05 24"/6000mm 12"/300mm 205 16
MMA-ST02 330%x220 190 ‘ 100 :
MMA-ST03 425%240 225 150 [
prpp— p— e | e | B Angle plate and slide table - Slotted angle plates
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
I
[
I
I
I
[
|
I
[
[
1
I



INDUSTRIAL,SUPPLY .
==|ues ar MILLING MACHINE ACCESSORY LATHE ACCESSORY @ Machine tool accessory
=
m
op o o ope (<<
B Magnifying worklight - Magnifier lamp M Lathe accessory - Dead center/half-notched center &
(&)
5
o
o
=
¥ -
\ e ==Hh7 &
\ | ™ | MSNO 2
= | = T Cu/:j
! =
; p (&)
— % v =
(e = Type A Type B =
=
e LA-CDMTI1 (A/B) MT1 12.065 0.005 LA-CDMT4 (A/B) 31.267 0.005 i
i (1 LA-CDMT2 (A/B) MT2 17.780 100 0.005 LA-CDMTS5 (A/B) MT5 44.399 ‘ 200 0.005 E
-
_ LA-CDMTS3 (A/B) MT3 23.825 125 0.005 LA-CDMT6 (A/B) MT6 63.348 270 0.005 153
S Z
=
L071/L071E L072/L072E M Lathe accessory - Carbide dead center -
=
a
—
Model No. L terial L i Diopt: Holder t Switch Light Volt: P Life of LED/I =)
pr—
o > o
LO71/LO71E - 3 diopter and Stand type switching power 80pes LED 100V-240V/ — = = & dl =
(Frcersyn‘:l) 7" 5 diopter for /T522W 110V-120V or 6.5W/22W 20000h/5000h " OOL';X e S
L072/L072E choice Table clamp  electronic ballast flourescent lamp 220v-240V : L i g
.
=
=
. . . . e . . . . LA-CDCMTI MTI 12.065 80 0.005 &
- - =)
| Magnlfylng wo_rkllght Flexible conduit | Magnlfylr!g wor_kllght Flexible conduit R . 170 00 5 . 0008 3
incandescent light halogen light with magnet holder L ACDCMTS s 2350 s o b 0005 5
4 . . S
LA-CDCMT4 MT4 31.267 160 31.6 15 0.005 %
Specifications LA-CDCMTS MTS 44399 200 447 18 0.005 S
[J Lamp-chimney adopts PBT
LA-CDCMT6 MT6 63.348 270 63.8 24 0.005

enhanced engineering plastic,

[ Halogen bulb has long
working life time

B Lathe accessory - Bull nose center

LA-CBN61.9 MT2 17.780 12.7 70" 0.005
LA-CBN62 MT2 121 64 62 ‘ 17.780 12.7 75" ‘ 0.005
LA-CBN80O MT2 130 64 80 17.780 15 75" 0.005
JCl-1 24220V 24230V, 25-60W 1C34B 24V, 25W LA-CBN8O MT3 146 81 80 23.825 15 75" 0.005
LA-CBN100 MT3 155 81 100 ‘ 23.825 25 7 ‘ 0.005
LA-CBN110 MT3 159 81 110 23.825 25 75" 0.005
] Magnifying worklight - Halogen Iight IP65 ; ; LA-CBN120 MT3 168 81 120 ‘ 23.825 32 7 ‘ 0.005
5 LA-CBN80O MT4 170 102.5 80 31.267 15 75" 0.005
g . LA-CBN110 MT4 182 102.5 110 ‘ 31.267 25 75" ‘ 0.005
Specifications i t LA-CBN120 MT4 190 102.5 120 31.267 32 75" 0.005
[ Lights have gratin; avoiding the influen f dazzle light 55
- Wfters-pro:ffirust- lfr Z:;‘:ﬁ‘:;oz’s‘:u‘:e i si:tive uence of dazzle lig] : LA-CBN160 MT4 200 102.5 160 ‘ 31.267 54 75" ‘ 0.008
[ Halogen bulb has long working life time 4 DI[ LA-CBN200 MT4 218 102.5 200 31.267 70 75" 0.008
" LA-CBN80O MT5 199 129.5 80 ‘ 44.399 15 7 ‘ 0.005
J_—I_Q> LA-CBN100 MTS 206 129.5 100 44399 25 75" 0.005
1 LA-CBN120 MTS 216 129.5 120 ‘ 44399 32 75" ‘ 0.005
Model No. i LA-CBN150 MT5 238 129.5 150 44.399 35 75" 0.008
JC36A 24V 25W 24V,25W ! LA-CBN160 MT5 230 129.5 160 ‘ 44399 54 75" ‘ 0.008
JC36B 24V 25W ‘ 24V,25W b LA-CBN200 MTS 246 129.5 200 44399 70 75" 0.008
JC36C 24V 25W 24V,25W LA-CBN250 MTS5 268 129.5 250 ‘ 44.399 90 7 ‘ 0.01
73 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 74

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
heat-resisting, impactresistre !
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
I
|
|
[
|



\NDUSTR\AL SUPPLY

uestar

LATHE ACCESSORY

LATHE ACCESSORY

@ Machine tool accessory

=
w
7
B Lathe accessory - Medium-duty interchangeable tip live center sets B Lathe accessory - Medium-duty live center &
(&)
=
—
2 S
Specifications oL F =
[ The set consists of 7 interchangeable tips. F‘— SHER 'HR
. . o4 » 1 ¢
The body of these sets is constructed similar b @ Hl/ =
. . ’\ 51 o
to medium live centers. MSNO % 3 3
2.
B|c}-<R &
(&)
<
e I ()
= 1 R =
o A | -t =
1 oc
O . é] | : -I T Max load(kg) | Max speed(rpm) | Accuracy(mm) &
V ‘ A:a=60° AT o - LA-CNMTI MTI 12.065 34 13 19 63 117 40 4000 0.005 o
B:a=75° e TTl = Ayl =
¢ ‘b b szgoo 0 W i Lj i g LA-CNMT2 ‘ MT2 17.780 45 24 31 87 151 ‘ 120 3500 0.005 <
ABC E F LA-CNMT3 MT3 23825 52 2 34 94 175 300 3000 0.005 g
=
LA-CNMT4 ‘ MT4 31.267 60 30 38.5 107 210 ‘ 500 2500 0.008 =
Model No. Taper D1 L1 =
LA-CNMT$ MT5 44399 77 44 50 130 260 800 2000 0.008
LA-CMPMT2 MT2 10 20 LA-CNMT6 ‘ MT6 63.348 125 74 74.5 188 370 ‘ 2000 1200 0.015 )
=
LA-CMPMT3 MT3 12 24 20 48 20 435 20 ‘ 40.5 ‘ 18 56 9
o
LA-CMPMT4 MT4 15 30 28 61.5 28 55.5 28 515 26 73 =
h ision light-duty li S
LA-CMPMTS MT5 20 40 36 80 36 72.45 36 ‘ 66.8 ‘ 36 101 M Lathe accessory - Precision light-duty live center S
LA-CMPMT6 MT6 30 55 55 117 55 113 55 108 50 138 e
g . (=]
Specifications =
Model No. Weight(kg;
LA-CMPMT2 25 10 40 16 36 10 20 39 16 0.95 E
=)
LA-CMPMT3 35 15 50 22 42 18 35 43 ‘ 30 1.87 e
LA-CMPMT4 55 30 61.5 40 55 35 55 60 48 242 é
LA-CMPMTS 70 41 78 60 81 50 70 85 ‘ 61 4.12 e
B
LA-CMPMT6 90 50 107.5 75 110 60 90 116 75 7.83 ' =
Carbide nose Extended nose ~ CNC lathe nose

Max load(kg) | Max speed(rpm) | Accuracy(mm)

B Lathe accessory - Super rolling live center B Lathe accessory - Super rolling interchangeable LA-CPLMTI MTI 12,065 34 14 19 58 1 50 4000 0.005
live center set LA-CPLMT2 ‘ MT2 1778 45 20 26.5 74 138 ‘ 150 3500 0.005

Specifications LA-CPLMT3 MT3 23.825 50 24 30 84 165 300 3000 0.005

[ Extended point is available Specifications u @ LA-CPLMT4 ‘ MT4 31267 62 28 355 96 198.5 ‘ 450 2500 0.005

O The set consists of 7 interchangeable tips _ @ LA-CPLMTS MTS 44399 76 38 46 115.5 245 800 2000 0.005

' LA-CPLMT6 ‘ MT6 63.348 9% 50 66 155 337 ‘ 1000 1500 0.008

B Lathe accessory - Precision medium-duty live center

Specifications
[0 There are three different nosees available: carbide nose,

extended long nose and CNC lathe nose T
LA-CSMT2 | MT2 17.780 36 22 26 61.5 LA-CSMT2S 36 22 10.5 68.5
LA-CSMT3 ‘ MT3 23.825 47 30 35 ‘ 84.5 LA-CSMT3S 47 30 15 93
LA-CSMT4 =~ MT4 31.267 55 35 40 94 LA-CSMT4S 55 35 16 104
LA-CSMT5 ‘ MT5 44.399 70 45 51 ‘ 116.5 LA-CSMT5S 70 45 20 1345
LA-CSMT6 = MT6 63.348 90 60 65 139 LA-CSMT6S 90 60 23 139

Carbide nose Extended nose CNC lathe nose

7 2 =2 i
LA-CSMT2 1255 5500 0.005 LA-CSMT2S 5500 0.01 LA-CPMMT2 17.78 294 143.5 5000 0.005
LA-CSMT3 ‘ 165.5 400 4500 0.005 LA-CSMT3S 145 15 400 4500 0.01 LA-CPMMT3 ‘ MT3 23.825 59 26 31.6 90 172 ‘ 400 4000 0.005
LA-CSMT4 196.5 1200 4000 0.005 LA-CSMT4S | 172 20 1200 4000 0.01 LA-CPMMT4 MT4 31.267 64 30 36.6 100 202 600 3500 0.005
LA-CSMT5 ‘ 246 2000 3000 0.005 LA-CSMT5S 216 25 2000 3000 0.02 LA-CPMMT5 ‘ MTS5 44.399 78 38 453 110 249 ‘ 1200 2500 0.005
LA-CSMT6 321 4000 2000 0.01 LA-CSMT6S | 282 30 4000 2000 0.02 LA-CPMMT6 MT6 63.348 106 54 60 152 334 1500 2000 0.005

75 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 76

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
| Item No.
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
I
|
|
[
|



iluestar LATHE ACCESSORY

LATHE ACCESSORY @ Machine tool accessory

=

w

=

B Lathe accessory - Precision heavy-duty live center B Lathe accessory - Heavy-load live center %
3

F Specifications Long nose live centers are suitable for small workpieces. =

E [ Applicable to medium and heavy load
D [J Use the combination of taper roller bearing,
thrust bearing and needle bearing

[ Unique waterproof design

MILLING, LATHE, GRINDING ACCESSORY

Type B
LA-CPHMT3 23.825 3000 0.005 - 3l —rgfo
LA-CPHMT4 MT4 31.267 64 32 33 88 190 1000 2500 0.005 B =
LA-CPHMT5 MT5 44.399 88 44 52 110 240 2000 2000 0.005 c ~ o
LA-CPHMT6 MT6 63.348 140 72 78 170 252 3000 1200 001 L =
Type A %
S
B Lathe accessory - High-speed live center ey oo D D1 d L MAX Radial Load(kg) MAX RPM =
B081010 | NCR-MT2-A 31 4 68 46 21 - 140 400 6000 ug
Specifications B081011  NCR-MT3-A 37 52 86 54 26 - 175 0.005 600 5000
[ There are three different nosees available: carbide nose, B081012 NCR-MT4-A 44 64.5 107 68 32 - 2155 0.005 1000 4500 =
extended long nose and CNC lathe nose B081013 NCR-MT5-A 50 72 135 84 42 - 237 0.005 2500 3500 %
B081014  NCR-MT6-A 75 101 190 120 63 - 366 0.008 5000 1500 =)
B081015  NCR-MT7-A 106 130 254 155 78 . 490 g
B081110  NCR-MT2-B = 385 a1 68 46 21 - 1475 0.005 400 6000 é
B081111  NCR-MT3-B 47 52 86 54 26 - 185 0.005 600 5000 S
B081112  NCR-MT4-B 54 64.5 107 68 32 - 2255 0.005 1000 4500 =
Carbide nose Extended nose ~ CNC lathe nose B081114  NCR-MT6-B 89 101 190 120 63 - 380 0.008 5000 1500
B081115  NCR-MT7-B 120 130 254 155 78 = 504
I N N
LA-CHMT3 23.825 295 6000 0.005
LA-CHMT4 MT4 31.267 61 30 375 1065 209 400 5000 0.005 .
LA-CHMT5 MT5 44.399 72 38 46 1245 254 800 4000 0.005 W Lathe accessory - Heavy-lead live center (3-51-)

Specifications
[J Uses the Korean big load top design structure, three sets of cylindrical roller bearing
[ Accuracy<0.015mm Dynmic load :3-5tons

B Lathe accessory - Versa-turn live center

F
E
D
) J
44 Z gy

Item No.

B131010 MT4 3000.000
LA-CVMTL MT1 12.065 56.5 4000 0.005 210/16 1416 44/16 21/16 19/16 5/16 714/16 1,430 4.07 0.0001
LA-CVMT2 MT2 17.78 39 28 335 725 1365 120 3500 0.005 93 40 136 70 437 8 249.7 2,000 43 0.003
B131110 MT5 2000.000
LA-CVMT3 MT3 23.825 46 32 375 835 164.5 250 3000 0.005 311/16 19/16 53/8 23/4 111/16 5/16 913/16 4,400 9.46 0.0001
LA-CVMT4 MT4 31.267 52 40 455 95 1975 350 2500 0.005 127 60 189 927 615 10 343.3 4,000 125 0.005
B131210 MT6 1000.000
LA-CVMT5 MT5 44.399 69 50 58.5 1135 2515 500 2000 0.005 5 23/8 77/16 35/8 27/16 3/8 13713 8,800 245 0.0002
www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 78

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
: B081113 NCR-MT5-B 62 72 135 84 42 = 149 0.005 2500 3500
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
I
|
|
[
|



iluestar LATHE ACCESSORY

LATHE ACCESSORY @ Machine tool accessory

=
w
7
B Lathe accessory - Super-load live center (10-15T) B Lathe accessory - 3-jaw self-centering lathe chuck - backplate mount (continued) &
2
—
et g
5 | LA-K11-190 190 155 172 55 105 75 - 5 3-M10 250 2000 13.8
: S o < % =
Jhl.l. — _L_[ ”ﬂ 11 LA-K11-200 200 165 180 ‘ 65 109 75 - 5 3-M10 250 2000 155 [
. - | (92]
- o LA-K11-24 241 1 21! 7 12 - -M12 2 2 24 @
c ) £ c 1 T E1 0 0 95 5 0 0 80 8 3 320 000 <|_|3
Type A L L & LA-K11-250 250 206 226 ‘ 80 120 80 - 5 3-M12 320 1600 25.7 =3
()
LA-K11-315 315 260 285 100 147 90 - 6 3-M16 400 1200 47 =
n ()
remte, | e [reper |4 [ e | ¢ | o [ e | r | 1 [wevest | msrem | ween | ka0 w0 0w w0 mes e : o | s 400 oo | s 2
B141010  MT6 1/19.18 160 80 179 133 82 10 453 8000 1000 25 0.01 LA-K11-325 325 272 296 100 1535 % R 12 3-M16 400 1200 49 ‘u-":_
170 100 239 150 105 49 495 10,000 35 0.005 T
B141110 HS80 /10 650 LA-K11-380 380 325 350 ‘ 135 155.7 98 - 6 3-M16 500 1000 65 =
63/4 4 97/16 515/16 41/8 115/16 19 1/2 22,000 7 0.0002 —
@
198 110 250 157 1015 10 508.5 15,000 48.3 0.005 =
B141210 HS100 1/10 500 j
73/4 45/16 97/8 63/16 4 3/8 20 33,000 106.3 0.0002 =

B Lathe accessory - 3-jaw self-centring lathe chuck-camlock direct mount(form D)

S

=

. . ape e =

B Lathe accessory - 2-jaw self-centering lathe chuck Specifications 2

[J Other direct mouting form is optional s

e LA-K11-125D3 | 125  DI-3 53975 71 25 92 63 13 10 3-M10x1 =

Specifications =

1 High precision short cylindrical LA-K11-125D4 125  Di-4 63513 83 25 17 63 13 10 ‘ 3-M10x1 =

(&}

centering mounting LA-K11-160D3 = 160 D1-3 53.975 71 40 92 76 13 10 3-M10x1 >
0 All kinds of jaws can be provided LA-K11-160D4 160  DI1-4 63513 83 40 17 70 13 10 ‘ 3-M10x1

i -Di =

[ The jaws are two-piece ones and LA-K11-160D5 160 D15 82563 105 4 146 73 15 12 6-Mi2xd =

the top jaws are soft ones 200 200 63513 . ) o 5 0 ‘ M2 =

[ Direct mounting is Optional LA AR DH it g = g C AN %

LA-K11-200D5 200 D15 82563 105 50 146 86 15 12 6-Miaxt g

o

LA-K11-200D6 200  DI-6 106376 133 50 131 86 16 13 ‘6-M16x1.5 S

LA-K11-250D5 250 D15 82563 105 70 146 95 15 12 6-Mi12x15 %

LA-K11-250D6 250  DI1-6 106375 133 70 181 98 16 13 6-MI5xL5 =
LA-K11-250D8 250 = DI1-8  139.719 171 80 225 98 18 14 6-M20x15
LAK10-125| 125 9 108 LAK11-325D6 325  DI-6 106375 133 100 181 1035 16 13 ‘6—M16x1.5
LA-K10-130‘ 130 ‘ 00 115 30 99 60 35 | 3M8 LA-K10-250 250 = 206 | 226 80 146 80 5 3M12 LAKIL325D8 | 225 | DL8 | 139719 | 171 102 05 | 1025 18 14 |e-MooxLs
LA-K10-160 160 = 130 142 2 15 65 5 3-M8 LA-K10-325 325 = 272 | 296 100 184 9% 12 3-Mi6 A o5 | oam | e || =m o 0 | mes | @ - ‘ p—
LA-K10-200‘ 200 ‘ 165 180 65 132 75 5 3MI10 LA-K10-380 380 325 | 350 135 186 98 6 3-Mi6 LAKI1-33008 | 380 | D18 | 139719 | 171 130 s 18 18 14 |eMooxLs
LA-K11-380D11 380 ~ D1-11 196869 235 135 208 18 20 16 6-M22x15

B Lathe accessory - 3-jaw self-centering lathe chuck - backplate mount
B Lathe accessory - 4-jaw self-centring lathe chuck - backplate mount

Specifications

[J Short cylindrical center mounting } D Specifications

O ﬁgg?;elﬁlif:i s:upcll;z :;:WS s D2 [ Short cylindrical center mounting
(which include a set of internal . 03 O M.odel LA—.K12.chucks f.:lre prowded
and external jaws) — with one-piece jaws(which include a

X jaw: - § ) .
O Al kinds of soft jaws are optional L : L[:H-; I- = set of internal and external je}WS )C’j
0 ch . . S | 4+ — = [J Chucks mounted from front is optional
ucks mounted from front is optional N 3 T

LA-K11-80 80 55

66 16 66 50 - 35 40

190 155

3-M6 4000 LA-K12-80 80 55 LA-K12-190 172.0
LA-K11-100 100 72 ‘ 84 22 745 55 - 35 3-M8 60 3500 3.2 LA-K12-100 100 72 LA-K12-200 200 ‘ 165  180.0
LA-K11-125 125 95 108 30 84 58 - 4 3-M8 100 3000 5 LA-K12-125 125 95 LA-K12-240 240 195 180
LA-K11-130 130 100 ‘ 15 30 86 60 - 35 3-M8 100 3000 5.6 LA-K12-130 130 100 LA-K12-250 250 ‘ 206 2150
LA-K11-160 160 130 142 40 95 65 - 5 3-M8 160 2500 8.8 LA-K12-160 = 160 130 LA-K12-325 325 272 296
LA-K11-165 165 130 ‘ 145 40 %.5 66.5 - 45 3-M8 250 2500 9.5 LA-K12-165 165 130 LA-K12-380 380 ‘ 325 350

79 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com




iluestar LATHE ACCESSORY

LATHE ACCESSORY @ Machine tool accessory

B Lathe accessory - 4-jaw independent lathe chucks-back plate mount B Lathe accessory - 6-jaw self-centring lathe chucks-backplate mount

TOOLING SYSTEM

Specifications

[ High precision short cylindrical
centering mounting

[ Adjusted independently to center

Specifications

[0 Short cylindrical center mounting

[0 LA-K13 chucks are matched with stepped jaws

[ Suitable for clamping and machining the
thin-walled somponents

[ Especially suitable for machining all kinds of
cutting tools with handles

B S S S N B

MILLING, LATHE, GRINDING ACCESSORY

\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
LA-K72-80 4-M6 4000 ‘ LA-K13-100 535 M8
\
LA-K72-100 100 72 84 25 54 54 35 4-M8 3500 ‘ LA G808 - = T i = - - a5 NG
()
LA-K72-125 125 95 108 30 8 56 45 4-M8 3000 \ LA-K13-165 6" 165 130 145 42 96.5 66.5 45 3-M8 =
LA-K72-160 160 65 95 45 93 75 5 4-M10 2500 : LATGEATT - p— i = & s T 5 - %l
LAKT72-200 200 80 12 56 107 80 6 4-M10 2000 [ LA-K13-252 10" 252 206 226 80 120 80 5 3M12 é
LA-K72-250 250 110 130 75 120 90 6 4-M12 1600 \ =
%]
LA-K72-300 300 152 130 75 134 90 6 4-M12 1200 : p
(&)
-K72- N . . >
LAKT2:320 320 10 165 % 134 % 6 4M16 1200 : B Lathe accessory - 3-jaw shank type self-centering chucks
LA-K72-350 350 130 168 95 134 90 6 4-M16 1200 ‘
-
LA-K72-400 400 160 185 125 143 95 8 4-M16 1000 \ =
=
LA-K72-450 450 180 205 140 147 100 8 4-M16 900 ! =
\
LA-K72-500 500 200 236 160 161 106 8 4-M20 800 | 2
o
LA-K72-630 630 220 258 180 180 118 10 4-M20 600 ! =
| &
LA-K72-800 800 250 300 210 202 132 12 4-M20 500 | =
LA-KB3C LA-KB3R LA-KB3T S
LA-K72-1000 1000 320 370 260 230 150 15 4-M20 400 \ =
\ 4 LA-KB4C LA-KB4R LA-KBAT
‘ 5 LA-KB5C LA-KB5R
\
. . . ‘ ; 6" LA-KB6C LA-KB6R
B Lathe accessory - 4-jaw independent lathe chucks( direct camlock mount form D) | 5C shank MT mounting shank
\
\
speifcaions BT B | tion qui
DpDim  ountin with stud and camlock Modelo Size | Mount taper ‘ M Lathe accessory - 40-position quick change tool posts(Europe style)
' g wi Nl LA-K72-160D3 53.975 706 3-M10X1 |
[J Other direct mouting form is optional
LA-K72-200D3 200 3 53.975 ‘ 70.6 51 107 75 10 3-M10X1 \
| [0 Basi n I holder are m f high-quali I which is hardened and ground. Th I holder is clam inst th i n ntri It.
L A-K72-20004 200 4 63513 026 56 107 - 13 10 3M10X1 asic body and tool holder are made of high-qua t_y stee _c s hardened e} _d ground. The tool holder is clamped against the basic body by an eccentric bolt
! [J The system allows a repeat accuracy of 0.01mm with 40 possible angular positions of the tool holder.
(LAY 2 & GEIE ‘ ERE Gl e &l e AL : [ This accuracy is even guaranteed after numerous tool changes. The basic sizes, type A to D suit to various ranges of lathe.
LA-K72-320D4 | 320 350 4 82563 | 104.8 61 134 90 10 3-M10X1 ‘
LA-K72-200D5 | 200 5 82.563 ‘ 104.8 56 107 75 15 12 6-M10X1 \ 5-piece sets e G
\
LAK72-250D5 | 250 5 82563 | 1048 » 120 80 15 12| 6-M12x1 | TOOAO 1 pes tool post 540-000(A0),3pcs 540-010(A0D12x50) and 1 pes 540-020(A0B12x50) 1.13
LA-K72-320D5 | 320 350 5 82.563 ‘ 104.8 7 134 86 12 6-M12X1 ‘ TOOA1 1 pes tool post 540-100(A1),3pcs 540-115(A1D20x90) and 1 pes 540-122(A1B20x90) 3.60
\
LA-K72-400D5 | 400 5 82.563 = 1048 7% 143 90 12 6-M12X1 | TOOES 1 pes tool post 540-200(B5),3pcs 540-211(E5D20x100) and 1 pes 540-220(E5B30x100) 7.50
LA-K72-250D6 | 250 6 106.375 ‘ 1334 7 161 9% 16 13 6-MI6X15 \ TOOB2 1 pes tool post 540-300(B2),3pcs 540-311(B2D25x120) and 1 pes 540-320(B2B32x130)  11.80
\
LA-K72-320D6 | 320 350 6 106.375 | 1334 95 120 80 16 13 6-MI6X15 ‘ TOOC3 1 pes tool post 540-400(C3),3pcs 540-411(C3D32x150) and 1 pes 540-422(C3B40x160) | 23.70
LA-K72-400D6 | 400 6 106.375 ‘ 1334 95 134 90 16 13 6-MI6XLS5 \ TOOD1 1 pes tool post 540-500(D1),3pcs 540-511(D1D40x180) and 1 pes 540-520(D1B50x180)  50.00
LA-K72-500D6 | 500 6 106375 | 1334 103 161 106 13 6-MI16XL5 \
\
LA-K72-320D8 320350 8 139.719 ‘ 1714 95 134 90 18 14 6-M20X15 |
LA-K72-400D8 400 8 139.719 1714 125 143 95 18 14 6-M20X1.5 | 40-positi0n tool post Series Lathe swing(mm) t of cutting edge range(mm)
LA-K72-500D8 500 8 139.719 ‘ 171.4 135 161 106 14 6-M20XL5 : 540-000 A0 120-220 D12 185-26.5
LA-K72-400D11 | 400 1 196.869 | 235 125 143 95 20 16 6-M22X15 \ 540-100 Al 150-300 ‘ D16 25.5-365 D20 29.5-40.5
LA-K72-500D11 = 500 1 196.869 ‘ 235 160 161 105 20 16 6-M22X15 : 540-200 E5 200-400 D2032-49 D25 37-52
LA-K72-630D11 | 630 1 196.869 | 235 180 180 118 20 16 6-M22X15 | 540-300 B2 300-500 ‘ D2538-58 D32 46-57
LA-K72-500D15 = 500 15 285.775 ‘ 330.2 160 161 106 21 17 6-M24X15 ! 540-400 c3 400-700 D3247.5-875 D4055.5-915 D45 61-91
\
LA-K72-630D15 | 630 15 285775 330.2 180 180 118 21 17 6-M24X15 | 540-500 D1 600-1000 ‘ D40 60-96 D5072-102 D63 85-105
\
\
\
\
\
|
81 www.dlbluestar.com B E-mail: info@dlIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service : B E-mail: info@dlIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dIbluestar.com 82
1
\



LATHE ACCESSORY LATHE ACCESSORY

mluestar

@ Machine tool accessory

B Lathe accessory - 40-position quick change tool posts(Europe style) B Lathe accessory - Quick change tool post (USA style)

=
]
=
w
>
w
S
=
=
=)
o
=

The quick-changing tool post is a major spare part of the ordinary lathes.

turning and facing holder "d" : ° ’ . )
It is composed of the cutter-cartridge body and the toolholder for various cutting tools which

KT

can replace the square tools table for processing works like cylindrical facing, =

et et e

sot | ao [ 2 | sosu | o [ = | e t eatures exernal ool-mounting, ool-matching,cuic too-changing(with 3 105 seconc). g

540-110 ALD 20 80 540-411 csb 32 150 great precision in positioning and great hardness etc. <;-§

540-115 ALD 20 90 540-412 C3D 32 170 =

540-211 E5D 20 100 540-413 C3D 40 150 piston type tool post Sets(e.piece Sets) %

540-212 ESD 25 100 540-414 c3D 40 170 i

- 540-213 ESD 12 100 540-415 c3D 45 170 E

540-010 540-214 ESD 16 100 540-511 D1D 40 180 g

540-111 A1D 16 75 540-311 B2D 25 120 540-512 D1D 50 180 =

540-112 A1D 16 80 540-312 B2D 25 140 540-513 D1D 63 180 =

251-100 Each 1pc of 250-100+ 250-101. 250-102. 250-104. 250-107- 250-110 %

boring bar holder"b" 251-200 10-15 Each 1pc of 250-200+ 250-201. 250-202. 250-204. 250-207. 250-210 =

251-300 13-18 Each 1pc of 250-300. 250-301. 250-302. 250-304. 250-307- 250-310 =

Model No. 251-400 14-20 Each 1pc of 250-400+ 250-401. 250-402. 250-404. 250-407~ 250-410 %

540-020 12 50 540-320 B2B 32 W

540-121 AlB 16 80 540-421 c3B 32 160 =

540-120 A1B 18 80 540-422 C3B 40 160 —

540-122 AlB 20 90 540-520 D1B 50 180 g

540-220 ESB 30 100 540-521 D1B 63 180 £

wedge type tool post sets(6-piece sets) §

o

drilling & boring bar holder"s" %
540-030 A0S 540-330 B2S 40 120
540-130 AlLS 30 80 540-431 c3s 40 150

540-231 ES5S 20 100 540-530 D1S 63 180 251-111 Each 1pc of 250-111. 250-101. 250-102. 250-104. 250-107. 250-110

251-222 10-15 Each 1pc of 250-222. 250-201. 250-202. 250-204. 250-207. 250-210
251-333 13-18 Each 1pc of 250-333. 250-301. 250-302. 250-304. 250-307. 250-310
cut-off tool holder"a" 251-444 14-20 Each 1pc of 250-444. 250-401. 250-402. 250-404. 250-407- 250-410
251-555 17-48 Each 1pc of 250-555. 250-501. 250-502. 250-504. 250-507. 250-510
540-030 540-330 B2S 40 120
540-130 AlLS 30 80 540-431 c3s 40 150
540-131 ALS 20 90 540-432 c3s 50 150 piston quick change tool post
540-231 ESS 30 100 540-530 D1S 63 180 Model No. Lathe Swing
————
250-100 2172 63.5 214 57.15
m.t.bushing"I" 250-200 10-15 254-381 3 76.2 23/4 69.85
250-300 13-18 330-457 338 85.725 3 76.2
mm 250-400 14-20 355-508 4 101.6 35/8 92.075
Model No. Series 540-352 4
sow AL ® @1 sowt oL 0 w3 ” -_
540-152 ALL 30 0 2 540-452 caL 40 150 4
540-251 E5L 30 % 2 540-453 caL 50 150 4 250-100 33/4 95.25 M14x15 17/16 36.512 250-1xx
540-252 E5L 40 114 3 540-454 c3L 50 150 3 250-200 4318 111.125 M16x1.5 15/8 41.275 250-2xx
540-350 B2L 40 120 2 540-455 caL 50 150 5 250-300 47/8 126.825 M20x2 17/8 47.625 250-3xx
540-351 B2L 40 120 3 540-550 DIL 63 185 5 250-400 6 152.4 M22x2 21/8 53.975 250-4xx
83 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 84




iluestar LATHE ACCESSORY

LATHE ACCESSORY @ Machine tool accessory

B Lathe accessory - Quick change tool post (USA style) B Lathe accessory - Quick change tool post (USA style)

=
]
=
w
>
w
S
=
=
=)
o
=

morse taper holder for drilling

wedge quick change too post T N S R
Model No.
R N R N

Drills with carriage by using power feed instead of tail-stock.

o h ) >
250-111 12 304 212 635 21/4 57.15 It permits driling,boring,and reaming,etc. =
(92]
w
w1 s 3 52 23 soss DUV I N - 4
moam | s ;s 3w o8 3 72 T S
w ]
‘ 250-444 14-20 355-508 4 101.6 35/8 92.075 250-105 3/4 19.50 1172 38.10 2 =
250-555 17-48 432-1219 5 127 45/8 117.47 250-205 718 22.225 13/4 44.45 2" %
250-305 1 25.40 2 50.80 3" ‘u-'j
e T Y T s £
Model No. Holder Code <
_ 250-153 314 1950 112 38.10 3 =
=
250-111 33/4 95.25 M14x1.5 13/8 34.925 250-1xx 250-253 /8 22.225 13/4 44.45 3" =
‘ 250-222 4308 111.125 M16x1.5 19/16 39.68 250-2xx 250-353 11/16 26.98 21/8 53.97 4 =

250-333 4718 126.825 M20x2 129/32 48.42 250-3xx 250-453 13/16 30.16 23/8 60.32 4"
()
‘ 250-444 6 152.4 M22x2 21/8 53.975 250-4xx =
250-555 7308 187.32 M24x2 211/16 68.26 250-5xx §
o . ==
universal parting blade tool holder z
. . - ;
turning and facing holder Equipped with T-cut blades. Enable you to cut off close to chuck. 5
]
Model No. =

———
- =
\ . 250-107 3/16 4.76 12.70 1172 381/9 =
250-207 ‘ 3/16 4.76 11/16 17.46 13/4 44.45 =
250-101 15/16 23.81 1/2 12.70 7116 11.11 11/2 38.10 250-307 3/16 4.76 3/4 19.05 2 50.8 g
w
‘ 250-201 11/8 28.57 5/8 ‘ 15.87 12 12.70 13/4 ‘ 44.45 250-407 ‘ 1/4 6.35 7/8 22.23 21/2 6al5 %
250-301 17/16 36.51 3/4 19.05 5/8 15.87 21/8 53.97 250-507 11/4 6.35 13/16 30.16 23/4 69.85 é
- ‘ 250-401 111/16 42.86 1 ‘ 25.40 3/4 19.05 21/2 ‘ 63.50 s
=
250-501 33/16 55.56 11/4 3175 1 25.40 31/8 79.37

Equipped with knurls and square tools,
enable you to knurl,face,bore,etc.

boring,turning and facing holder

Model No.

] e [ e T
Model No.

250-110 718 22.22 212 63.50 19/16 39.68 12 12.70 3/8 9.53
250-102 15/16 2381 12 12.70 7116 1111 112 38.10 7116 1111

250-210 1 25.40 ‘ 25/8 66.67 13/4 44.45 5/8 15.87 12 12.70
250-202 11/8 28.57 5/8 15.87 12 ‘ 12.70 13/4 44.45 12 ‘ 12.70

250-310 13/16 30.16 31/8 79.37 2 50.80 3/4 19.05 12 12.70
250-302 17/16 36.51 3/4 19.05 5/8 15.87 218 53.97 5/8 15.87

250-410 17116 36.51 ‘ 33/4 95.25 212 63.50 1 25.40 3/4 19.05
250-402 111/16 42.86 1 25.40 3/4 ‘ 19.05 212 63.50 3/4 ‘ 19.05

250-510 17/8 47.62 412 114.30 31/8 79.37 114 31.75 1 25.40
250-502 33/16 55.56 11/4 31.75 1 25.40 31/8 79.37 11/8 28.57

heavy duty boring bar holder

Model No. 5-piece sets
-m--

250-104 19.05 1172 38.10 19.05 15.87

‘ 250-204 718 22.22 13/4 ‘ 44.45 1 25.40 3/4 ‘ 19.05
250-304 1 25.40 2 50.80 1 25.40 3/4 19.05 500-M 1PCS 501-M+ 3PCS 502-M AND 1PCS 503-M

‘ 250-404 11/4 3175 21/2 ‘ 63.50 11/4 3175 1 ‘ 25.40 500-AR-AP 1PCS 501-AR-AP. 3PCS 502-AR-AP AND 1PCS 503-AR-AP
250-504 19/16 30.68 31/8 79.37 1172 38.10 11/4 3175 500-A 1PCS 501-A. 3PCS 502-A AND 1PCS 503-A

‘ 250-141 718 22.22 13/4 ‘ 44.45 1 25.40 3/4 ‘ 19.05 500-BR-BP 1PCS 501-BR-BP+ 3PCS 502-BR-BP AND 1PCS 503-BR-BP
250-241 1 25.40 2 50.80 114 3175 1 25.40 500-B 1PCS 501-B. 3PCS 502-B AND 1PCS 503-B

‘ 250-341 11/8 2857 21/4 ‘ 57.15 11/4 3175 1 ‘ 25.40 500-C 1PCS 501-C. 3PCS 502-C AND 1PCS 503-C
250-441 13/8 28.75 23/4 57.15 1172 3175 11/4 25.40 500-D 1PCS 501-D+ 3PCS 502-D AND 1PCS 503-D

www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com

\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
| knurling,turning&facing holder
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
|
\
\
1
\



mluestar

B Lathe accessory - Quick change tool posts(Italy style)

LATHE ACCESSORY

quick change tool post

Model No. Centre Height(mm)

501-M 120
501-AR-AP 140
501-A 170
501-BR-BP 200
501-B 230
501-C 280
501-D 350

toolholder for round shanks

Model No.

503-M 14
503-AR-AP 16
503-A 18
503-BR-BP 20
503-B 24
503-C 26
503-D 35

heavy duty boring bar holder

Model No. Max Holding Dia.(mm)
18

540-M
540-AR-AP ‘ 20
540-A 25
540-BR-BP ‘ 32
540-B 40
E\ 540-C ‘ 50
540-D 60

toolholder tool bits

Model No. Max Square and Rec ular Tools T(mm)

502-M 16
502-AR-AP 16
502-A 20
502-BR-BP 25
502-B 32
502-C 32
502-D 40

toolholder morse taper shank

Model No. Taper Hole

504-M IMT
504-AR-AP IMT
504-A OMT
504-BR-BP 3MT
504-B 3MT
504-C 4MT
504-D SMT

heavy duty boring bar holder

Model No. Parting Blade

550-M 15x4x3
550-AR-AP ‘ 18%4x3
550-A 20%6%5
550-BR-BP ‘ 20%6x5
550-B 25%6%5
550-C ‘ 30%6%5
550-D 35x8%7

LATHE ACCESSORY

B Lathe accessory - Quick change tool posts(Italy style)

@ Machine tool accessory

tool holder accessories

510

505
b, o [Ctto | or [ woutto | 1| oo | 1| oo | 0 |
L Ao 515-M 7 505-M 66 506-M 20 508-M 7
\ 513 515-AR-AP 8 505-AR-AP 81 506-AR-AP 26 508-AR-AP 8
315 ’ 515-A 8 505-A 90 506-A 30 508-A 10
515-BR-BP 10 505-BR-BP 108  506-BR-BP 37  508-BR-BP 10
515-B 10 505-B 125 506-B 42 508-B 12
516 / 515-C 12 505-C 140.5 506-C 48 508-C 14
/ CH 515-D 14 505-D 156 506-D 50 508-D 14
B Grinding machine accessory - Punch former(two-way)
Punch former is applicable on surface grinder or universal grinder for grinding round, v p——
. . . . lodel No. -]
radius and multi-angle points of punches and for precisely EDM electrode.
With its radius dresser arm,it is able to dress wheels to different straight and arc profiles. Cemenhicieht 80mm
4-30mm
25mm
+12.5mm
24

Convex:R50mm
Concave:R100mm

360x116x145mm

GM-P2
80mm
4-30mm
25mm
24
200mm

Convex:R50mm
Concave:R100mm

It is attached with 3jaws which can hold workpieces quickly and conveniently.

It can also adjust center of 3 jaws.
It is suitable to produced in batch.

GM-P3
16mm
2mm

70mm

www.dlbluestar.com

M E-mail: info@dlIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

www.dlbluestar.com

=
]
=
w
>
w
S
=
=
=)
o
=

MILLING, LATHE, GRINDING ACCESSORY

VICE & WORKHOLDING

WORKSHOP EQUIPMENT



mluestar

B Grinding machine accessory - Sine plate for punch former

GRINDING MACHINE ACCESSORY

Sine plate is applied on GM-P1,GM-P2,GM-P3,GM-P4

GM-P5 punch former to make sine angles the workpiece need.

B Grinding machine accessory - Adjustable angle block

Specifications
[ 90° angle block adjustable through 0° to 60°
1 With locking facility

Model No.
542-101 0-60° 75%25x33mm
542-102 0-60° 102x30x46mm
542-103 0-60° 102x46x46mm

B Grinding machine accessory - Radius and angle dresser

Specifications
[0 No height gage or set-up aids required
[ Radius is set on the grinder by measuring over the two pins or
by inserting a gage block, for direct reading
[ Inside or outside radius is determined by using either the left hand or right hand pins

Model No. Max dia of grinding wheel | Inserting hole diamond dresser Overall length Mounting base Height of center

—T—

GM-D1 300mm 9.525mm 387mm 134x105mm 86.36mm
B Grinding machine accessory - Universal wheel dresser
Specifications .-.—:t'r‘- /
[ It is adaptable on surface ginder and universal tool geinder for dressing
grinding wheels into various cross sections of straight or arc shapes oy
[ To dress convex arc surface: H=L+R '

[J To dress concave arc surface: H=L-R

[ H.- Distance between outer generation lines of two location pins
[0 R.-Radius of the arc surface to be dressed

[ L.-Distance from tip of diamond cutter to base plate

Model No.

Height of center Measuring | Max swing distance Max wheel Max size of arc | Rading accuracy | Max translation | Feed per division Over all Weight
E quasi-pin dia | of diamond cutter diameter may be dressed | or Turret index of feed of handle scale dimension =

GM-D2 165mm 10mm +20mm ‘ 200mm ‘ +40mm 5' 20mm 0.02mm 160%106x180mm 5kg

GRINDING MACHINE ACCESSORY

B Grinding machine accessory - V-blocks and clamps

@ Machine tool accessory

Specifications

[ V-blocks are parallel, square and centered within 0.002"
[J Cpmpletely hardened and ground tool steel

[ Wooden case

[J Hardness:HRC52-58

Model No. Size (LXWxH) | Model No. Size (LxWxH)

GAMV-01A 1-3/8"x1-3/8"x1-3/16" GAMV-05A 35x35x30mm
GAMV-02A 2-3/8"x2-3/8"x2" ‘ GAMV-06A 60x60x50mm
GAMV-03A 4-1/8"x4-1/8"x3-1/16" GAMV-07A 100x75x75mm
GAMV-04A 3x4x3" ‘ GAMV-08A 105x105x78mm

e || ot | et
GAMV-01B 40x30x50mm GAMV-05B 41x32x32mm
GAMV-02B 35x35x45mm ‘ GAMV-06B 1-3/8"x1-5/8"x1-3/4"
GAMV-03B 50x40x50mm GAMV-07B 2-1/2"%2-3/4"x2"
GAMV-04B 41x35x44mm ‘ GAMV-08B 1-5/8"x1-3/4"x2-3/4"

B Grinding machine accessory - Toolmakers' V-block and clamp

Specifications
[ All surfaces are parallel and square are within .0002”
[ Top 90degree V-Groove central,

parallel and square with all surface within .0003”
[J Side 90degree V-Groove on Base central,

parallel and square with all surfaces within .00015”
[ Harden steel ground
[J Hardness: HRC50-55

Model No. Size (LxWxH)

GAMV-01C 3-1/2" x 1-7/8" x 1-7/8"

» Grinding machine accessory
- Toolmakers' V-block and clamp

4

Model No. Size (LxWxH) |
GAMV-01D 100x40x30mm GAMV-04D 250x85x60mm
GAMV-02D 150x50x40mm GAMV-05D ‘ 300%100x70mm
GAMV-03D 200x70x50mm

» Grinding machine accessory
- 4V V-blocks

N

Model No. Size (LxWxH) ‘ Model No. Size (LxWxH)

GAMV-01E 60x120x100mm GAMV-05E 75x75x50mm

GAMV-02E 75%150x130mm GAMV-06E 100x80x60mm
GAMV-03E 90x200x170mm GAMV-07E 150x100x60mm
GAMV-04E 60x60x50mm GAMV-08E 200x150x80mm

M E-mail: info@dlIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

ﬂ www.dlbluestar.com

M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

www.dlbluestar.com

=
w
=
»
>
w
O]
=
—
o
o
[

MILLING, LATHE, GRINDING ACCESSORY

VICE & WORKHOLDING

WORKSHOP EQUIPMENT



mluestar

B Grinding machine accessory - Precision non-magnetic M type V-block

GRINDING MACHINE ACCESSORY

T

50 24 19 24 17 13

GAMV-01F

GAMV-02F ‘ 7 35 24 37 24 16
GAMV-03F 100 52 33 50 30 20
GAMV-04F ‘ 125 69 44 63 37 26
GAMV-05F 150 80 50 75 45 30
GAMV-06F ‘ 175 90 62 87 50 35
GAMV-07F 200 110 70 100 60 40

B Grinding machine accessory - Magnetic V-block

Specifications L
[0 Holding cylindrical workpieces for grinding
[ Precision ground flat,

square and parallel to 0.001"/0.02mm

Top face

[ Sold in pairs B face faAce
—_— Al

D face
H

—
(5
loX

50 70 40 50

GAMV-01G 15kg
GAMV-02G ‘ 20kg 80 100 50
GAMV-03G 23kg 125 150 50

34
80 60
100 100

B Grinding machine accessory - Special chuck for E.D.M.

Specifications

[J 1t uses oil to flush the oil pore, so that it could rinse the dirty mass and make the work pieces be caught more tightly.It is the ideal clamping device for E.D.M machine.

Model No. Magnetic(N/cm?)
GA-CE1530 300 150 48
GA-CE1535 ‘ 350 150 48
GA-CE1540 400 150 52 %
GA-CE2040 ‘ 400 200 52

Weight(kg)

16.8

19.6
0.5+1.50r 1+3

23.8

31.8

GRINDING MACHINE ACCESSORY

B Grinding machine accessory - Permanent magnetic chuck

@ Machine tool accessory

Specifications
[ Magnetic force ON/OFF switch
[ The fine-pitched magnetic poles make it ideally suitable for small and thin work pieces

= =

I

100 100 45 18 3.6

GA-C1010
GA-C7016 160 ‘ 70 45 18 4
GA-C1515 150 48 8
GA-C1520 200 48 1
GA-C1525 250 48 13.8
GA-C1530 300 150 48 20 16.8
GA-C1535 350 48 19.6
0.5+1.50r
GA-C1540 400 53 140 or 120 or 238
1+3 or
GA-C1545 450 53 100 or 80 26.5
0.5+1
GA-C2020 200 48 15
GA-C2025 250 48 18.5
GA-C2035 350 200 53 22 285
GA-C2040 400 53 318
GA-C2045 450 53 39.5
GA-C2550 500 250 58 23 53.5
GA-C3060 600 ‘ 300 58 7
B Grinding machine accessory - Sine plate with fine magnetic chuck
o | i
R e [}
E
o} | 1]

Model No.
GA-CS10175 175 100 75 225
GA-CS1515 150 ‘ 150 100 200
86 48
GA-CS1530 300 150 100 350
GA-CS12525 250 ‘ 125 75 300

0.5+1.5
or1+3
or0.5+1

Tilting Degree Weight(kg)
115
15
0-60°
32
195

www.dlbluestar.com

M E-mail: info@dlIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

www.dlbluestar.com

=
]
=
w
>
w
S
=
=
=)
o
=

MILLING, LATHE, GRINDING ACCESSORY

VICE & WORKHOLDING

WORKSHOP EQUIPMENT



GRINDING MACHINE ACCESSORY GRINDING MACHINE ACCESSORY

@ Machine tool accessory

=

mluestar

B Grinding machine accessory - Double sine plate with super magnetic chuck

TOOLING SYSTEM

Specifications
[ It is applicable to high-precision angle grinding processing
at the front and back or left and right angles.

MILLING, LATHE, GRINDING ACCESSORY

www.dlbluestar.com

M E-mail: info@dlIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

www.dlbluestar.com

|
|
|
|
|
|
|
[
|
|
|
|
|
|
[
|
|
I unit:mm
[
Size q o
| q Magnetic Magnetic Disk
[
| d
GA-CSD10175 100 225 110 75 100 126 | San=i 300 20 2 74
GA-CSD1515 100 ‘ 200 115 100 150 0-5‘;1-: o0 17 \ GA-EPO3 360 640 50x50 40 15 o
or 1+ -60° - =
GA-CSD1530 150 300 115 100 150 or 0.5+1 345 : et 420 G0 o EEE g
GA-CSD12525 1501 ‘ 250 115 100 125 23 | CAEPOS 480 790 70 187 %
| GA-EP06 540 940 9% 251 o
| 30 25 20 70 10 S
GA-EP07 300 420 12 64 E
[
T . . . | GA-EP08 300 610 18 93 e
B Grinding machine accessory - Circular permanent-magnetic chuck ‘ E
GA-EP09 460 610 30 143
| 70x70
| GA-EP10 460 800 40 187 -
=
unit:mm I GA-EP11 540 800 48 220 g
| =
= =]
/ GA-C125 125 48 3 80 M6 46 : .
: GA-C150 ‘ 150 48 3 100 ‘ M6 6.6 | >
. . - . ==
GACl60 160 48 3 100 e 89 | B Grinding machine accessory - Coolant hose kit =
! =
GA-C200 ‘ 200 52 4 120 ‘ M8 05415 1238 ‘
GA-C250 250 52 4 160 4 M8 or 1+3 20 I
0.5+1 |
GA-C300 ‘ 300 58 4 220 ‘ M8 o 32 ‘ H701 H702 H703
GA-C400 400 58 4 300 M10 57 | Flexible Plastic Hose Connector kit Flexible Plastic Hose Connector Kit Flexible Plastic Hose Connector Kit
[
GA-C500 ‘ 500 65 5 480 ‘ M12 100 |
GA-C600 600 65 5 528 M12 144 I
[ [r— 0
[ |
[ |
|
[
| |
| l
[
| i zx
[ :
[
[
[
T} |
[ A . -
a ‘ Description Description Description
q | [ 1/4" Hose (6x150mm = 900mm long) [J 1/2" Hose (6x150mm = 900mm long) [ 1/4" plier ,1pc
I [ 1/4" BSP male in-line control valve [ 1/2" BSP male in-line control valve [ 1/4" NPT male valves 2pcs
L ! [J 1/4" In-line control valve [J 1/2" In-line control valve [ 1/8",1/4" NPT connector,2pcs/each
: [ 1/8" BSP connector (2 pieces) [J 3/8" BSP connector (2 pieces) [J 1/16", 1/8", 1/4" round nozzle,2pcs/each
o Rated Lifting Capacity (kg) Test Max e | [J 1/4" BSP connector (2 pieces) [J 1/2" BSP connector (2 pieces) [0 1/4" Y™ fitting 1pc
b ight . .
S Pull Off Force = ‘ [J 1/16" Round nozzle (2 pieces) [ 1/4" Round nozzle (2 pieces) [J 1/4" Hose 150mm (6 x 150mm = 900mm long)
GA-PLOL 00 200 166 99 110 223 1200 13 | O 1/8" Round nozzle (2 p!eces) O 3/8" Round nozzle (2 p!eces) O 1/4" 90 noz.zle set ) )
I [ 1/4" Round nozzle (2 pieces) [ 1/2" Round nozzle (2 pieces) [ 1/4" Magnetic seat, made from iron or plastic
GA-PLO2 600 ‘ 300 198 110 116 257 ‘ 1800 18 : O 1/4" “Y” Fitting 0 1/2" *” fitting
GA-PL03 1000 500 246 146 154 303 3000 38 | [J 1/4" 90° Nozzle set (4 pieces) [ 1/2" 90° nozzle set (4 pieces)
GA-PLO4 2000 ‘ 1000 354 168 172 465 ‘ 5000 65 | [ 1/4" Flat nozzle set (4 pieces) [ 1/2" Straight connector
GA-PLOS 3000 / 304 196 204 prel 7500 105 [ [J 1/4" Flare nozzle [ 1/2" Hose connector pliers
I [ 1/4" Hose connector pliers
GA-PL06 5000 ‘ / 480 284 279 728 ‘ 11000 265 |
[
[
I
[
|
I
[
[
1
[



GRINDING MACHINE ACCESSORY / VICE

mluestar @ Machine tool accessory

=
w
e
. . . . . . e . . <2}
B Grinding machine accessory - Coolant hose kit B Vice - Precision sine toolmakers vises &
S
g
H704 H705 H706 . =
Flexible Plastic Hose Connector Kit Flexible Plastic Hose Connector Kit Flexible Plastic Hose Connector Kit & % B B -
] i | -
(1 FHER |
. s — —HN=
T =
! ro=—30 D
& i ! 1
T 8 ] n
A 3
|=

MILLING, LATHE, GRINDING ACCESSORY

\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
| - uw
| o AAnngI:S&aal:]lgee
| —n
: VX50 86.6 140
Description ‘ VX63 63 32 94.6 85 175
L) 1/2" plier ,1pc o A ! VX73 73 35 111.0 90 190 [}
[0 1/2" NPT male valve and in-line valve,1pc/each Description | 100 %
[ 3/8",1/2" NPT connector,2pcs/each [ 1/4" Hose (2x150mm=300mm long) Description \ VX80 80 4 1210 9 200 5 0-45° =
[J 1/4", 3/8", 1/2" round nozzle,2pcs/each [ 1/16" round nozzle [0 1/2" Hose (2x150mm=300mm long) : VX88 88 40 125.0 120 235 %
[ 172" Y™ fitting 1pc [J 1/8" round nozzle [J 1/16" round nozzle ‘ VX100 100 45 139.2 125 245 g
[0 1/2" Hose 150mm (6x150mm=900mm long) [ 1/4" round nozzle [ 1/8" round nozzle | VX125 125 50 154.2 160 285 200 =
[ 1/2" 90° nozzle set [ 1/4" flat nozzle [ 1/4" round nozzle | R 5 - e - o 200 10 <'i_§
[ 1/2" in-line control valve,1pc [J 1/8" NPT connector [ 3/8" NPT connector I . =
[J 1/2" Magnetic seat, made from iron or plastic [J 1/4" NPT connector [J 1/2" NPT connector !
I =
| M Vice - Precision sine toolmakers vises =
o . . . |
B Vice - Precision toolmakers vises ‘ =
o
‘ S U B 2
! E ] 2
| UL o
x S
I ] ] L c =
VQGGE0 \ s
0 | T 00 1) I
VQGG60 60 25 ‘ 55 110 ‘ = e
VQGG63 63 32 85 190 \ ’
VQGGT3 73 35 ‘ 100 210 : I -
VQGG80 80 40 100 220 ‘ s 1
Smax B
VQGG8S 88 40 ‘ 125 250 ! ]
T L
\
e —— VQGG125 125 50 ‘ 160 300 | - 2036
VQGG125A 125 50 210 350 | VX631 63 32 92.36 85 175
VOEEED ED <0 ‘ 8 aB : VX731 73 35 104 100 190 100
\ VX801 80 40 17 100 200
| 5 0~45°
. . . ‘ VX881 88 40 122 125 235
B Vice - Precision toolmakers vises ‘ VX001 100 - 13408 125 i
: VX1251 125 50 144.08 160 285 200
| VX1501 150 50 150.9 200 330 200 10
\
Model No B(mm) H(mm) Smax(mm) L(mm) Wt(kg) !
------ | . . ' _
VOKGZ5 915 654 . | M Vice - Precision universal vises
VQKG36 ‘ 36 20 ‘ ) 100 ‘ 12 — \
VQKG38 38 20 44 105 13 :[ l Q2 :
VQKG50 ‘ 50 25 ‘ 65 140 ‘ 20 — \
VQKG63 63 2 85 175 30 L B :
VQKG73 ‘ 73 35 ‘ 100 190 ‘ 41 \
VQKG80 80 2 100 200 55 Model No. :
VQKGB88 ‘ 88 40 ‘ 125 235 ‘ 7.3 VQKG150 150 50 200 330 215 | Jaw Width B(mm) Jaw Depth H(mm) Max. Opening(mm)
VQKG100 100 45 125 245 10.0 VQKG150A 150 50 250 380 230 ! VU70 70 30 85
\
VQKG125 ‘ 125 50 ‘ 160 285 ‘ 18.0 VQKG150B 150 50 300 430 24.0 | VU120 120 40 155
\
\
\
\
\
|
95 www.dIbluestar.com M E-mail: info@dIbluestar.com ({) TEL: +86-411-3975 3089 for Customer Service : N E-mail: info@dlbluestar.com () TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com
1
\



mluestar @ Machine tool accessory

=
w
7
M Vice - Precision modular vises B Vice - Single large opening & double opening &
(&)
3
Specifications Main attachment of modular vises Single large opening =
[ Produced of high quality steel, carburized to surface hardness:HRC58-62 [J A piece of box wrench s1
[ Parallelism 0.005mm/100mm, squareness 0.005mm [ A piece of T-wrench m o x
[ Locate position by pilot pin, adjust pin on body according to openning size, then clamp quickly [ Four piece of vise holding : ! 2
O 1t is widely used on machining center and other precision machine tools [ Work stop with main bolt I T @
[J Swival base is optional [ Positioning key-nuts (a set include two pieces) e
M o
- o =)
;;b:):; - |[0980000566606060 @ =
2 ole o0 S
| Ll ui
2=
=
S
S2 5
[ — =
Cm ) =
o =
i
L L -

S

=

-~ =

. 0.0 . <]

o X K © T

. 0'0 + | é

V100-1 100 30 100 270 3000 V200B-I 200 65 300 595 10000 4}

L

V125-1 ‘ 125 40 150 345 3000 V200C-1 200 65 400 695 10000 i piliy %’

VI50A-I 150 50 200 420 5000 V200D-1 200 65 500 795 10000 V83100 | 200 ZQ83100(1) 2x90 100 30 460 Model No. | S1{mm) stz s2 B{mm) H(mm) L{mm)

V150B-1 ‘ 150 50 300 520 5000 \/200E-1 200 65 600 895 10000 V83125 320 ZQ83125(1) 2x100 125 40 520 V83175C 700 ZQ83175C(1) 2x270 175 60 966 =

V150C-1 150 50 400 620 5000 \300A-I 300 80 200 535 12000 V83150 360 7Q83150(1) 2x110 150 50 580 V83200 500 ZQ83200(1) 2x150 200 65 805 %

VAT5A ‘ 175 60 200 455 6000 /300B-1 300 80 300 635 12000 VB3150A 460  ZQ83150A(I) 2160 150 50 680 VB3200A 600 | ZQ83200A(I) | 2x200 200 65 905 g

\V175B-1 175 60 300 555 6000 \/300C-1 300 80 400 735 12000 V83175 400 7Q83175(1) 2x120 175 60 666 V832008 700 ZQ832008(1) 2x250 200 65 1005 %

\V175C-1 ‘ 175 60 400 655 6000 \V300D-1 300 80 500 835 12000 V83175A 500 ZQB83175A(1) 2x170 175 60 766 V83200C 800 ZQ83200C(1) 2x300 200 65 1105 é

V175D-1 175 60 500 755 6000 V300E-1 300 80 600 935 12000 V831758 600  ZQS3175B() = 2x220 175 60 866 V832000 900  ZQ83200D(l)  2x350 200 65 1205 §
V175E-1 ‘ 175 60 600 855 6000 V300F-I 300 80 700 1035 12000
V200A-1 200 65 200 495 10000 V300G-1 300 80 800 1135 12000

M Vice - Module elements

B Vice - Quick action precision modular vises Movable jaw section Fixed jaw section Double fixed Jaw Secition

_ Smax__ Specifications
o 5 :: &W [J Swivel base is optional
[ WY
- L - Model No. m Clamping force(kg)
: V125-111 125 40 150 345 3000
o0 ! V150A-11I 150 ‘ 50 200 420 ‘ 5000
bl _1 V1508-11I 150 50 300 520 5000
: 0 x— V75C-IIl 175 ‘ 60 400 655 ‘ 6000

M Vice - Swivel base

e
D
|

]
m!
1

Model No. Clamping force(kg)

V100-08 180 20 435 75 V100-1 Model No. L(mm) B(mm) H(mm) Model No. L(mm) Model No. L(mm) B(mm) H(mm)
V125-08 226 23 ‘ 47 95 V125-1 V125-11 VZQ84100-I 140 100 30 VZQ84100-11 140 100 30 VZQ84100-111 140 100 30
V150-08 290 28 58 125 V150A(B,C)-1 V150A(B)-111 VZQ84125-1 160 125 40 VZQ84125-11 160 125 40 VZQ84125-111 160 125 40
V175-08 320 28 ‘ 58 145 V175A(B,C,D,E)-1 V175C-1l1 VZQ84150- 230 150 50 VZQ84150-11 230 150 50 VZQ84150-111 230 150 50
\V200-08 370 34 74 170 V200A(B,C,D,E)-1 \VZQ84175-1 240 175 60 VZQ84175-11 240 175 60 VZQ84175-111 240 175 60
V300-08 400 38 ‘ 78 195 V300A(B,C,D,E,F.G)-I VZQ84200-I 300 200 65 VZQ84200-11 300 200 65 VZQ84200-111 300 200 65

M E-mail: info@dlIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com




mluestar

@ Machine tool accessory

M Vice - Multiflex series vises

TOOLING SYSTEM

|
|
|
|
|
|
|
|
|
! >
| High precision vises for 2 workpiece g
| H<0.005 H1<0.005 %
| H2<0.005  H3<0.005 uo.l
‘ o
<
‘ g
N | =
| =
oc
B | S
=
B ‘ S
unit:mm I High precision vises for 3 to 5 workpiece 13
! H<0.008  HI1<0.008 =
Max opening according to pieces to be clamped | H2<0.008  H3<0.008 =
Model No. L w 3 | =
|
300 208 75 30 8 | o
| =
400 308 125 64 33 | 3
VF50 500 50 49 38 55-58 25 408 175 96 58 | g
600 508 25 129 83 ‘ s
| q . . =
Maximum Jaw Opening Capacity
700 100 16 608 275 162 108 | Model No. Model No. Model o3
L
400 275 100 41 12 ! g
|
500 375 150 75 37 | C021010 LV-758 75 115 160 200 C021310 LV-1508 160 220 315 380
TS e 75 74 0 TS 40 e p— — & ‘ 021110 LV-100S 110 152 218 208 C021410 | LV-150XS 190 ‘ 258 330 ‘ 399 -
| juw]
700 575 250 141 87 | C021210 LV-1308 120 165 247 305 C021510 LV-2008 218 276 389 470 E
800 675 300 174 102 | g
| w
‘ . . L 5
‘ M Vice - CNC series machine vise z
X~
. . . . . | oc
B Vice - High-precision anglock machine vice | S
| = MTAAR LS
|
Each poundof | Wit o Jaw(mm) | Heigh of saw()
force horizontally I VC100 100 48 125 430
induces 1/2 pound | m
of force vertically. | vciso 130 55 240 495
I VCI160 160 58 240 585
|
| VC200 200 63 280 670
|
|
Accurately: The accuracy is £0.005m/m. |
Each of part made of selected special alloy steel, |
hardened and precision ground. |
|
|
f’ﬁ : V53100 100 485 125 532 2500
B | V53130 130 53 180 580 3500
| |
— Of wl<| 1+ V53160 160 63 240 680 5500
:I |—| + ! 1 |
=1 ﬁm \ V53200 200 6 280 ) 5500
rfftn : Sz
[ B |
—F—n F |
F |
|
|
|
|
C011010 LV-75 3" 78 2-61/64" 75 63/64" 25 3-5/32" 80 4-1/4" 108 10-15/32" 266 6-7/64" 155 1-3/16" 30 12 |
Co11110 LV-100 4" 105 ‘ 4-5/6" 110 1-9/64" 29 3-37/64" 91 ‘ 6-3/16" 157 12-3/4" 234 9-7/32" 234 1-29/64" 37 ‘ 27 |
C011210 LV-130 5" 126 4-3/4" 120 1-12" 40 4-1/16" 103 7-1/64" 178 14-5/16" 363 9-3/4" 248 1-1/2" 38 32 :
C011310 LV-150 6" 150 ‘ 5-9/16" 160 1-7/8" 48 4-27/32" 123 ‘ 8-11/32" 212 16-21/32" 423 12-1/4" 310 1-1/2" 38 ‘ 48 | Width of Jaw(mm) Height of Jaw(mm) Max. Opening(mm) G.W./N.W.
C011410 LV-150X 6" 150 7-1/2" 190 1-7/8" 48 4-27/32" 123 8-1/2" 215 17" 432 12-1/4" 310 1-1/2" 38 56 ! VQW 100 105 40 105 31/26
|
C011510 LV-200 8" 206 ‘ 8-5/8" 218 2-23/64" 60 5-45/64" 145 ‘ 10-3/4" 273 21-5/8" 550 14-3/8" 366 1-49/64" 45 ‘ 93 | VQW 125 125 40 125 35/30
|
|
|
|
|
I
www.dIbluestar.com M E-mail: info@dIbluestar.com ({) TEL: +86-411-3975 3089 for Customer Service : N E-mail: info@dlbluestar.com () TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 100
[
|



mluestar

@ Machine tool accessory

M Vice - Hydraulic machine vise M Vice - Precision milling machine vice M Vice - 2-piece quick clamp milling vises

=
]
=
w
>
w
S
=
=
o
o
=

MILLING, LATHE, GRINDING ACCESSORY

With Swivel Base Swivel Base Model No Width of Jaw Height of Jaw Max. Openin| Height
VQH100G 100 40 100 124 VF-6 6.3"/160 2.76"170 2.2"/56 %
5 =
i — / VQH160G ‘ 60 54 150 158 VF-8 8"/204 3.35"/85 ‘ 2.48"/63 <_3'
A =
X
o]
olr 877 :
- - 1 =
Y O A . . . . S . . =
( et M Vice - Free machine vises B Vice - Tilting machine vice w
' >
With lock down jaw
=
w
i Model No. Jaw Width(A) Jaw Depth(a) Jaw Openning (c) Clamping Force E
=)
H I: l VHP-4V 100/4" 36/1.42" 170/6.7" 2600kg/5720ibs 8
* i VHP-5V 125/5" 46/1.81" 220/8.66" 3500kg/7700ibs é
< VHP-6V 155/6" 53.5/2.1" 305/12" 4600kg/10120ibs ¥ %
VHP-8V 200/8" 62/2.44" 305/12" 7200kg/15840ibs g
M Vice - Electrode holder B Vice - Milling machine vice

Model No. Jaw Width(mm) Jaw Height(mm) Model No. Width of Jaw(mm) Height of Jaw(mm) | Max. Opening(mm)
75

V3414 VFT75 140x350 75%67x150 VQHK41100 100 4 80
L Precision ground and hardened to HRC58-62 VF100 100 180450 100%90x200 VQHK41125 125 45 ‘ 95 ‘
[ Parallelism 0.005mm/100mm
£ Squareness 0.005mm VF125 125 250x550 125%120%250 VQHKA41160 160 50 125
M Vice - Planing machine vice ' B Vice - Accu-lock machine vice
- —
"
T L '3 —
el
: I
L == E:t ol : , : . , :
| T odel No. Width of Jaw(mm) Height of Jaw(mm) | Max. Opening(mm) Model No. Width of Jaw(mm) Height of Jaw(mm) | Max. Opening(mm)
VQH1280 80 32 63 VQB13136 135 36 170 Model No. Height of Jaw(mm)
l VQH12100 100 ‘ 35 80 VQB13160 160 52 180 VQM16100 100 32 100
i VQH12125 125 40 100 VQB13200 200 64 220 VQM16125 125 40 ‘ 125 ‘
M VQH12160 160 ‘ 52 125 VQB13250 250 64 280 VQM16160 160 45 150
20}
VQH12200 200 63 160 VQB13320 320 81 360 VQM16200 200 50 ‘ 190 ‘
101 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 102




mluestar @ Machine tool accessory

B Vice - Accu-lock precision machine vice M Vice - Double-action accu-lock machine vice B Vice - Offset bench vise

=
]
=
w
>
w
S
=
=
o
o
=

Width of Jaw(mm) Height of Jaw(mm) | Max. Opening(mm) Width of Jaw(mm) Height of Jaw(mm) | Max. Opening(mm)

MILLING, LATHE, GRINDING ACCESSORY

VQM16100N V93100 100 37 76
V8131 20/18 60-75 Model No. | Specifi W./N.W. Openning(mm) Clamping Force(kgs)
V8132 4" 21.5/19 80-100 1000 V1061 4" 125/11.5 100-125 2000
. . . . . opas V8133 5" 30/28 100-125 1600 V1062 5 21.5/19.6 125-150 2500 =
M Vice - Sine machine vice B Vice - Tilting clamp 5
V8134 6" 40/38 125-150 1800 V1063 6" 26/24.8 150-175 3000 =
2
oc
S
=
. . . . . o3
M Vice - Fixed bench vise with anvil (heavy duty) w
=
[ Precision casting body with powder coating finish =
[ Replaceable jaws =
[J 120 degree swivel base is optional %
[ Large anvil is optional g
S
=
wn
==
oc
o
=
VS100 VD75
V83105 5" 125 125 72 109x105 1 18/17
V83106 6" 150 ‘ 150 84 128x125 1 28/26
. . . . . . . V83108 8" 200 200 102 150x150 1 43/42
B Vice - American type drill press vise M Vice - K-type machine vise
V83110 10" 250 ‘ 225 107 160x160 1 54/48

M Vice - Swivel bench vise with anvil (medium duty)

[ Precision casting body with powder coating finish
[J Replaceable jaws

[ 120 degree swivel base is optional

[ Large anvil is optional

Wldth ofJaw ght of Jaw f Throa
-

V3002 2-1/2" m Model No. i Jaw Width Jaw Openning Throat Depth i Weight/CTN (kg)

V3003 3" 78 78 19 VK100 75 V8904 4" 100 75 54 68%70 4 30/28

V3004 4" 100 110 26 VK125 ‘ 125 340 130 99 V8905 5" 125 ‘ 100 65 90x90 2 28/26

V3005 5" 125 128 26 VK150 150 421 160 105 V8906 6" 150 125 77 110x110 1 18/17

V3006 6" 150 150 26 VK200 ‘ 200 576 215 144 V8908 8" 200 ‘ 175 95 150x140 1 36/35
www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 104

|
|
\
|
|
|
\
|
|
\
\
|
|
\
|
|
|
\
|
|
\
\
|
|
\
|
|
|
\
|
|
\
\
|
|
\
|
|
|
\
|
|
\
\
|
|
\
Model No. Wldth of Jaw ht of Jaw Max. Op |
|
75 45 100 0-90° 213215 | V83103 65x66 32/30
VS160 160 52 180 186 VD100 100 52 180 ‘ 0-90° 85/7.8 \ V83104 4 100 ‘ 100 61 86x85 4 42/40
|
\
\
|
|
\
|
|
|
\
|
|
\
\
|
|
\
|
|
|
\
|
|
\
\
|
|
\
|
|
\
\
|
|
\
\
|
|
\
|
|



mluestar

@ Machine tool accessory

=

=

. e . . . . . . . csiduirmd 2

B Vice - Utility bench vise(light duty) B Clamping kit - 58-PC clamping kit with metal holder &
2

=

[J Precision casting body with powder coating finish [J Replaceable jaws with microgroove tooth space  [J 120 degree swivel base is optional Each set contains =

[J 6-T-Solt nuts [J 4-Coupling nuts [J 12-Step blocks
Jaw Openning | Throat Depth |  Anvil Size QTY/CTN Weight/CTN (kg) [J 6-Flange nuts [J 6-Step clamps e =
[ 24 Studs:4 of each=3",4",5",6",7",8"length/76,102,127,152,178&203mm B Spanner & Tee-slot cleaner is free =
V0803 63.5 50%60 6 23.5/21.5 g %
V0804 4" 100 ‘ 75 50 63%86 4 24/22 q . . . L
Talbe T-slot Stud Size Talbe T-slot Stud Size Talbe T-slot Stud Size Talbe T-slot Stud Size O
V0805 5 125 100 60 80x80 5 20/18.5 fzalell e Size(inch) (inch) (fertall e Size(inch) (inch) (feetell e Size(mm) (mm) RICERIEE Size(mm) (mm) 2
(&}
V0806 6" 150 ‘ 125 68 90%90 1 14.5/13.5 CK-0101 3/8 5/16-18 CK-0106 5/8 1/2-13 CK-0201 10 M8x1.25 CK-0206 16 M14x2 %
=
V0808 8" 200 175 88 120x120 1 27126 CK-0102 7/16 3/8-16 CK-0107 11/16 1/2-13 CK-0202 12 M10x1.25 CK-0207 18 MI14x2 g
CK-0103 12 3/8-16 CK-0108 11/16 5/8-11 CK-0203 12 MI10x1.5 CK-0208 18 M16x2 w
CK-0104 9/16 3/8-16 CK-0109 3/4 5/8-11 CK-0204 14 MI12x1.75 CK-0209 20 M18x2.5 E
M Vice - American bench vise (heavy duty) CK-0105 9/16 12-13 CK-0110 13/16 5/8-11 CK-0205 16 MI21.75 | CK-0210 2 M20x2.5 o]
=
=

[ Precision casting body with powder coating finish [ High quality steel plate for beam . . . . . .

[J Replaceable jaws [ Bult-in pipe jaws [ Light duty is optional u Clamplng klt - 2-PC ba" j°|nt U'Clamplng klt 5]
=
|

Jaw Width | Jaw Openning Weight/CTN (ke) [ The clamping height is adjustable. With brass plate under the clamp arm for protecting the working material form damage. Z

V3040D 72x70 ©10-75.5 26/24.5 By using spherical nut,it will be assured to clamp the material tightly. The clamp arm is casting. =
V3050D 5" 125 140 95 78x78 ‘ ®10-75.5 1 17/16 E
V3060D 6" 150 178 107 90x100 ©17-88.5 1 27/25 Talbe T-slot i Talbe Tslot | Stud Size &
* Model No. L(mm) Size(US) Stud Size(US) St (i g
V3080D 8" 200 200 115 95x100 ‘ D17-88.5 1 31/29.5

CK-40B 37 125 1/2-13 .
’ ; —
CK-50B 47 150 11/16 5/8-11 10.5 Ml16 E
=
. . . CK-60B 57 200 13/16 3/4-10 14.5 Mi8 o
M Vice - Cross slide vises /_/ 3
w
o
2
N . . e . . &
B Clamping kit - 2-PC ball joint u-clamping kit <
S
=

[J The clamping height is adjustable. With brass plate under the clamp arm for protecting the working material form damage.
By using spherical nut,it will be assured to clamp the material tightly. The clamp arm is casting.

)

Light duty
v 0| spat | oo opevinion)| s g o s e mes | s
vIi71 4 8.5/7.5 100 30%26x17 Main body
V1172 5" 13.5/12.5 125 Carton 32x28x15 § T X\ CK-40 9/16 1/2-13 13.7 Mi2
; Brass CK-50 47 150 11/16 5/8-11 17.7 Ml6
nut plate
=2 CK-60 57 200 13/16 3/4-10 19.7 M18

V1173 6" 17/16 150 33x29x18 /
Heavy duty

Width of | Height of

Model No. Lengthwise | Crosswise

Jaw(mm) | Jaw(mm)

B Clamping kit - 50-PC clamping kit with wood holder

VeTs 80 30 65 70 65 6.5/6 Width of Height of Cross Max I?acking Rotate
VC100 102 35 9 0 30 10.5/9.5 Jaw(mm) Jaw(mm) Running Size(mm) Angle Each set contains
Talbe T-slot Size(US) Stud Size(US) | Talbe T-slot Size(mm) | Stud Size(mm)
VCI125 125 41 115 95 95 14.5/13.5 VRI100 102 90 80 12/115 | 27x27%18 360° 1 6-T-Solt nuts O 6-Step clamps
CK-0301 3/8 5/16-18 9.7 M8x1.25
VCI150 152 42 135 100 100 17.5/16.5 VRI25 125 115 95 16.5/16  29x29x19  360° L] 4-Flange nuts L1 6-Step blocks
; —31. 4", 5", 6. 7M. 8" CK-0302 7116 3/8-16 117 M10x1.5
V(200 203 47 165 130 130 26/25 VRI50 150 135 100 20195 32x32x20 | 360° L} 4-Coupling nuts [ 24 Studs 4 ea.=3"> 4. 5"v 6" 7" 8"length
CK-0303 12 3/8-16 13.7 MI10x1.5
CK-0304 916 3/8-16 13.7 MI2x1.75
. . . CK-0305 916 1/2-13 15.7 MI12x1.75
B Vice - Casting steel anvil
CK-0306 5/8 1/2-13 15.7 M14x2
CK-0307 11/16 1/2-13 17.7 M14x2
V1191 109/R 21/20 V1196 115/R 52/50 CK-0309 3/4 5/8-11 19.7 MI16x2
V1192 110/R 11/10 V1197 116/R ‘ 62/60 CK-0310 13/16 5/8-11 19.7 MI18x2.5
V1193 2R 21/20 V1198 17/R 72/70 CK-0311 13/16 3/4-10 217 M18x2.5
V1194 113/R 31/30 V1199 118/R ‘ 83/80 CK-0312 /8 3/4-10 217 M20x2.5
V1195 114/R 41/40 V1200 119/R 103/100 CK-0313 1 3/4-10 237 M20%2.5
105 www.dlbluestar.com M E-mail: info@dlIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dlbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 106




Blueé aLr CLAMPING KIT CLAMPING KIT @ Machine tool accessory

\
! =
| w
=
w
. . . . . ‘ .
B Clamping kit - 38-PC clamping kit with wood holder ‘ B Clamping nut - T-Slot nut &
w 2
—
‘ 3
Each set contains \ [0 Material 1C45¢ =
[J 6-T-Solt nuts 1 4-Coupling nuts I [ Heat treatment HRC 30-40
[ 4-Flange nuts [J 24 Studs 4 ea.=3"+ 4"+ 5", 6"+ 7"+ 8"length : =
=)
| . A
‘ unit:inch i
(5]
S
‘ CK-N1901 5/16-18 =
\ =
\ CK-N1902 3/8-16 7116 172 7132 11/16 718 =
S
: CK-N1903 3/8-16 12 172 9/32 718 718 i
E=
\ CK-N1904 3/8-16 9/16 5/8 11/32 7I8 1-1/8 =
N —
: CK-N1905 1/2-13 9/16 5/8 11/32 718 1-1/8 unit:mm =
=
CK-0501 5/16-18 M8x1.25 ‘ CK-N1907 1/2-13 11/16 3/4 716 1-1/8 1-1/4 CK-N2001 =
\
CK-0502 7116 3/8-16 1.7 M10x15 ‘ CK-N1908 5/8-11 11/16 3/4 7116 1-1/8 1-1/4 CK-N2002 M10 1.7 14 8 21 22 -
CK-0503 12 3/8-16 137 M10x15 ! CK-N1909 5/8-11 3/4 3/4 15/32 1-1/4 1-1/4 CK-N2003 M12 13.7 16 8 22 27 =
| =]
CK-0504 9/16 3/8-16 137 M12x1.75 | CK-N1910 5/8-11 13/16 1 9/16 1-1/4 1-1/2 CK-N2004 M14 15.7 18 85 25 28 =}
==
CK-0505 9/16 1/2-13 157 M12x1.75 \ CK-N1911 3/4-10 13/16 1 9/16 1-1/4 1172 CK-N2005 M16 17.7 20 10 28 30 =
CK-0506 5/8 1/2-13 15.7 M14x2 : CK-N1912 3/4-10 78 1 9/16 1-1/2 1-1/2 CK-N2006 M18 19.7 24 105 32 32 E
CK-0507 11/16 1/2-13 177 M14x2 \ CK-N1913 3/4-10 1 1 5/8 1-5/8 1-3/4 CK-N2007 M20 217 28 13 36 36 &
>
CK-0508 11/16 5/8-11 177 M16x2 : CK-N1914 3/4-10 1-1/16 1-1/8 11/16 1-5/8 2 CK-N2008 M22 237 32 15 40 40
CK-0509 3/4 5/8-11 19.7 M16x2 ‘ CK-N1915 7/8-9 1 1 5/8 1-5/8 1-3/4 CK-N2009 M24 217 36 16 44 44 =
=
CK-0510 13/16 5/8-11 19.7 M18x2.5 ‘ CK-N1916 1-8 1-1/16 1-1/8 11/16 1-5/8 2 CK-N2010 M6 6.8 95 45 14 15 =
\ [
‘ 3
| w
‘ S
- - Ty - . . H T
B Clamping kit - 18-PC large specification clamping kit ‘ B Clamping nut - Flange nut 5
\ S
! =
Each set contains : U Material IC45e unit:mm
; [J Heat treatment HRC 30-40 _
[J 4-T-Solt nuts [J 2-Jacking tubes | S z 2 z
[J 4-Flange nuts [ 2-U-clamps | R .
[ 2-Coupling nuts [ 4-Studs | A unit:inch CK-N2201 M8 13 19 14 3
i EOCTENEEENEE oo o v 2 0
| !
. CK-N2101  5/16-18 916 | 3/32 CK-N2203 =~ M12 19 26 19 35
Material IC45e \ D c
[ Heat treatment HRC 30-40 ‘ | CK-N2102  3/8-16 = 1/2 78 | 1116 18 CK-N2204  M14 22 28 22 35
‘ ' CK-N2103  1/2-13 1116 118  7/8 | 5/32 CK-N2205 = M16 24 31 24 4
\
‘ CK-N2104 5/8-11  13/16 1-3/8 1-1/16 3/16 CK-N2206  M18 27 35 27 4
\ . CK-N2105 = 3/4-10 1 1568 | 114 U4 CK-N2207 = M20 30 40 30 5
\
‘ B | CK-N2106  7/8-9 = 1-18  1-3/4 1716  1/4 CK-N2208  M22 33 45 32 6
J E
\ f CK-N2107 18 114 2 158 14 CK-N2209 = M24 36 50 36 6
\
CK-1101 11/16 5/8-11 17.7-19.7 M16-18 ‘ . .
‘ B Clamping nut - Coupling nut
CK-1102 11/16 5/8-11 17.7-19.7 M16-18 50 50 200 18
\
CK-1103 11/16 5/8-11 17.7-19.7 M16-18 40 50 250 18 |
CK-1104 13/16 3/4-10 21.7-237 M20-22 40 50 200 22 ! unit:mm
| ‘
K105 1316 310 27237 V2022 P @ 250 2 | n-
CK-1106 13/16 3/4-10 21.7-237 M20-22 40 60 300 22 \ B unit:inch CK-N2201
\
CK-1107 1 7/8-9 217 M24 40 65 200 26 | Thread A B c CK-N2202 M10 17 22
CK-1108 1 7/8-9 217 M24 40 65 250 26 \ ! CK-N2301 5/16-18 718 9/16 CK-N2203 M12 19 26
CK-1109 1 7/8-9 217 M24 40 65 315 26 : CK-N2302 3/8-16 1 11/16 CK-N2204 M14 22 28
CK-1110 13/8 11/8-11 337 M30 50 75 250 34 \ g CK-N2303 1/2-13 1-1/4 718 CK-N2205 M16 24 31
CK-1111 13/8 11/8-11 337 M30 50 75 315 34 : & CK-N2304 5/8-11 1-5/8 1-1/16 CK-N2206 M18 27 35
CK-1112 13/8 11/8-11 33.7 M30 50 75 400 34 ‘ CK-N2305 3/4-10 1-7/8 1-1/4 CK-N2207 M20 30 40
CK-1113 19/16 13/8-6 39.7 M36 60 100 400 40 ‘ CK-N2306 7/8-9 2-1/4 1-7/16 CK-N2208 M22 33 45
\
CK-1114 19/16 13/8-6 39.7 M36 60 100 600 40 ‘ iicadCize CK-N2307 18 2-12 1-5/8 CK-N2209 M24 36 50
\
\
\
\
\
I
107 www.dlbluestar.com M E-mail: info@dlIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service : M E-mail: info@dlIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 108
\
\



mluestar

B Magnetic tools - Maganetic parts tray

P7003
dia 148mm/6" ,depth 25mm/1"
tough stainless steel (430/2B 0.4mm)

dia:80mm(3-1/4")x1pc,1000-1200 gauss

B Magnetic tools - Pick up tool with claw

[ To pick up things where you can't get it by hand
[ Overall length 24"

e %

pu-66A e —p—

puU-66 =t

Model No. Specification

PU66 Flecible but not magnetic

PU66A Flecible and magnetic ,hold up to 5Lbs
PUB6C Flecible and magnetic ,hold up to 5Lbs
PU66D with LED light,flexible and magnetic ,hold up to 5Lbs

B Magnetic tools - Inspection mirror

Telescoping inspection mirror
Inspection mirror 1"*2"
Telescopic from 7-3/4" to 21-1/2"

The material is Brass tube

MAGNETIC TOOLS

B Magnetic tools - Maganetic parts tray

P7005
dia 148mm (6"),depth 112mm(4-1/2")

diameter 80mm(3-1/4")X1pcs,1000-1200gauss

MAGNETIC TOOLS / AIR TOOLS

B Magnetic tools - Magnetic floor sweeper

[ Seven inch wheels roll easily over your shop floor or parking
lot to pick up nails, screws and metal scrap

[J Extra-wide sweep head for quick clean up

[ Ideal for carpets-even grass

[ One-pull release quickly clears debris from sweeper

[ Pull force: 30LBS-50LBS

[J Handle extends from 30" to 44-1/2"

Quick release allows Spring-loaded handle

quick and easy remdval  for quick release from

of ferrous objects 31" to 45”

Model No. Size

P8012 18 L x3"W x 4"H 456x75x101mm
P8013 24“ Lx3"W x 4"H 610x75x101mm
P8014 30" L x3"W x 4"H 762x75x101mm
P8015 36 L x3"W x 4"H 910x75%101mm

B Magnetic tools - Inspection mirror

Rectangular telescoping inspection mirror
Inspectio n mirror 2" *3-1/2"
Telescopic from "11" to "38"

The material is stainless steel

B Magnetic tools - Pick up tool

—

-

Magnetic Pick Up Tool

Telescopic magnetic Pick-Up Tool

Telescoping magnetic pick-up tool The magnetic power is 5LBS.

PU-05 15Lbs 5" -25" The magnetic power is 16LBS Telescopic from 7-1/2"to 31-1/2
PU-06 3.5 Lbs 5-1/8" - 25-1/4" | brass tube Telescopic from "7-3/8" to 30" The material is brass steel
PU-07 5.0Lbs 5-1/8" -23-3/4" The material is stainless steel With LED

@ Workshop equipment

Ml Air tools - Air drill

Description

[J Convenient one hand push button forward/reverse.
[J Non reversible air drill

O Quiet operation with rear exhaust.

[ Ball bearing construction.

[J Lock off throttle to prevent accidental start ups.

[ Variable speed throttle for easy starts.

[ Rear exhaust

[ 3/8" reversible air drill 1800 rpm

[0 Recommended air pressure 6.5KG/CM?(90 PSI)

Overall length Net weight Avg.air consumption Sug.air comp.

Model No. Free speed Air inlet(PT) Air hose(ID) (HP)

AT7101 1800 RPM 1/4" 3/8" ™ 180 24 11 3.7 106 2

Bl Air tools - Air sander

Description

[J The belt will rotate 120°and allow sanding in normally inaccessible working areas, such as internal surfaces and narrow corners.
[ Belt sander

[0 Recommended air pressure 6.5KG/CM?(90 PSI)

Overall length Sug.air comp.

Model No. Free speed Air inlet(PT) Air hose(ID) (HP)

ATT7322 (10-12)mmx330mm 16000 RPM /4" 3/8" 1.87 0.85 2

109 www.dlbluestar.com

M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

M E-mail: info@dlIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

www.dlbluestar.com

110

=
]
=
w
>
w
S
=
=
o
o
=

MILLING, LATHE, GRINDING ACCESSORY

VICE & WORKHOLDING

WORKSHOP EQUIPMENT



Blues ar AIR TOOLS

AIR TOOLS @ Workshop equipment

=
w
=
. . . . ®
Ml Air tools - Air spray guns — B Air tools - Air hammer &
| s
Q2N ' Description =
[ Positive action trigger and built-in air regulator
Contents

[0 A quality air brush for detailed work such as automtive designs,
model makers,graphic artists,etc.

[J Air brush kit(Metal)

[0 1 pc plastic air brush

1 2 pes glass jar with cover

[0 1 pc metal jar

[0 1 pc air hose, general wrench.

[0 1 pc connector

ST———
for simple power and speed control.
[J (Screened filter) air inlet to keep dirt and h - #
debris from damaging the tool. ]
[ Standard quick-change spring for speed and
ease of chisel change.
O Front exhaust.

[J AT7621:W/4 125mm chisels (hex or round) =

[0 AT7622:W/4 175mm chisels (hex or round)

MILLING, LATHE, GRINDING ACCESSORY

M Air tools - Impact wrench

Avg.Air Consumption Net Weight Sug.Air

I I T I

Blow Per Min | AirInlet (PT) | Air Hose (ID)

Chisel Shank Bore Diameter (ID)
S T T T N

S

Description AT7621 2/5" 10.2 3/4" 19.05 4500 /4" 3/8" 2.8 79.2 2.86 13 §

[ Die-cast aluminum body. AT7622 2/5" 10.2 3/4" 19.05 3500 14" 3/8" 2.3 65.1 341 1.55 2 =

[J Compact ergonomic design for increased comfort. S

[ (Screened filter) air inlet keeps dirt and debris from damaging the tool. E

[ Ideal for tire changing and general assembing work and other workshop applications. . . . L

01 172" Impact wrench M Air tools - Professional air hammer 2
[ Front exhaust

[0 Recommended air pressure 6.5KG/CM?(90 PSI) Description %

[J Alloy steel barrel & heat-treated piston, coil spring retainer. E

[ Ergonomic grip for comfort and stability. §

[ (Screened filter) air inlet to keep dirt and debris from damaging the tool. %

[ Standard quick-change spring for speed and ease of chisel change. =

Capacity bolt size MAX.torque Overall length [J Hex. or round type, 4 chisels included. é

Rloce e e AR epeet [ W/4 125mm chisels (hex or round) (handle exhaust) %’

230 310 s 178

[0 Recommended air pressure 6.5KG/CM2(90 PSI)

AT7404 12" 5/8" 16 7000 RPM
Model No. Air inlet (NPT) Air hose (ID) Sug.air comp.(HP)
AT7404 4 114 54 25 2

Model No. Blow per min | Airinlet (PT) | Air hose (ID)
p-(HP)
I/min
10.2

19.05 4500 79.2 2.86

B Air tools - Ratchet wrench
AT7624R

Description

[J Light-weight aluminum body.

[ Compact head design allows flexibility in tight area.

[0 Forward/reverse lever located behind the ratchet head for quickly change of direction.
[ It's designed for removing and instaling spark plugs and different engine parts, such as water pumper, radiators etc.
[ Front exhaust.

[ 1/2" Ratchet Wrench

[ Torque:50Ft-Lb

[0 Recommended air pressure 6.5KG/CM?(90 PSI)

Capacity bolt size MAX.torque Overall length
Model No. Square drive Free speed
.
12" 50 68 10" 254
AT7438 3/8" 3/8" 10 160 RPM 50 68 10" 254

Model No. Air inlet (NPT) Air hose (ID) _— Sug.air comp.(HP)

B Air tools - Air die grinder

Description

O Lightweight aluminum body

[ Safety lever prevents accidental starts

[ Rear exhaust

[ 1t can be used with all types of accessories for porting, weld breaking,
and smoothing sharp edges, as well as deburring, polishing, and grinding

[ 1/4" (6mm) mini die grinder

[0 Recommended air pressure 6.5KG/CM?(90 PSI)

AT7412 13 160 RPM

Avg.air consumption

Model No. Grinder cap Free speed Air inlet(PT) Air hose(ID) Sug.air comp.(HP)
AT7412 /4" 3/8"
AT7438 1/4" 3/8" 4 114 24 11 1 AT7313 1/4"(6mm) 25000 RPM 1/4" 3/8" 3 86 15
www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 112



Blues ar AIR TOOLS

HYDRAULIC TOOLS / DEBURRING TOOLS @ Workshop equipment

M Air tools - Air tools kits B Air tools - Air tools kits B Hydraulic tools - 23pcs hydraulic puller set

Model No. HPS23

=
]
=
w
>
w
S
=
=
o
o
=

Model No. AT7808

Contents
[0 1pc at7404 1/2" impact wrench
[J 10pcs impact sockets

9,10, 11, 13, 14, 17, 19, 22, 24, 27mm)
[J 1pc 5" extention bar
O 1pc oil pot
[J 1pc hex wrench
[ 1pc mini oiler

Model No. AT7800

Contents
O 1pc at7404 1/2" impact wrench
[J 1pc at7412 1/2" ratchet wrench
[J 10pcs impact sockets

9,10, 11,13, 14, 17,

19, 22, 24, 27mm)
[ 1pc oil pot
[ Ipc hex wrench

[J Separator set 7.5-10 ton capacity hydraulic ram with tommy bar.
Suitable for agricultural machines.garage and industrial use.

Contents -

[ Hydraulic ram 7.5-10ton 1pc

[J Hydraulic ram center bar 1pc

O 1x50mm ram extension 1pc - °
[J 1x100mm ram extension 1pc

O Puller arm 4" 3pcs,6" 3pcs,8" 3pcs -.

[ Triple head for puller 1pc

[J 1pc nipple
[J 1pc blow case

[ 1pc nipple
[ Ipc mini oiler [ Twin head lpc
O Grooved center nut 1pc

[J Head for puller 1pc ey

[ Ipc blow case

MILLING, LATHE, GRINDING ACCESSORY

A T N Y .

[ Pulling bolt for device with nut 2pcs h &
[ Pulling bolt extension 2pcs O]
[ 4"separator 1pc %
[J Metal box 1pc g‘
O] Weight:18kg - - g
. . . . . . =
B Air tools - Air tools kits B Air tools - Air tools kits =
. . . o
B Hydraulic tools - Hydraulic punch driver >
&
=
Contents Contents s
[ 1pc at7438 3/8" ratchet wrench [ Ipc at7622h(r) hammer 190mm =
[0 7pcs impact sockets [ 1pc mini oiler 3
(9,10,11,13,14,17,19mm) [J 1pc retaining spring <z9
[0 1pc 1/2"x3" extension bar [ 1pc nipple g
[J 1pc u-joint [J 5pes 7" chisels =

O 1pc oil pot

[ 3pcs bits

[ 1pc nipple

O 1pc adaptor
[J 1pc blow case

[ 1pc blow case

H Deburring tools

>

Model No. Blade type-A Blade Qty. Holder range

B Air tools - Air tools kits H Air tools - Air tools kits

DO011 E100 & E200 2 280-2011A

Contents

O Ipc at7313(m)1/4" (6mm)
mini die grinder

[J 2pcs hand wrenches

Contents

O 1pc at7318
micro air grinder

[J 1pc mini oiler

F r-

Model No. Blade type-A Blade Qty. Holder range Model No. Blade type-A Blade Qty. Holder range
fm D0009 | E100 & E200 D0013  ES100 & ES200

[ 10pcs grinding stones
[J 1pc nipple

O Ipc collet

[J 1pc blow case

O Ipc oil pot
[J 2pcs hand wrenches

[ Ipc female nipple
[J 10pcs mounted stones
[ Ipc blow case

— . — — _ _
-

D0001 ES100
D0002 ES200 1 -
D0004 ES150 1 - D0010 | E100 & E200 D0014  E100 & E200
113 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 114

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

| v ' . e
| R O ’
| o
|

\ e
|

|

|

|

|

|

|

|

| HeDOO!

|

| [ Punching range:®22.5-61.5mm [0 7/16"x3/4" draw stud:1pc
| in the 3.5mm mild steel [0 3/4"x3/4" draw stud:1pc
I [ Punching force:70KN [ Spacer: 1pc
‘ [ Stroke:25mm

: [J Accessories:

‘ Round knockout punches type D:

| $22.5,028.3,034.6,043.2,049.6,061.5mm
|

|

|

|

|

|

|

|

|

|

| ’

| =3
| -
\ V-

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

I

|

|

[

|



==Iﬁé§f5i’ DEBURRING TOOLS

DEBURRING TOOLS @ Workshop equipment

H Deburring tools Bl Deburring tools

=
]
=
w
>
w
S
=
=
o
o
=

DO0501 A8 1-8mm 1 280-2010EH

| D0502 Al13 3-13mm 1 280-2010EH

>
oc

=)

w

w

juw}

(5]

(]

<

S

D0503 Al6 5-16mm 1 280-2010EH =

(=]

=

e

S

./—.m £
E=

=

S "—- <
—

Model No. | Blade type | Blade range Blade Qty. Holder No. 2

=i

| D0504 N8OK N 1 280-2009K §

Model No. Blade type-B Blade Qty. Holder range Model No. Blade type-B Blade Qty. Holder range D0103 BS10 1 -
1

)

D0101 BS10 280-20038 D0102 BS10 1 - D0104 BS20 1 - =

-

D0121 BS20 1 280-20038 D0122 BS20 1 - D0105 BS30 1 - =

==

B

o

=

%]

L

o

- =

=

=

w

=

a

IxxxC 3

=

w

o

o

2

D0204 c12 1-12mm 1 280-2005C/B =

=
D0205 c-20 1-20mm 1 280-2005C/B
D0206 Cc-30 1-30mm 1 280-2005C/B

D0207 c12 1-12mm 1 N/A D6801 D6802

180-1001ES 180-1011X

ES100-1pc,ES200-1pc

D6803 D6804
190 100785 T o
BS10-10pcs,BS20-10cs ES100-5pcs,ES200-5pes

ES100-1pc,ES200-1pc,
ES300-1pc,ES150-1pc

D20 1

D0300 280-2007D
D0301 D25 1 280-2007D
D0302 D30 1 280-2007D
D0303 D40 1 280-2007D
D0304 D20 1 -
D0305 D25 1 =
D0306 D30 1 -
m D0307 D40 1 -

Model No. | Blade type-E Blade range Blade Qty. Holder No. D7803
ﬁ D0400 V3 1-3mm 1 280-2010EH D7802 480-1012X
D0401 V8 1-8mm 1 280-2010EH 180-1012X 280-2011780
D0402 Vi3 3-13mm 1 280-2010EH 280-2011780 280-2022L,280-2019E,280-20208
D0403 V16 5-16mm 1 280-2010EH 280-2022L - 4pcs V3-1pc,V8-1pc,A3-1pc,13-1pc

Model No. D7801 280-2021D - 1pc B10,820
Handle 180-1012X V3-1pc,A8-1pc,A8-1pc, C12,C20
Holder 280-2011780 (M7x1 single head) 13-1pc,D30-1pc D30
DO0404 NBOK11/24 - 2 - Wrench
115 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 116



iluestar CARBIDE BURRS

CARBIDE BURRS @ Workshop equipment

H Carbide burrs Bl Carbide burrs

TOOLING SYSTEM

|
|
|
|
|
|
|
Cylinder(shape A)/ZYA . - : ‘ Ball(shape D)/KUD
| | 1 | B
vV | " | >
: | H | oc
M X 2
! 1]
4 Standard Cut Fine Cut Alu. Cut Double Cut | &
\ 2
|
(=)
| -
(>}
A0413M03 A0413X03 A0413F03 3 : D0404M03 D0404X03 D0404F03 3 "
I
A0513M03 A0513X03 A0513F03 5 13 40 3 ‘ D0505M03 D0505X03 DO505F03 5 5 40 3 E
-
A0613M03 A0616X03 A0613F03 6 13 48 3 ‘ DOBOBMO3 DOBO6X03 DOBOBFO3 6 5 48 3 s
| =
A0616M06 A0616X06 A0616F06 A0616C06 6 16 65 6 | D0GO5MO6 DOBO5X06 DOBO5F06 D0B05C06 6 6 65 6 5
A0820M06 A0820X06 /A0820F06 A0820C06 8 20 65 6 ‘ D0807M06 D08O7X06 D0807F06 D0807C06 8 7 65 6 =
|
A1020M06 A1020X06 A1020F06 A1020C06 10 20 65 6 | D1009M06 D1009X06 D1009F06 D1009C06 10 8 65 6
S
A1225M06 A1225X06 A1225F06 A1225C06 12 25 65 6 \ D1210M06 D1210X06 D1210F06 D1210C06 12 10 65 6 =
| =
A1625M06 A1625X06 A1625F06 A2025C06 16 25 65 6 ‘ D1614M06 D1614X06 D1614F06 D1614C06 16 14 65 6 =
X
A2025M08 A2025X08 A2025F08 A2025C08 20 25 70 8 \ D2018M08 D2018X08 D2018F08 D2018C08 20 18 70 8 4
A2525M08 A2525X08 A2525F08 A2525C08 25 25 70 8 : D2524M08 D2524X08 D2524F08 D2524C08 25 24 70 8 E
L
| (&)
| =
Cylinder with end cut (shape B)/ZYAS \ Oval shape(shape E)/TRE
S : | &
¢ =
\ &
4 \ =]
| w
o
i o
| 2
B0513M03 B0513X03 B0513F03 5 13 40 3 : E0407M03 E0407X03 E0407F03 3
B0613M03 BO613X03 BO613F03 6 13 48 3 \ E0508M03 E0508X03 E0508F03 5 8 40 3
BO616M06 BO6L6X06 BO616F06 B0616C06 6 16 65 6 : E0610M03 E0610X03 E0610F03 6 10 48 3
B0820M06 B0820X06 B0820F06 B0820C06 8 20 65 6 | E0610M06 E0610X06 E0610F06 E0610C06 6 10 65 6
B1020M06 B1020X06 B1020F06 B1020C06 10 20 65 6 ! E0813M06 E0813X06 E0813F06 E0813C06 8 13 65 6
|
B1225M06 B1225X06 B1225F06 B1625C08 12 25 65 6 | E1016M06 E1016X06 E1016F06 E1016C06 10 16 65 6
B1625M06 B1625X06 B1625F06 B1225C06 16 25 65 6 ‘ E1220M06 E1220X06 E1220F06 E1220C06 12 20 65 6
|
B2025M08 B2025X08 B2025F08 B2025C08 20 25 70 8 | E1625M06 E1625X06 E1625F06 E1625C06 16 25 65 6
B2525M08 B2525X08 B2525F08 B2525C08 25 25 70 8 \ E2025M08 E2025X08 E2025F08 E2025C06 20 25 70 8
|
|
. . . | .
Cylinder with radius end(shape C)/WRC q @: | Tree shape radius end(shape F)/RBF
. poamre | |
’ - = & ‘
3 |
: |
|
|
|
|
|
C0513M03 C0513X03 C0513F03 5 13 40 3 \ F0413M03 F0413X03 F0413F03 3
|
C0613M03 C0613X03 C0613F03 C0616C06 6 13 48 3 ‘ FO513M03 FO513X03 FO513F03 5 13 40 3
C0616M06 C0616X06 COB16F06 €0820C06 6 16 65 6 \ FO613M03 FO613X03 FOB13F03 6 13 48 3
C0820M06 C0820X06 C0820F06 €1020C06 8 20 65 6 : FOB16MO6 FOBL6X06 FOB16F06 F0616C06 6 16 65 6
C1020M06 C1020X06 C1020F06 €12020C06 10 20 65 6 | F0820M06 F0820X06 FO0820F06 F0820C06 8 20 65 6
C1225M06 C1225X06 C1225F06 C1225C06 12 25 65 6 : F1020M06 F1020X06 F1020F06 F1020C06 10 20 65 6
C1625M06 C1625X06 C1625F06 C1625C06 16 25 65 6 | F1225M06 F1225X06 F1225F06 F1225C06 12 25 65 6
C2025M08 C2025X08 C2025F08 €2025C08 20 25 70 8 ! F1625M06 F1625X06 F1625F06 F1625C06 16 25 65 6
|
C2525M08 C2525X08 C2525F08 €2525C08 25 25 70 8 | F2025M08 F2025X08 F2025F08 F2025C08 20 25 70 8
|
|
|
|
|
|
117 www.dIbluestar.com N E-mail: info@dlibluestar.com () TEL: +86-411-3975 3089 for Customer Service : N E-mail: info@dlbluestar.com () TEL: +86-411-3975 3089 for Customer Service www.dIbluestar.com 118
|
|



CARBIDE BURRS CARBIDE BURRS

Blues ar @ Workshop equipment

H Carbide burrs Bl Carbide burrs

Tree Shape Pointed End (shape G)/SPG

Taper (shape M)/SKM

Model No.

Size(mm)

119 www.dlbluestar.com

M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

M E-mail: info@dlIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

www.dlbluestar.com

TOOLING SYSTEM

MILLING, LATHE, GRINDING ACCESSORY

[
[
|
|
|
[
|
[
|
|
|
[
[
[
[
[
i
M0413M03 M0413X03 MO0413F03
| MO0513M03 MO513X03 MO513F03 5 13 40 3
G0413M03 G0413X03 G0413F03 4 3 |
M0613M03 M0613X03 MO613F03 6 13 48 3
G0513M03 G0513X03 GO0513F03 5 13 40 3 !
| MO618M06 M0618X06 MO618F06 6 16 65 6
G0613M03 G0613X03 G0613F03 6 13 48 3 ‘
M0820M06 M0820X06 MO820F06 8 20 65 6
G0616M06 G0616X06 G0616F06 6 16 65 6 I
‘ M1020M06 M1020X06 M1020F06 10 20 65 6
G0820M06 G0820X06 G0820F06 8 20 65 6
! M1225M06 M1225X06 M1225F06 12 25 65 6 1}
G1020M06 G1020X06 G1020F06 10 20 65 6 I =
‘ M1625M06 M1625X06 M1625F06 16 25 65 6 =)
G1225M06 G1225X06 G1225F06 12 25 65 6 | =)
==
G1625M06 G1625X06 G1625F06 16 25 65 6 | =
! =
G2025M08 G2025X08 G2025F08 20 25 70 8 . . .
\ 5 pcs Carbide burr set 10 pcs Carbide burr set 5 pcs Carbide burr set ]
! [ 5pcs set, include the most popular used [ 10 pes set, include the most popular used [ 5 pes set, include the most popular used shapes g
| . . . .
Tirch Cylinder(shape H)/Flame shape HMB | shapes and sizes with 6mm shank shapes and sizes with 6mm shank [ Be p.referred for accurat? metal r.emoval when
| [ Be preferred for accurate metal removal when [ Be preferred for accurate metal removal when shaping,leveling or porting cast iron, —
| shaping, leveling or porting cast iron, shaping, leveling or porting cast iron, steel or other metals =
| steel or other metals. steel or other metals [ Individual can be adjusted according to requirement E
I [0 Individual can be adjusted according [ Individual can be adjusted according [0 Both ISO/DIN standard(Metric) and Amercian 2
: to requirement. to requirement standard(Inch size) products are avaliable .
| [0 Rose plastic box, protecting cutting edges. [0 Rose plastic box, protecting cutting edges =
| single Cut Single Cut Single Cut =
HO0413M03 HO413X03 H0413F03 4 3 : CSS05-10055 €SS10-1010S Metric
H0513M03 H0513X03 H0513F03 5 13 40 3 \ A1225M06 L1228MO06 C0616M06 £S505-20055
HO0613M03 HO613X03 HO613F03 6 13 48 3 : C1225M06 C1020M06 F0618MO06 A1225M06 C1225M06
HO0618M06 H0618X06 H0618F06 6 18 65 6 | D1210M06 A1225M06 G0820M06 D1210M06 F1225M06
HO0820M06 HO0820X06 HO820F06 8 20 65 6 ! F1225M06 D1210M06 C1225M06 L1228M06
[
H1025M06 H1025X06 H1025F06 10 25 65 6 | L1228M06 F1225M06 M1020M06
Inch
H1232M06 H1232X06 H1232F06 12 32 70 6 !
| 550521055
H1636M06 H1636X06 H1636F06 16 36 75 6 | oce e
SA-5SC SC-55C
H2042M08 H2042X08 H2042F08 20 42 80 8 I
[ SD-5SC SF-5SC
: SL-4SC
Taper with Ball Top(shape L)/KEL |
[
[
[
| Double Cut Double Cut Double Cut
: CSS05-1005D €SS10-1010D Metric
——— o \ A1225X06 L1228X06 C0616X06 £SS05-20055
[
L0413M03 L0413X03 L0413F03 4 3 \ D1210X06 A1225X06 G0B20X06 D1210MO06 F1225M06
I
L0513M03 L0513X03 L0513F03 5 13 40 3 | F1225X06 D1210X06 C1020X06 L1228M06
L0613M03 L0613X03 L0613F03 6 13 48 3 \ L1228X06 F1225X06 M1020X06 Inch
L0616M06 L0616X06 LO0616F06 L0616C06 6 16 65 6 ‘
[ CSS05-21058
L0822M06 L0822X06 L0822F06 L0822C06 8 22 65 6 I
| SA-5SC SC-55C
L1025M06 L1025X06 L1025F06 L1025C08 10 25 65 6
I SD-5SC SF-55C
L1228M06 L1228X06 L1228F06 L1228C06 12 28 65 6 |
SL-4SC
L1636M06 L1636X06 L1636F06 L1633C06 16 33 75 6 !
I
L2038M08 L2038X08 L2038F08 L.2038C08 20 38 80 8 ‘
I
I
I
[
|
|
I
[
1
I



mluestar

FILES / SANDING BELT @ Workshop equipment

M Files M Files

=
]
=
w
>
w
S
=
=
o
o
=

Features
[ Cut 0: extra bastard, cut 1: bastard; cut 2: second, cut 3: smooth

Handle

e 0 l l l g ' '
Flat, 1/2 round, round, square, triangular

Hand files

FO11 F012 F013 F014 F015 F016 FO17

6"/150mm | 8"/200mm | 10"/250mm  12"/300mm  14"/350mm 16"/400mm  18"/450mm

123 0123 0123 0123 0123 0123 123

MILLING, LATHE, GRINDING ACCESSORY

2
Square files =
g
Model No. F021 F022 F023 F024 F025 .

B Sanding belt e
6"/150mm 8"/200mm 10"/250mm 12"/300mm 14"/350mm o
>

1.2.3 0.123 0.123 0.123 0.123
Materials —
[ Abrasives: aluminium oxide or zirconia or silicon carbide E
[ Bond: resion over resion %
[ Cloth: X-weight, Y-weight, J-weight I
[J Applications: Sanding and polishing metallic and non-metal materials =
[ Grits:24-36-40-50-60-80-100-120-150-180-220-240-280-320-400 <z:
[0 Max width for roll: 1400mm _ &
[ Min width for roll: 13mm ! =

|
|
|
|
|
|
I
|
|
I
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
¢ ‘
Round files :

| . . .

Fo31 Fo32 Fos3 Fos4 Fo35 ‘ B Sanding belt - Velcro sanding disc

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
I
|
|
I
|

Cut No. 1.2.3 0.123 0.123 0.123 0.123

6"/150mm 8"/200mm 10"/250mm 12"/300mm 14"/350mm

Materials

[ Abrasives: aluminium oxide

[J Bond: resion over resion

[ Paper:C,D,E

[ Backed:velcro

[ Applications: It is fixed on hard rubber disc of pneumatic or electric tools.

Grinding and polishing for wood, paint and metal ]
[J Grits:40-60-80-100-120-150-180-220-240-280-320-400 {
[ Type: discs, delta, strips and mouse ‘

B Sanding belt - Fiber reinhanced rensin grinding wheel

1/2 Round files

F041 F042 F043 F044 F045
6"/150mm 8"/200mm 10"/250mm 12"/300mm 14"/350mm
123 0.123 0.123 0.123 0.123

7

GW100 100x4x16 4x4/25x5/8
GW100-2 100x6x16 4x1/4x5/8
X . GW115 115x6x22 4.5x1/4x5/8 70m/s;
Triangular files GW125 125x6x22 5x1/4x7/8 80m/s;
FO51 F052 F053 F054 F055 F056 GW150 150x6x22 6x1/4x7/8 100m/s
5'/125mm | 6"/150mm  8'200mm  10°/250mm | 12"/300mm  14"/350mm GW180 180x6x22 7x1/4x7/8
123 0123 0123 0123 0.123 0123 GW230 230x6x22 9x1/4x7I8
www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 122



mluestar

H Hoses - Industrial PU hose

B Hoses - Industrial PVC hose

Features
[ We are flexible,light weight,cold resistant,superior stress crack resistance
[ Resistant to most chemical and solvents

Specification

[J Fluid:air,water,non-corrosive oil
[ Working pressure:0-150psl/0-10kgf/cm?
[0 Working temperature:0-70 C

Color
[J Yellow,blue,
red transparent,other

PU reels
oo o o0 |
AHPU-2504 2.5mm 4mm 200m
AHPU-0406 4mm 6mm 200m
AHPU-0508 5mm 8mm 100m
AHPU-6510 6.5mm 10mm 100m
AHPU-0812 8mm 12mm 100m
AHPU-0913 Imm 13mm 100m
AHPU-1016 10mm 16mm 100m
AHPU-3/8 6.5mm 9.5mm 100m
AHPU-1/2 9.6mm 12.6mm 100m

Features
[ We are flexible,light weight,cold resistant,superior stress crack resistance

Specification

[ Fluid:air,water

[J Working pressure:0-300psl/0-20kgf/cm?
[J Working temperature:-10-70 C

Color
[ Yellow,blue,
red transparent,other

PVCreels

[ st |00 | _wowva | 1000
AHPVC-1/4 6.5x12mm AHPVC-1/2 13x20mm
AHPVC-5/16 8.5x14mm AHPVC-5/8 16x25mm
AHPVC-3/8 10x16mm AHPVC-3/4 19x28.5mm

M Hoses - Industrial rubber hose

B Hoses - Industrial PVC & rubber blended hose

Features

[ Super lightweight

[ Flexible

[J Great resistance to sunlight, weathering and ozone
[ Excellent resistance to oils, grease and solvents

[ High abrasion resistance

Applications
[ 1deal hose for air tools such as nailers and staplers
[J Indoor and outdoor construction applications
[ Spray painting applications

Specifications
[ Working temperature :
-40 °F to 150 °F (-20 °C to 70°C)

Rubber reels

Model No. 1.Dx0.D | Model No. 1.Dx0.D

AHRB-1/4 6.5x12mm AHRB-1/2 13x20mm
AHRB-5/16 8.5x14mm AHPB-5/8 16x25mm
AHRB-3/8 10x16mm AHPB-3/4 19x28.5mm

Features
[J We are flexible,cold resistant,more soft than PVC and Rubber hose

Specification

[ Fluid:air,water

[0 Working pressure:0-300psl/0-20kgf/cm?
[ Working temperature:-10-70 C

Color
[J Yellow,blue,
red transparent,other

Model No. 1.Dx0.D Model No.

1.Dx0.D

AHPR-1/4 6.5x12mm AHPR-1/2 13x20mm
AHPR-5/16 8.5x14mm AHPR-5/8 16x25mm
AHPR-3/8 10x16mm AHPR-3/4 19x28.5mm

B Punch - 3PC cold chisel set

3PC Cold chisel
[ 3/8"x5/16"x5-1/2",1/2"x7/16"x6",
5/8"x15/32"x6-1/2"

MADE IN CHINA

[ Drop forged chrome vanadium steel,
heat treated
[0 Hardened head to HRC53-60
[ Powder coating finish for increased visibility
[ Ideal for mechanician

3PC Cold chisel

] 10x8x142mm(3x8"x5x16"x5-9/16"),
13x10x152mm(1/2"x3/8"x6"),
16x13x172mm(5/8"x1/2"x6-3/4")

@ Workshop equipment

B Punch - 6PC pin punch set

6PC Pin punch
[ 3x10x150mm,4x10x150mm,5x10x150mm,
6x10x150mm,7x12x150mm,8x12x150mm

B Punch - Automatic center punch

Model No.

[J Soild brass body with hardened steel tip
[ Automatic center punch is used to create dimples or
impressions on soft metals,wood,etc,.

P300A-1:5",P300A-2:5-1/2" P300A-3:6"

B Punch - 38PC stamping tool set

[ Stamp size:1/4"x1.12"L
[ Stamp marking:A-Z,0-8,(&),(.)

[ Font length:0.2"

[ Set contents:37 stamps,automatic center punch

TR

www.dlbluestar.com

M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

M E-mail: info@dlIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service

www.dlbluestar.com 124

=
]
=
w
>
w
S
=
=
o
o
=

MILLING, LATHE, GRINDING ACCESSORY

VICE & WORKHOLDING

WORKSHOP EQUIPMENT



Bluestar CA CASTOR / HEX KEY @ Workshop equipment

Bl Castor - Light-duty wheel castor B Castor - Heavy-duty wheel castor

=
]
=
w
>
w
S
=
=
o
o
=

Specification

[J Bolt Dia: 14mm

[ Plate thickness: 12mm

[J Adjustable gap wear, forged,
dual brake, large cargo handling

Specification
[ Bolt Dia: 8.25mm [ Plate thickness: 4mm [ Rotating flexible, quiet walk, wear resistance, water-proof, anti-chemical corrosion

MILLING, LATHE, GRINDING ACCESSORY

Model No.
Wheel material Capacity(kgs) Wheel width(mm)
T e BT T .
CLO075-1A CL075-2A CLO075-3A CLO075-4A PP 75 %
-
3"/75mm CLO075-1B CL075-2B CL075-3B CLO075-4B TPU 75 %
=
cLorsic  crszc  closac  cLorsd TR 0 . . » . z
Size Wheel material Roller Capacity(kgs) Wheel width(mm) g
CLIIA  CLIOZA  CLIOGA | CLI4A pe 50 3
4"/100mm CL100-1B CL100-2B CL100-3B CL100-4B TPU Ball bearing 90 32 CH150-1A CH150-2A CH150-3A PU g
=
CL100-1C CL100-2C CL100-3C CL100-4C TPR 80 6"/150mm CH150-1B CH150-2B CH150-3B MC 1300 75
CL125-1A CL125-2A CL125-3A CL125-4A PP 100 CH150-1C CH150-2C CH150-3C Cast Iron 1300 70 —
=
5"/125mm CL125-1B CL125-2B CL125-3B CL125-4B TPU 100 CH200-1A CH200-2A CH200-3A PU 1000 75 E
o
CL125-1C CL125-2C CL125-3C CL125-4C TPR 100 8"/200mm CH200-1B CH200-2B CH200-3B MC 1400 75 =
=
CH200-1C CH200-2C CH200-3C Cast Iron 1400 70 x
Ball bearing o
CH250-1A CH250-2A CH250-3A PU 1200 75 3:3
==
1 10"/2501 - - - o
. castor - Medlum'd uty Wheel castor mm CH250-1B CH250-2B CH250-3B MC 1500 75 g
CH300-1A CH300-2A CH300-3A PU 1500 75
Specification 12"/300mm CH300-1B CH300-2B CH300-3B MC 2000 75
[J Bolt Dia: 11.2mm [J Plate thickness: 6mm [ Rotating flexible, impact resistance, wear resistance, water-proof, anti-chemical corrosion e . . F—— - p

Bl Hex key - 9pcs ball head hex key set S2 brown B Hex key - 9pcs torx ket set S2 brown

[ Metric or inch is optional [ Size: T10, T15, T20, T25, T27, T30, T40, T45, T50
[J Inch sizes: 1/16",5/64",3/32",1/8",5/32",3/16",7/32",5/16",3/8"
[J Metric sizes: 1.5mm,2.0mm,2.5mm,3.0mm,4.0mm,

5.0mm,6.0mm,8.0mm,10.0mm

ModelNo. Wheel material Capacity(kgs) Wheel width(mm) 3 Mirror black finish and mirror chrome finish is optional
CM100-1A CM100-2A CM100-3A CM100-4A TPU 280
4"/100mm CM100-1B CM100-2B CM100-3B CM100-4B PP 250
CM100-1C CM100-2C CM100-3C CM100-4C TPR 160
CM125-1A CM125-2A CM125-3A CM125-4A TPU 350
5"/125mm CM125-1B CM125-2B CM125-3B CM125-4B PP 270
CM125-1C CM125-2C CM125-3C CM125-4C TPR Ball bearing 175 5
CM150-1A CM150-2A CM150-3A CM150-4A TPU 350
6"/150mm CM150-1B CM150-2B CM150-38 CM150-4B PP 350
CM150-1C CM150-2C CM150-3C CM150-4C TPR 280
CM200-1A CM200-2A CM200-3A CM200-4A TPU 420
8"/200mm CM200-1B CM200-2B CM200-38 CM200-4B PP 420
CM200-1C CM200-2C CM200-3C CM200-4C TPR 310

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
| CH250-1C CH250-2C CH250-3C Cast Iron 1500 70
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

125 www.dlbluestar.com M4 E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service M E-mail: info@dIbluestar.com (C) TEL: +86-411-3975 3089 for Customer Service www.dlbluestar.com 126




	机床附件 封面封底 封二目录
	机床附件正文 0102
	机床附件正文 0304
	机床附件正文 0506
	机床附件正文 0708
	机床附件正文 0910
	机床附件正文 1112
	机床附件正文 1314
	机床附件正文 1516
	机床附件正文 1718
	机床附件正文 1920
	机床附件正文 2122
	机床附件正文 2324
	机床附件正文 2526
	机床附件正文 2728
	机床附件正文 2930
	机床附件正文 3132
	机床附件正文 3334
	机床附件正文 3536
	机床附件正文 3738
	机床附件正文 3940
	机床附件正文 4142
	机床附件正文 4344
	机床附件正文 4546
	机床附件正文 4748
	机床附件正文 4950
	机床附件正文 5152
	机床附件正文 5354
	机床附件正文 5556
	机床附件正文 5758
	机床附件正文 5960
	机床附件正文 6162
	机床附件正文 6364
	机床附件正文 6566
	机床附件正文 6768
	机床附件正文 6970
	机床附件正文 7172
	机床附件正文 7374
	机床附件正文 7576
	机床附件正文 7778
	机床附件正文 7980
	机床附件正文 8182
	机床附件正文 8384
	机床附件正文 8586
	机床附件正文 8788
	机床附件正文 8990
	机床附件正文 9192
	机床附件正文 9394
	机床附件正文 9596
	机床附件正文 9798
	机床附件正文 99100
	机床附件正文 101102
	机床附件正文 103104
	机床附件正文 105106
	机床附件正文 107108
	机床附件正文 109110
	机床附件正文 111112
	机床附件正文 113114
	机床附件正文 115116
	机床附件正文 117118
	机床附件正文 119120
	机床附件正文 121122
	机床附件正文 123124
	机床附件正文 125126

